SDVV

=1 DAVAVAR = (AN S|\ [C




PRODUCT CATALOG

BEARING

SD




S D W BEARING PAGE/01-02

DEEP GROOVE BALL BEARING

Deep groove ball bearing is the most common type of rolling
bearings.

The basic deep groove ball bearing is composed of an outer
ring, an inner ring, a group of steel balls and a group of retaining
structures. There are two types of deep groove ball bearings:
single row and double row. The deep groove ball structure is also
divided into sealed and open structures. Open type means that
the bearing does not have a sealed structure, and the sealed
deep groove ball is divided into dust seal and oil seal. The materi—
al of the dust-proof sealing cover is steel plate stamping, which
only plays a simple role in preventing dust from entering the
bearing raceway. The oil proof type is a contact oil seal, which
can effectively prevent the grease in the bearing from overflow—
ing.

The type code of single row deep groove ball bearing is 6, and
the code of double row deep groove ball bearing is 4. With simple
structure and convenient use, it is the most popular and widely

used bearing.

OEEP LGROOVE
BALL BEARING



S DW BEARG

iR SR K G 75

Deep groove ball bearing

—g—

Ad.

iR TR K 7

Deep groove ball bearing

PAGE/03-04

dd

ar
8 2 ; B
6000 2RS 10 26 8 0.3 0.3 0.019
6200 ZZ 10 30 9 0.6 0.6 0.032
6200 2RS 10 30 9 0.6 0.6 0.032
6300 ZZ 10 35 11 0.6 0.6 0.053
6300 2RS 20 35 11 0.6 0.6 0.053
6001 ZZ 12 28 8 0.3 0.3 0.022
6001 2RS 12 28 8 0.3 0.3 0.022
6201 ZZ 12 32 10 0.6 0.6 0.037
6201 2RS 12 32 10 0.6 0.6 0.037
6301 ZZ 12 37 12 1 1 0.060
6301 2RS 12 37 12 1 1 0.060
6002 ZZ 15 32 9 0.3 0.3 0.030
6002 2RS 15 32 9 0.3 0.3 0.036
6202 ZZ 15 35 11 0.6 0.6 0.045
6202 2RS 15 35 11 0.6 0.6 0.045
6302 ZZ 15 42 13 1 1 0.082
6302 2RS 15 42 13 1 1 0.082
6003 Z2Z 17 35 10 0.3 0.3 0.039
6003 2RS 17 35 10 0.3 0.3 0.039
6203 ZZ 17 40 12 0.6 0.6 0.065
6203 2RS 17 40 10 0.6 0.6 0.065
63038 ZZ 17 47 14 1 1 0.115
6303 2RS 17 47 14 1 1 0.115
6004 Z2Z 20 42 12 0.6 0.6 0.069
6004 2RS 20 42 12 0.6 0.6 0.069
6204 ZZ 20 47 14 1 1 0.108
6204 2RS 20 47 14 1 1 0.106
6304 ZZ 20 52 15 1.1 1.1 0.144
6304 2RS 20 52 15 1.1 1.1 0.144
6005 ZZ 25 47 12 0.6 0.6 0.080
6005 2RS 25 47 12 0.6 0.6 0.080
6205 ZZ 25 52 15 1 1 0.128
6205 2RS 25 52 15 1 1 0.128
6305 ZZ 25 62 17 1.1 1.1 0.232
6305 2RS 25 62 17 1.1 1.1 0.232
6006 ZZ 30 55 13 1 1 0.116
6006 2RS 30 55 13 1 1 0.116
6206 22 30 62 16 1 1 0.199
6206 2RS 30 62 16 1 1 0.199
6306 ZZ 30 72 19 1.1 1.1 0.346
6306 2RS 30 72 19 1.1 1.1 0.346
6007 Z2Z 35 62 14 1 1 0.155
6007 2RS 35 62 14 1 1 0.155
6207 ZZ 35 72 17 1.1 L5 0.288
6207 2RS 35 72 17 1.1 1 0.288
6307 ZZ 35 80 21 1.5 1.5 0.457
6307 2RS 35 80 21 1.5 1.5 0.457
6008 ZZ 40 68 15 1 1 0.192
6008 2RS 40 68 15 1 1 0.192

6208 ZZ 80 ; : .

6208 2RS 40 80 18 1.1 11 0.366
6308 ZZ 40 90 23 1.5 1.5 0.633
6308 2RS 40 90 23 1.5 15 0.633
6009 ZZ 45 75 16 1 1 0.245
6009 2RS 45 75 16 1 1 0.245
6209 ZZ 45 85 19 1.1 1.1 0.407
6209 2RS 45 85 19 1.1 1.1 0.407
6209 2RS/C4 45 85 19 14 1.1 0.428
6309 27 45 100 25 1.5 15 0.833
6309 2RS 45 100 25 1.5 1.5 0.833
6010 Z2Z 50 80 19 1 1 0.261
6010 2RS 50 80 19 1 1 0.261
6210 ZZ 50 20 20 1.1 1.1 0.463
6210 2RS 50 90 20 1.1 1.1 0.463
6310 22 50 110 27 2 2 1.070
6310 2RS 50 110 27 2 2 1.070
6011 ZZ 55 90 18 1.1 1.1 0.385
6011 2RS 55 960 18 1.1 1.1 0.385
6211 27 55 100 21 1.5 1.5 0.607
6211 2RS 55 100 21 1.5 1.5 0.607
631122 55 120 29 2 2 1.370
6311 2RS 55 120 29 2 2 1.370
6012 Z2Z 60 95 18 1.1 1.1 0.415
6012 2RS 60 95 18 1 1.1 0.415
6212 ZZ 60 110 22 1.5 1.5 0.783
6212 2RS 60 110 22 1.5 1.5 0.783
6312 ZZ 60 130 31 24 2.1 1.700
6312 2RS 60 130 3 24 2.1 1.700
6013 Z2Z 65 100 18 1.1 1.1 0.435
6013 2RS 65 100 18 1.1 1.1 0.435
6213 ZZ 65 120 23 1.5 1.5 0.990
6213 2RS 65 120 23 1.5 1.5 0.990
8313 Z2Z 65 140 33 2.1 21 2.080
6313 2RS 65 140 33 2.1 241 2.080
6214 22 70 125 24 1.5 1.5 1.070
6214 2RS 70 125 24 1.5 1.5 1.007
6314 ZZ 70 150 35 241 241 2.520
6314 2RS 70 150 35 21 21 2.520
6215 27 75 130 25 1.5 1.5 1.180
6215 2RS 75 130 25 1.5 1.5 1.180
6315 ZZ 75 160 37 2.1 2.1 3.020
6315 2RS 75 160 37 241 241 3.052
6021-2Z/C3 105 160 26 2 2 0.620
6026-27 130 200 33 2 2 3.960
6326-2ZC3 130 280 58 4 4 14.000
6028-2Z 140 210 33 2 2 3.900
6030Z 150 225 35 2.1 21 4.050
6030-27 150 225 35 2.1 21 4.140
6030-2Z/C3 150 225 35 2.1 2.1 4.140




S D W BEARING PAGE/035-06

SELF ALIGNING BALL BEARING

Self aligning ball bearings have two structures: cylindrical
hole and conical hole. The material of cage includes steel plate,
synthetic resin, etc. Its characteristic is that the outer ring race-
way is spherical, with automatic centering, which can compen-—
sate the errors caused by different centrality and shaft deflection,
but the relative inclination of its inner and outer rings shall not

exceed 3 degrees.

SELF ALIGNING
BALL BEARING



s D W BEARING PAGE/07-08

-Bo- -B -
| | | |
L LN |

DaxSten

12““ 75l series 4 .1

H204 AH204

H206 AH206

4800 1.260

H207 AH207 4500 1350




s D W BEARING PAGE/09-10

1200 =50 seres , ., 1300 =5 seres , , , |

BATELD RIRERE ot 353‘@%%3@ R IREEIE q
EARS Basic Load Rating Limiting Speed | 5L R asic Load Rating Limiting Spee EEEERRAE
BWERRS Basic S;{J:e st  Bfs i £ mj\ﬁﬁf i&t&f}ndﬁ B m&%‘? Basic Size AR AR o . HE EAdapter sleevj;&_and
Bearing Model dynamic  static B i Weight Witharawal sleave safing Mogs! dynamic  static A5 ’% ficlens Withdrawal sleeve
g D B c o grease oil d D B c co grease ol
mm KN r/min kg i mm KN r/min kg

1216K 80 140 26 312 24 3400 4300 1.600 H216 AH216 1300 10 35 11 565 185 14000 18000 0.030

1216KTN 80 140 26 31.2 24 3400 4300 1,600 H216 AH216 1300TN 10 35 11 5.65 1.85 14000 18000 0.030

1217 85 150 28 8.4 79 3200 4000 2.100 1301 12 37 12 T4 24 13000 17000 0.070

V1T 85 0 ) 384 29 3200 4000 2.100 1301TN 12 37 12 T4 2.4 13000 17000 0.070

1217K 85 150 28 384 29 3200 4000 2,070 H217 AH217 1302 15 42 13 745 2.7 12000 16000 0.100

1217KTN -85, 150 28 38.4 29 3200 4000 2.070 H217 AH217 1302TN 15 42 13 7.45 2T 12000 16000 0:100

1217M 85 150 28 38.4 29 3200 4000 2.150 1303 17 47 14 9.8 375 11000 15000 0.140

1218 'S0 16010 S50 R AAD 324 3000 13800 2440 1303TN iR 14 98 375 11000 15000 0.140

1218TN 90 160 30 44.5 324 3000 3800 2.440 1304 20 52 15 1.7 4.1 9500 13000 0.170

1218K 90 160 30 445 324 3000 3800 2400 H218 AH218 1304TN 20 52 15 117 4.1 9500 13000 0.170

1218KTN %0 160 30  44.5 324 3000 3800 2.400 H218 AH218 1305 %5 62 17 14.1 6.1 8000 10000 0.260

1219 95 =1 70, SR gE A8, 373 2800 3600 3.060 1305TN Al ) T L nah 8000 10000 0.260

1219K 95 170 32 4938 373 . 2800 3600 3.020 H219 AH219 1305K % 62 17 14.1 6.1 . 8000 10000 0.260 H305

1220 100 180 34 539 412 2600 3400 3.700 1305KTN (DA 6.1 8000 10000 0.260 H305

1220K 100 180 34 53.9 41.2 2600 3400 3670 H220 AH220 1306 0 72 19 16.7 9 7000 9000 0.398

1291 i e 2400 3200 4700 1306TN 30 12 19 16.7 79 7000 9000 0.398

1221K 105 190 36 2400 3200 4,630 H221 AH221 1306K 30 72 19 16.7 79 7000 9000 0.398 H306

1222 {i0- 2000 380 iieh 51 2200 3000 5200 1306KTN 30 72 19 16.7 79 7000 9000 0.398 H306

1222K 0 200 38 78S 51 2200 3000 5.100 H222 AH222 1307 3% 80 21 19.7 10 6300 8000 0.537

1274 1307TN ST 197 10 6300 8000 0.537

1224M 1307K s 80 21 19.7 10 6300 8000 0529 H307

1274KM H224 AH224 1307KTN JEN T80 DT 19.7 10 6300 8000 0.529 H307

1226 1308 40 90 23 233 12.4 5600 7000 0.706

1276M 1308TN AT OIS s 12.4 5600 7000 0.706

1228 1308K 40 90 23 233 12.4 5600 7000 0.693 H308 AH308

1228M 1308KTN 405 e0s L Pa 1238 124 5600 7000 0.693 H308 AH308
11308 40 90
11308TN 40 90
1309 45 100 25 299 16.2 5000 6300 0.962
1309TN 45 100 25 299 162 5000 6300 0.962
1309 45 100 25 299 16.2 5000 6300 0950 H309 AH309
1309KTN 45 100 25 299 162 5000 6300 0.950 H309 AH309
1310 50 110 27 339 17.8 4800 6000 1210
1310TN 500 a0, 27 339 17.8 4800 6000 1210
1310K 50 110 27 339 178 4800 6000 1.100 H310 AH310
1310KTN S0 L oy SR 17.8 4800 6000 1.100 H310 AH310
1310M 50 110 27 339 17.8 4800 6000 1.100
1311 By b ek 229 4300 5300 1.580
1311TN 55 120 29 403 229 4300 5300 1.580
1311K 550 20Tz 408 229 4300 5300 1.560 H311 AH311
1311KTN 55 120 29 403 229 4300 5300 1.560 H311 AH311

1312 60 1300 31 449 2L 4000 5000 1.960



s DW BEARING

13"“ Z.%l) Series

HERRS
Bearing Model

1312TN
1312K
1312KTN
1313
1313TN
1313K
1313KTN
1314
1314TN
1314K
1314KTN
1315
1315TN
1315K
1315KTN
1316
1316TN
1316K
1316KTN
1317
1317M
1317K
1318
1318M
1318K
1319
1319K
1319M
1319KM
1320
1320K
1320M
1320KM
1321
1321K
1321M
1322
1322K
1322M
1324
1324M

60
60

65
65
65
70
70
70
70
75
5
75
75

80
80

85
85

85

90
90
90
95
95
95
95
100
100
100
100
105
105
105
110
110
110
120
120

-B.a

— v

EAR

Basic Size

130
130
130
140
140
140
140
150
150
150
150
160
160
160
160
170
170
170
170
180
180
180
190
190
190
200
200
200
200
215
215
215
215
225
225
225
240
240
240

31
31
31
33
33
33
33

a5

35
35
35
37
37

37

39

=

39

41
41
43
43
43
45
45
45
45
47
47
47
47
49
49
49
50
50
50

-B o

D
]

EARTERR
Basic Load Rating
Ay ERe
dynamic static

(e co

KN

44.9 271
449 D
44.9 271
486 299
48.6 299
486 299
486 299
58085
583 359
583 359
583 359
62.1 39.1
62.1 391
62.1 391
62.1 391
69.4 43
69.4 43
69.4 43
69.4 43
76.8 495
76.8 49.5
76.8 495
91.2 57.2
912 57.2
91.2 57.2
103 65.1
103 65.1
103 65.1
103 65.1
112 734
112 734
112 734
112 734
153 86
153 86
153 86

13600

- 2800
2800

IRRREE
Limiting Speed
B

grease oil
r/min
4000 5000
4000 5000
4000 5000
3600 4500
3600

3200
3000
3000
3000
3000

2600
2600
2600
2400
2400
2400
2400
2000
2000
2000
2000

1800 2400

1800 2400
1800 2400

12.000
11.900
12.100

EERATENRENE
Adapter sleeve and
Withdrawal sleeve

H312 AH312
H312 AH312

H313 AH313
H313 AH313

'H314 AH314

H314 AH314

H315 AH315
H315 AH315

'H316 AH316

H316 AH316

H317 AH317

H318 AH318
H319 AH319
H319 AH319

H320 AH320

H321 AH321

H322

2200 7% Series

HARS
Bearing Model

2200
2200TN
2200-2RS
2201
2201TN
2201-2RS
2202
2202TN
2202-2RS
2203
2203TN
2203-2RS
2204
2204TN
2204-2RS
2205
2205TN
2205K
2205KTN
2205-2RS
2206
2206TN
2206K
2206KTN
2206-2RS
2207
2207TN
2207K
2207TKTN
2207-2RS
2208
2208TN
2208K
2208KTN
2208-2RS
2209
2209TN
2209K
2209KTN
2209-2RS
2210
2210TN

10
10
10
12
12
12
15
15
15
17
17
17
20
20
20
25
25
25
25
25
30
30
30
30
30
35
25
35
35
35
40
40
40
40
40
45
45
45
45
45
50
50

- B -

D

HARSY

Basic Size

mm
30
30
30
32
2
32
35
35
35
40
40
40
a7
47
a7
52
52
52
52
52
62
62
62
62
62
T2
72
72
72
rp)
80
80
80
80
80
85
85
85
85
85
90
90

14
14
14
14
14
14
14
14
14
16
16
16
18
18
18
18
18
18
18
18
20
20
20
20
20
23
23
23
23
23
23
23
23
23
23
23
23
23
23
23
23
23

EARIEN
Basic Load Rating
BEE  BAE
dynamic static
G Cco
KN

56 175
56 178
56 175
58 1.85
58 1.85
58 1:85
6 2.2
6 22
6 2.2
765 28
7.65 28
1.65 28
9.8 3.96
9.8 3.96
9.8 3.96
10.9 4.35
109 435
10.9 435
10.9 435
109 435
12 58
12 58
12 58
12 58
12 58
17 84
17 8.4
17 8.4
17 84
17 84
17.6 9.65
176 9.65
17.6 9.65
17.6 9.65
17.6 9.65
182 10.9
18.2 109
18.2 10.9
18.2 109
182 10.9
195 115
195 115

R PREE R
Limiting Speed

Bs i

grease oil

r/min
15000 19000
15000 19000
15000 19000
14000 18000
14000 18000
14000 18000
13000 17000
13000 17000
13000 17000
12000 16000
12000 16000
12000 16000
10000 14000
10000 14000
10000 14000

9000 12000
9000 12000
2000 12000
9000 12000
9000 12000
7500 9500
7500 9500
7500 9500
1500 9500
7500 9500
6700 8500
6700 8500
6700 8500
6700 8500
6700 8500
6300 8000
6300 8000
6300 8000
6300 8000
6300 8000
5600 7000
5600 7000
5600 7000
5600 7000
5600 1000
5300 6700
5300 6700

B8
Weight

kg
0.050
0.050
0.050
0.055
0.055
0.055
0.060
0.060
0.060
0,090
0,090
0.090
0.152
0.152
0.152
0187
0.187
0.160
0.160
0.187
0.260
0,260
0.145
0.145
0.260
0.441
0.441
0.400
0.400
0,441
0.530
0.530
0519
0519
0.530
0.553
0.553
0550
0.550
0553
0.545
0545

PAGE/11-12

EEAEERENE
Adapter sleeve and
Withdrawal sleeve

H305
H305

H306
H306

H307
H307

H308 AH308
H308 AH308

H309 AH309
H309 AH309



S DW BEARING

I - B -

== ==

(m | 3o
' |
220“ 5l series L& D d
\ ey sy I

" | (g

(=S By

DIKTN.

214-2RS

20K 100 180 46 " g55 - 52

3400

0535

0.820

090

4500

H310 AH310

H31l AH311

AH312

H313 AH313

AH314

zzun 2751 series

Bearing Model
108
110

110

105

110

D

BARY

Basic Size

D
mm
10

190

200

200

200

B

50

50

53

53

ESTERT
Basic Load Rating

PAGE/13-14

i i i Weight
d_yn:l:mlc fgieace :é]"["

KN r/min kg
102 65 2400 3200 _ .
102 65 2400 3200 H321 AH321
117 5271 2000 2800 7.160
117 5271 2000 © 2800 7.000 H322 AH322
117 5271 2000 2800 7420



s D W BEARING PAGE/13-16

- B - - B - - B - - B -

2300 =5 seres , ., ., ., 2300 m=5useres , .,

e Ba§$|:ﬂﬁ§%?$ R PREE R it %Eiljﬁ%%ﬁ . mﬂiiﬁ ¥
; R~ sic Load Rating Limiting Speed EEETERENE R~ sic Load Rating imiting Spee RERTEREENE
Be?;ii%laél Basic Size AR BAM P " W%i;t Adapter sleeve and Beﬁi%iel Basic Size B B P - V\%i:g.ht Adapter sleeve and
: dynamic  static ; i Withdrawal sleeve dynamic  static . - Withdrawal sleeve
i ST D c gom e S i c gl LB el
mm KN r/min kg mm KN r/min ke

2301 12 37 17 865 255 14000 18000 0.090 2310TN 50 110 40 504 239 4800 6000 1.700
2301TN S S R A 255 14000 18000  0.090 2310K 50 1100 40 504 239 4800 6000 0.650 H2310 AH2310
2301-2RS 12 37 17 865 255 14000 18000 0.090 2310KTN 50 110 40 504 239 4800 6000 1.650 H2310 AH2310
2302 5 A 33 12000 16000  0.110 23102RS 50 110 40 504 239 4800 6000 1.700
2302TN 15 42 17 94 33 12000 16000 0.110 2311 55 120 43 591 286 4300 5300 2.100
2302-2RS G L R G 33 12000 16000 0.110 2311TN 55 120 A3 s so 286 4300 5300 2.100
2303 17 47 19:  J18 4.1 11000 15000 0.170 2311K 55 120 43 591 2856 4300 5300 2.040 H2311 AH2311
2303TN SlFjoaea. 19 113 41 11000 15000 0.170 2311KTN 55 2o " 43 @ 591 286 4300 5300 2.040 H2311 AH2311
2303-2RS 17 47 19 113 41 11000 15000 0.170 2311-2RS 55 120 43 591 286 4300 5300 2.100
2304 Ol s ol RN ) 54 9500 13000 0219 2312 60 130 46 = 683 336 4000 5000 2.600
2304TN 20 5 21 14.2 54 9500 13000 0.219 2312TN 60 130 46 683 336 4000 5000 2.600
2304-2RS Sloy e B ) 54 9500 13000 0219 2312K 60 130 46 683 336 4000 5000 2510 H2312 AH2312
2305 25 62 24 192 16 8000 10000 0.350 2312KTN 60 130 46 683  _ 336 4000 5000 2.510 H2312 AH2312
2305TN P R L b ) 76 8000 10000 0.350 2312-2RS 60 130 46 683 336 4000 5000 2,600
2305K 25 62 24 19.2 76 8000 10000 0.350 H2303 AH2305 2313 65 140 48 752 393 3600 4500 3200
2305KTN ) SESRRTY BS Y, B 1) 76 8000 10000 0.350 H2305 AH2305 2313TN 65 140 48 752 393 3600 4500 3,200
2305-2RS 25 62, 24 g9 76 8000 10000 0.350 2313K 65 140 48 752 393 3600 4500 3.100 H2313 AH2313
2305M SN Y S ) 76 8000 10000  0.350 ; 2313KTN 65 140 48 752 393 3600 4500 3.100 H2313 AH2313
2306 30 72 2T 246 102 7000 9000 0.520 2313-2RS 65 140 48 752 393 3600 4500 3.100
2306TN R Attt e 1 102 7000 9000 0520 2313M 65 LS ) 39.3 3600 4500 3.200
2306K 30 700 LT 102 7000 9000 0.520 H2306 AH2306 2314 70 150 51 905 48 3400 4300 3920
2306KTN 30 72 27 246 102 7000 9000 0.520 H2306 AH2306 2314TN 70 150, 5% 90.5 48 3400 4300 3920
2306-2RS 0 72 21 AE 102 7000 9000 0.520 2314K 70 150 51 905 48 3400 4300 3.900 H2314 AH2314
2306M IR e 102 7000 9000 0520 2314KTN 70 TERG (e ( 48 3400 4300 3.900 H2314 AH2314
2307 3% 8 31 309 13 6300 8000 0.680 2314-2RS 70 150 51 905 48 3400 4300 3.900
2307TN BT e 13 6300 8000 0.680 2314M 70 150 51 905 48 3400 4300 4.100
2307K 3 80 31 309 13 6300 8000 0.680 H2307 AH2307 2315 75 160 55 114 56 3200 4000 4,710
2307KTN SRR e S ) 13 6300 8000 0.680 H2307 AH2307 2315TN 75 160 55 114 56 3200 4000 4.700
2307-2RS 3 80 31 309 13 6300 8000 0.680 2315K 75 160 55 114 56 3200 4000 H2315 AH2315
2307M 3B 80 31 309 13 6300 8000 0.680 2315KTN 75 160 55 114 56 3200 4000 H2315 AH2315
2308 40 9 33 351 16 5600 7000 0.960 2315M 75 160 55 114 56 3200 4000
2308TN A Rl 16 5600 7000 0.960 2316 80 e SR R 65 3000 3800 5.700
2308K 40 90 33 351 16 5600 7000 0.940 H2308 AH2308 2316TN 80 170 58 128 65 3000 3800 5.700
2308KTN Ak R SRRt 16 5600 7000 0.940 H2308 AH2308 2316K 80 1700 '58° 128 65 3000 3800 5.600 H2316 AH2316
2308-2RS 40 9 33 351 16 5600 7000 0.960 2316KTN 80 170 58 128 65 3000 3800 5.600 H2316 AH2316
2308M AR i ST 16 5600 7000 0.940 2316M SO0 585 198 65 3000 3800 5.700
2309 45 100 36 424 19.8 5000 6300 1.300 2317 85 180 60 135 72 2800 3600 6.730
2309TN 45 100 36 424 198 5000 6300 1.300 2317K 85 TB0EE600 0 135 72 2800 3600 6.580 H2317 AH2317
2309K 45 100 36 424 19.8 5000 6300 1.260 H2309 AH2309 2317M 85 180 60 135 72 2800 3600 6.580
2309KTN 457100 86 424 198 5000 6300 1.260 H2309 AH2309 2318 90 190 64 143 81 2600 3400 8.270
2309-2RS 45 100 36 424 198 5000 6300 1.300 2318K 90 190 64 143 81 2600 3400 8.090 H2318 AH2318

2310 50 110 40 50.4 238 4800 6000 1.700 2318M 90 190 64 143 81 2600 3400 8.090



S D W BEARING PAGE/17-18

CYLINDRICAL ROLLER BEARING

The cylindrical roller and raceway are linear contact bearings.
Large load capacity, mainly bearing radial load. The friction be-
tween the rolling element and the ring rib is small, and it is suit—
able for high-speed rotation. According to whether the ring has
rib or not, it can be divided into NU, NJ, NUP, N, NF and other
single row cylindrical roller bearings, and NNU, NN and other
double row cylindrical roller bearings. The bearing is a separable
structure of inner ring and outer ring.

Cylindrical roller bearing without rib on inner or outer ring,
whose inner ring and outer ring can move relative to each other in
axial direction, can be used as free end bearing. Cylindrical roller
bearing with double ribs on one side of the inner ring and outer

ring and single rib on the other side of the ring can withstand axial
load in one direction to a certain extent. Generally, pressed steel
cages or solid copper alloy cages are used. However, some of
them use polyamide shaped cages.

CLYLINORILAL
ROLLER BEARING



s D W BEARING PAGE/19-20

B3 F Sl L Bl R Fhh & L]
CYLINDRICAL ROLLER BEARING CYLINDRICAL ROLLER BEARING

MODEL AND SIZE REFERENCE TABLE MODEL AND SIZE REFERENCE TABLE

S R~F IERST EE IR EE IR E=E
WA S R B S AR S

d DN N B d B kg D || B kg DY EB | Fka
N/NJ/NU/NUP/NF202E/ EM 15 35 11 10.008 | N/NJ/NU/NUP/NF221E/EM 106 | 190 36 4.4 N/NJ/NU/NUP/NF303E/EM 17 47 14 |0.1387] N/NJ/NU/NUP/NF322E/EM 110 | 240 50 12
N/NJ/NU/NUP/NF203E/ EM 17 40 12 | 0.009 | N/NJ/NU/NUP/NF222E/EM 110 | 200 38 5.36 N/NJ/NU/NUP/NF304E/EM 20 52 15 | 0.148 | N/NJ/NU/NUP/NF324E/EM 120 | 260 55 14
N/NJ/NU/NUP/NF204E/ EM 20 47 14 |1 0.109| N/NJ/NU/NUP/NF224E/EM 120 | 215 40 5.85 N/NJ/NU/NUP/NF305E/EM 25 62 17 0.28 N/NJ/NU/NUP/NF326E/EM 130 | 280 58 18
N/NJ/NU/NUP/NF205E/ EM 25 52 15 |0.155| N/NJ/NU/NUP/NF226E/EM 130 | 230 40 7 N/NJ/NU/NUP/NF306E/EM 30 72 19 0.3 N/NJ/NU/NUP/NF328E/EM 140 | 300 62 20.3
N/NJ/NU/NUP/NF206E/ EM 30 62 16 0.24 | N/NJ/NU/NUP/NF228E/EM 140 | 250 42 9 N/NJ/NU/NUP/NF307E/EM 35 80 21 0.54 | N/NJ/NU/NUP/NF330E/EM 150 | 320 65 26
N/NJ/NU/NUP/NF207E/ EM 35 T2 17 0.36 | N/NJ/NU/NUP/NF230E/EM 150 | 270 45 1.7 N/NJ/NU/NUP/NF308E/EM 40 90 23 0.71 N/NJ/NU/NUP/NF332E/EM 160 | 340 68 32
N/NJ/NU/NUP/NF208E/ EM 40 80 18 0.44 | N/NJ/NU/NUP/NF232E/EM 160 | 290 48 12 N/NJ/NU/NUP/NF309E/EM 45 100 25 0.98 | N/NJ/NU/NUP/NF334E/EM 170 | 360 72 39
N/NJ/NU/NUP/NF209E/ EM 45 85 18 0.53 | N/NJ/NU/NUP/NF234E/EM 170 | 310 52 18 N/NJ/NU/NUP/NF310E/EM 50 110 27 1.31 N/NJ/NU/NUP/NF336E/EM 180 | 380 75 44
N/NJ/NU/NUP/NF210E/ EM 50 90 20 0.58 | N/NJ/NU/NUP/NF236E/EM 180 | 320 52 18.2 N/NJ/NU/NUP/NF311E/EM 55 120 29 1= N/NJ/NU/NUP/NF338E/EM 190 | 400 78 50
N/NJ/NU/NUP/NF211E/EM 55 100 21 0.63 | N/NJ/NU/NUP/NF238E/EM 190 | 340 55 21.6 N/NJ/NU/NUP/NF312E/EM 60 130 31 2.07 | N/NJ/NU/NUP/NF340E/EM 200 | 420 80 a7,
N/NJ/NU/NUP/NF212E/ EM 50 110 22 0.95 | N/NJ/NU/NUP/NF240E/EM 200 | 360 58 28 N/NJ/NU/NUP/NF313E/EM 65 140 33 2.58
N/NJ/NU/NUP/NF213E/ EM 65 120 23 1.15 | N/NJ/NU/NUP/NF244E/EM 220 | 400 65 39 N/NJ/NU/NUP/NF314E/EM 70 150 35 3.04
N/NJ/NU/NUP/NF214E/ EM 70 125 24 1.34 | N/NJ/NU/NUP/NF248E/EM 240 | 440 72 51 N/NJ/NU/NUP/NF315E/EM 75 160 37 3.88
N/NJ/NU/NUP/NF215E/ EM 75 130 25 1.72 | N/NJ/NU/NUP/NF252E/ EM 260 | 480 80 70 N/NJ/NU/NUP/NF316E/EM 80 170 39 4.3
N/NJ/NU/NUP/NF216E/ EM 80 140 26 1.76 N/NJ/NU/NUP/NF317E/EM 85 180 41 5.25
N/NJ/NU/NUP/NF217E/ EM 85 150 28 2.4 N/NJ/NU/NUP/NF318E/EM 90 180 43 6.24
N/NJ/NU/NUP/NF218E/ EM 90 160 30 2.63 N/NJ/NU/NUP/NF319E/EM 95 200 45 7.27
N/NJ/NU/NUP/NF219E/ EM 95 170 32 3.06 N/NJ/NU/NUP/NF320E/EM 100 | 215 47 7.8
N/NJ/NU/NUP/NF220E/ EM 100 | 180 34 3.45 N/NJ/NU/NUP/NF321E/EM 1056 | 225 49 11




s D W BEARING PAGE/21-22

B3 F Sl L Bl R Fhh & L]
CYLINDRICAL ROLLER BEARING CYLINDRICAL ROLLER BEARING

MODEL AND SIZE REFERENCE TABLE MODEL AND SIZE REFERENCE TABLE

S R~F S R~F SMERST  EE IMERS  E=E
HMARS A S A S

d D B ds DN 8B DB DN B Pkg
N/NJ/NU/NUP/NF404E/EM 20 70 19 [0.402 | N/NJ/NU/NUP/NF428E/EM 140 | 360 82 29 N/NJ/NU/NUP/NF2203E/EM 17 40 16 0.07 | N/NJ/NU/NUP/NF2224E/EM | 120 | 215 58 8.2
N/NJ/NU/NUP/NF405E/EM 25 80 21 0.64 | N/NJ/NU/NUP/NF430E/EM 150 | 380 85 32 N/NJ/NU/NUP/NF2204E/EM 20 47 18 0.11 | N/NJ/NU/NUP/NF2226E/EM | 130 | 230 64 11
N/NJ/NU/NUP/NF406E/EM 30 90 23 0.9 N/NJ/NU/NUP/NF2205E/EM 25 52 18 | 0.168 | N/NJ/NU/NUP/NF2228E/EM | 140 25 68 15
N/NJ/NU/NUP/NF407E/EM 35 100 25 1.12 N/NJ/NU/NUP/NF2206E/EM 30 62 20 0.3 | N/NJ/NU/NUP/NF2230E/EM | 150 | 270 73 19
N/NJ/NU/NUP/NF408E/EM 40 110 27 1.3 N/NJ/NU/NUP/NF2207E/EM 35 72 23 0.45 | N/NJ/NU/NUP/NF2232E/EM | 160 | 290 80 24
N/NJ/NU/NUP/NF409E/EM 45 120 29 1.97 N/NJ/NU/NUP/NF2208E/EM 40 80 23 0.49 | N/NJ/NU/NUP/NF2234E/EM | 170 | 310 86 29
N/NJ/NU/NUP/NF410E/EM 50 130 31 2.3 N/NJ/NU/NUP/NF2209E/EM 45 85 23 0.54 | N/NJ/NU/NUP/NF2236E/EM | 180 | 320 86 30
N/NJ/NU/NUP/NF411E/EM 55 140 33 3.24 N/NJ/NU/NUP/NF2210E/EM 50 90 23 0.65 | N/NJ/NU/NUP/NF2238E/EM | 190 | 340 92 36
N/NJ/NU/NUP/NF412E/EM 60 150 35 3.5 N/NJ/NU/NUP/NF2211E/EM 55 100 25 0.77 | N/NJ/NU/NUP/NF2240E/EM | 200 | 360 98 45
N/NJ/NU/NUP/NF413E/EM 65 160 37 4.03 N/NJ/NU/NUP/NF2212E/EM 60 110 28 1.09 | N/NJ/NU/NUP/NF2244E/EM | 220 | 400 | 108 62
N/NJ/NU/NUP/NF414E/EM 70 180 42 6.7 N/NJ/NU/NUP/NF2213E/EM 65 120 31 1.55
N/NJ/NU/NUP/NF415E/EM 75 190 45 7.28 N/NJ/NU/NUP/NF2214E/EM 70 125 31 1.7
N/NJ/NU/NUP/NF416E/EM 80 200 48 8.25 N/NJ/NU/NUP/NF2215E/EM 75 130 31 1.8
N/NJ/NU/NUP/NF417E/EM 85 210 52 9.7 N/NJ/NU/NUP/NF2218E/EM 80 140 33 2.2
N/NJ/NU/NUP/NF418E/EM 90 225 54 11 N/NJ/NU/NUP/NF2217E/EM 82 150 36 2.8
N/NJ/NU/NUP/NF419E/EM 95 240 55 14 N/NJ/NU/NUP/NF2218E/EM 90 160 40 3.6
N/NJ/NU/NUP/NF420E/EM 100 | 250 58 15 N/NJ/NU/NUP/NF2219E/EM 95 170 43 4.3
N/NJ/NU/NUP/NF422E/EM 110 | 280 65 19 N/NJ/NU/NUP/NF2220E/EM | 100 | 180 46 5.99
N/NJ/NU/NUP/NF426E/EM 120 | 310 72 21 N/NJ/NU/NUP/NF2222E/EM | 110 | 200 53 8.7




s D W BEARING PAGE/23-24

B3 F Sl L Bl R Fhh & L]
CYLINDRICAL ROLLER BEARING CYLINDRICAL ROLLER BEARING

MODEL AND SIZE REFERENCE TABLE MODEL AND SIZE REFERENCE TABLE

IR EE IERST EE IR~ EE MERT EE
HAB S HAE S WARS

d D] B kg di MBS B d D B kg d D B kg
N/NJ/NU/NUP/NF2304E/EM 20 52 21 0.22 | N/NJ/NU/NUP/NF2326E/EM 130 280 93 31.2 N/NJ/NU/MUP/NF1004E/EM 20 52 21 0.22 | N/NJ/NU/NUP/NF1024E/EM 120 180 28 2.5
N/NJ/NU/NUP/NF2305E/EM 25 62 24 0.4 N/NJ/NU/NUP/NF2328E/EM 140 300 102 | 36.6 N/NJ/NU/MUP/NF1005E/EM 25 62 24 0.4 N/NJ/NU/NUP/NF1026E/EM 130 200 33 3.8
N/NJ/NU/NUP/NF2306E/EM 30 72 27 0.6 N/NJ/NU/NUP/NF2330E/EM 150 320 108 45 N/NJ/NU/NMUP/NF1006E/EM 30 72 27 0.6 N/NJ/NU/NUP/NF1028E/EM 140 210 33 3.9
N/MNJ/NU/MUP/NF2307E/EM 35 80 31 0.9 N/NJ/MU/NMUP/NF2332E/EM 160 340 114 | 565.8 N/MNJ/NU/NMUP/NF1007E/EM 35 80 31 0.9 N/MNJ/NU/NUP/NF1030E/EM 150 225 35 4.8
N/NJ/NU/NUP/NF2308E/EM 40 80 33 1.1 N/NJ/NU/NUP/NF2334E/EM 170 360 120 63 N/NJ/NU/NUP/NF1008E/EM 40 80 33 1.1 N/NJ/NU/NUP/NF1032E/EM 160 240 38 5.8
N/NJ/NU/NUP/NF2309E/EM 45 100 36 1.51 N/NJ/NU/NUP/NF2336E/EM 180 380 126 T2 N/NJ/NU/NUP/NF1009E/EM 45 100 36 1.51 N/NJ/NU/NUP/NF1034E/EM 170 260 42 8
N/NJ/NU/NUP/NF2310E/EM 50 110 40 2.01 N/NJ/NU/NUP/NF2338E/EM 190 400 132 85 N/NJ/NU/NUP/NF1010E/EM 50 110 40 2.01 N/NJ/NU/NUP/NF1036E/EM 180 280 486 11
N/NJ/NU/NUP/NF2311E/EM 55 120 43 2.8 N/NJ/NU/NUP/NF2340E/EM 200 420 135 94.5 N/NJ/NU/NMUP/NF1011E/EM 55 120 43 2.8 N/NJ/NU/NUP/NF1038E/EM 190 290 486 11
N/NJ/NU/NUP/NF2312E/EM 60 130 460 3.38 N/NJ/NU/NUP/NF1012E/EM 60 130 460 3.38 | N/NJ/NU/NUP/NF1040E/EM 200 310 51 14
N/NJ/NU/NUP/NF2313E/EM 65 140 48 3.76 N/NJ/NU/MUP/NF1013E/EM 65 140 48 3.75 | N/NJNU/NUP/NF1044E/EM 220 340 58 21
N/NJ/NU/NUP/NF2314E/EM 70 150 51 4.5 N/NJ/NU/NUP/NF1014E/EM 70 150 51 4.5 N/NJ/NU/NUP/NF1048E/EM 240 360 56 25
N/NJ/NU/NUP/NF2315E/EM 75 160 55 6.33 N/NJ/NU/NUP/NF1015E/EM 75 160 55 6.33 | N/NJ/NU/NUP/NF1052E/EM 260 400 65 31
N/NJ/NU/NUP/NF2316E/EM 80 170 58 6.6 N/NJ/NU/NUP/NF1016E/EM 80 170 58 6.6 N/NJ/NU/NUP/NF1056E/EM 280 420 65 32
N/NJ/NU/NUP/NF2317E/EM 85 180 60 8.6 N/NJ/NU/NUP/NF1017E/EM 85 180 60 8.6 N/NJ/NU/NUP/NF1060E/EM 300 460 74 44
N/NJ/NU/NUP/NF2318E/EM 90 190 64 9.2 N/NJ/NU/NUP/NF1018E/EM 90 190 64 9.2 N/NJ/NU/NUP/NF1064E/EM 320 480 74 47
N/NJ/NU/NUP/NF2319E/EM 95 200 67 10.8 N/NJ/NU/NUP/NF1019E/EM a5 200 67 10.8
N/NJ/NU/NUP/NF2320E/EM 100 215 73 13 N/NJ/NU/NUP/NF1020E/EM 100 215 73 13
N/NJ/NU/NUP/NF2322E/EM 110 240 80 18 N/NJ/NU/NUP/NF1021E/EM 105 160 26 1.8
N/NJ/NU/NUP/NF2324E/EM 120 260 86 24 N/NJ/NU/NUP/NF1022E/EM 110 170 28 2.3




S D W BEARING PAGE/25-26

SPHERICAL ROLLER BEARINGS

The self-aligning roller bearing has two rows of rollers. The
outer ring has one common spherical raceway, and the inner ring
has two raceways, which are inclined to form an angle with re—
spect to the bearing axis. This ingenious structure enables it to
have automatic centering performance, so it is not vulnerable to
the influence of the angle between the shaft and the bearing
housing on the error or shaft bending. It is suitable for the occa—
sion where the angle error is caused by installation error or shaft
deflection. The bearing can not only bear the radial load, but also
bear the axial load of two—way action.

The inner holes of the self-aligning roller bearings are cylin—
drical and conical, and the taper of the conical hole is 1:30 and

1:12. The conical inner hole bearing is equipped with a locking
sleeve or a withdrawal sleeve, so that the tapered inner hole
self-aligning ball bearing can be conveniently and quickly as-
sembled on the smooth shaft or the ladder machine shaft.

SPHERILAL
ROLLER BEARING



s DW BEARING

e 108 8 T

Spherical Roller Bearings

K=

BRS

HEAXR

IR F 3

7

Spherical Roller Bearings

PAGE/27-28

New code name Old code name Basic dimensions CI’(KN) COI‘(KN) rmp(;’m EE)
23020CA 3053120 100X150X37 2.51 215 400 2400
23022CA 3053122 110X170X45 3.54 253 460 263
23024CA 3053124 120X180X46 419 263 495 2000
23026CA 3053126 130X200X52 7.04 340 350 1900
23028CA 3053128 140X210X53 6.7 365 705 1800
23030CA 3053130 150X225X56 7.44 400 795 1700
23032CA 3053132 160X240X60 8.86 445 875 1700
23034CA 3053134 170X260X67 14.2 555 1090 1600
23036CA 3053136 180X280X74 17.7 630 1280 1400
23038CA 3053138 190X290X75 16.9 700 1450 1300
23040CA 3053140 200X310X82 22.6 770 1560 1200
23044CA 3053144 220X340X90 32 935 1900 1100
23048CA 3053148 240X360X92 32.6 985 2080 1000
23052CA 3053152 260X400X104 49.8 1230 2550 900
23056CA 3053156 280X420X106 54.9 1320 2850 850
23060CA 3053160 300X460X118 73 1610 3450 800
23064CA 3053164 320X480X121 78 1960 3800 800
23068CA 3053168 340X520X133 108 1980 4400 700
23072CA 3053172 360X540X134 114 2280 4800 670
23076CA 3053176 380X560X135 118 2480 5000 630
23080CA 3053180 400X600X148 165 2540 5900 600
23084CA 3053184 420X620X150 175 2700 6400 450
23088CA 3053188 440X650X157 192 2780 6500 430
23092CA 3053192 460X680X163 223 3450 6950 400
23096CA 3053196 480X700X165 231 3340 6800 380

230/500CA 30531/500 500X720X167 236 3680 7800 380
230/530CA 30531/530 530X780X185 310 4370 9300 340
230/560CA 30531/560 560X820X195 355 4890 10200 320
230/600CA 30531/600 600X870X200 405 5230 11400 300
230/630CA 30531/630 630X920X212 485 5750 12500 260

2 e o = £ :

Newiﬁ::e-?ame Old]caoz-Zme Basic fmjjnjons CI’(KN) COI‘(KN) rmp(;‘m HE’)
230/670CA 30531/670 670X980X230 600 6560 14600 240
230/710CA 30531/710 710X1030X236 670 7250 16300 220
230/750CA 30531/750 750X1090X250 795 8450 18600 200
230/800CA 30531/800 800X1150X258 895 8630 20000 190
230/850CA 30531/850 850X1220X272 1050 9370 21600 180
230/900CA 30531/900 900X1280X280 1200 10100 23200 170
230/950CA 30531/950 950X1360X300 1450 12000 28500 160
230/1000CA | 30531/1000 1000X1420X308 1550 11200 27000 150
230/1060CA | 30531/1060 1060X1500X325 2250 13800 34000 135
230/1250CA | 30531/1250 1250X1750X375 2840 17900 45000 120
24020CA 4053120 100X150X50 2.95 290 620 1800
24022CA 4053122 110X170X60 4.98 310 650 1700
24024CA 4053124 120X180X60 5.4 325 660 1600
24026CA 4053126 130X200X69 7:95 477 815 1500
24028CA 4053128 140X210X69 8.45 495 900 1400
24030CA 4053130 150X225X75 10.5 500 1050 1300
24032CA 4053132 160X240X80 13 570 1210 1100
24034CA 4053134 170X260X90 16.7 705 1500 1000
24036CA 4053136 180X280X100 22.5 835 1750 950
24038CA 4053138 190X290X100 24 855 1840 950
24040CA 4053140 200X310X109 30.5 985 2130 900
24044CA 4053144 220X340X118 30 1150 2500 850
24048CA 4053148 240X360X118 42.5 1240 2800 800
24052CA 4053152 260X400X140 64.5 1780 1910 700
24056CA 4053156 280X420X140 68.5 1620 3700 670
24060CA 4053160 300X460X160 97 2020 2700 600
24064CA 4053164 320X480X160 100 2480 5100 560
24068CA 4053168 340X520X180 140 2460 5700 530




s DW BEARING

e 108 8 T

Spherical Roller Bearings

I E 5l 7K

Spherical Roller Bearings

PAGE/29-30

S RS = : s
Newfffcj:e?ame Oldlcoz;?ame Basic fmfn—:ons LI (ECRUS: (mp Uk =)
24072CA 4053172 360X540X180 145 3110 6550 500
24076CA 4053172 380X560X180 150 3150 6900 480
24080CA 4053180 400X600X200 205 3600 7800 450
24084CA 4053184 420X620X200 210 3350 8450 380
24088CA 4053188 440X650X212 245 4080 8800 360
24092CA 4053192 460X680X218 275 4200 9100 340
24096CA 4053196 480X700X218 285 4490 10000 340
240/500CA 40531/500 500X720X218 295 4600 10400 320
240/530CA 40531/560 530X780X250 410 5640 12700 280
240/560CA 40531/560 560X820X258 465 6210 14000 260
240/600CA 40531/600 600X870X272 540 6730 15600 240
240/630CA 40531/630 630X920X290 655 7530 17300 220
240/670CA 40531/670 670X980X308 790 8450. 20000 200
240/710CA 40531/710 710X1030X315 895 8970 22000 190
240/750CA 40531/750 750X1090X335 1065 9950 24000 180
240/800CA 40531/800 800X1150X345 1200 10900 27500 170
240/850CA 40531/850 850X1220X365 1410 12000 30000 160
240/900CA 40531/900 900X1280X375 1570 12900 32500 150
240/950CA 40531/950 950X1360X412 1990 14800 39000 130
240/1000CA | 40531/1000 1000X1420X412 2140 15400 40500 110
240/1060CA | 40531/1060 1060X1500X438 2515 17300 45500 100
240/1120CA | 40531/1120 1120X1580X462 2925 18700 50000 90
23218CA 3053218 90X160X52.4 4.82 495 585 2500
23220CA 3053220 100X180X60.3 6.58 415 599 2100
23222CA 3053222 110X200X69.8 9.66 502 742 1600
23224CA 3053224 120X215X76 12 535 940 1500
23226CA 3053226 130X230X80 14 670 1020 1300
23228CA 3053228 140X250X88 18.5 910 1365 1200

S AKS = . :
Ne:f::jce-?ame Old]cozZZme Basic ifn:ons CIURELR JC oIt} ImpEiED
23230CA 3053230 150X270X96 24 950 1550 1100
23232CA 3053232 160X290X104 30 1100 1760 1000
23234CA 3053234 170X310X110 36.5 1070 1930 950
23236CA 3053236 180X320X112 39 1160 2130 900
23238CA 3053238 190X340X120 47.5 1290 2400 850
23240CA 3053240 200X360X128 Si7 1360 2530 850
23244CA 3053244 220X400X144 79.58 1720 3200 750
23248CA 3053248 240X440X160 110 2080 3950 670
23252CA 3053252 260X480X174 140 2800 4750 630
23256CA 3053256 280X500X176 150 2580 5100 600
23260CA 3053260 300X540X192 190 3300 5600 530
23264CA 3053264 320X580X208 240 3900 6800 500
23268CA 3053268 340X620X224 295 4660 8300 430
23272CA 3053272 360X650X232 335 4650 8300 400
23276CA 3053276 380X680X240 375 5060 9150 380
23280CA 3053280 400X720X256 450 6150 11300 340
23284CA 3053284 420X760X272 535 5610 11900 320
23288CA 3053288 440X790X280 590 6730 12500 320
23292CA 3053292 460X830X296 695 7350 13500 300
23296CA 3053296 480X870X310 800 6750 15200 260
232/500CA 30532/500 500X920X336 985 8600 18600 280
232/530CA 30532/530 530X980X355 1200 11100 20400 220
232/560CA 30532/560 560X1030X365 1350 11500 22000 200
232/600CA 30532/600 600X1090X388 1600 13100 25500 190
232/670CA 30532/670 670X1220X438 2270 15400 30500 170
232/750CA 30532/750 750X1360X475 3050 18700 36500 150
22205CA 53505 25X52X18 0.184 35.6 38 7500
22206CA 53506 30X62X20 0.295 48.5 48.5 6000




S DW BEARING

e 108 8 T

Spherical Roller Bearings

K=

BRS

HEAXR

I E 5l 7K

Spherical Roller Bearings

WS

BRS

BEARR

PAGE/31-32

New code name Old code name Basic dimensions CI’(KN) COI‘(KN) rmp(;’m EE)
22207CA 53507 35X72X23 0.45 68.5 82 5000
22208CA 53508 40X80X23 0.6 56 76.5 4500
22209CA 53509 45X85X23 0.616 56.5 78.5 5300
22210CA 53510 50X90X23 0.296 78.5 108 5000
22211CA 53511 55X100X25 0.917 80 114 4800
22212CA 53512 60X110X28 1.19 84.5 125 4000
22213CA 53513 65X120X31 1.6 130 188 3800
22214CA 53514 70X125X31 1.68 124 153 3600
22215CA 53515 75X130X31 1.75 128 235 3000
22216CA 53516 80X140X33 2.12 128 264 3200
22217CA 53517 85X150X36 2.79 133 310 3000
22218CA 53518 90X160X40 3.78 158 375 2600
22219CA 53519 95X170X43 4.31 238 265 24000
22220CA 53520 100X180X46 4 275 360 2400
22222CA 53522 110X200X53 7:25 396 543 2000
22224CA 53524 120X215X58 9.139 425 940 1900
22226CA 53526 130X230X64 11.38 490 805 1800
22228CA 53528 140X250X68 14.44 560 930 1700
22230CA 53530 150X270X73 18.22 630 1050 1600
22232CA 53532 160X290X80 22.95 750 1300 1500
22234CA 53534 170X310X86 28.41 845 1450 1300
22236CA 53536 180X320X86 29.67 895 1500 1300
22238CA 53538 190X340X92 35.55 865 1620 1200
22240CA 53540 200X360X98 4.9 1100 1950 1100
22244CA 54544 220X400X108 61.7 1350 2400 950
22248CA 53548 240X440X120 853.2 1820 1640 900
22252CA 53552 260X480X130 105 1900 3600 850
22256CA 53556 280X500X130 124 1990 3600 800
22260CA 53560 300X540X140 143 2310 4300 750
22264CA 53564 320X580X150 175 2490 4550 670

New code name Old code name Basic dimensions CI’(_KN) COI’(KN) rmp(i&ﬁ‘é’)
22272CA 53572 360X650X170 255 3740 6200 600
22308CA 53608 40X90X33 1.07 106 136 4500
22309CA 53609 45X100X36 1.4 134 179 3800
22310CA 53610 50X110X40 1.83 162 221 3400
22311CA 53611 55X120X43 2 189 260 3200
22312CA 53612 60X130X46 2.88 212 310 3000
22313CA 53613 65X140X48 3.52 243 340 2600
22314CA 53614 70X150X51 4.21 300 380 2400
22315CA 53615 75X160X55 5.47 325 455 2200
22316CA 53616 80X170X58 6.63 363 441 2000
22317CA 53617 85X180X60 7.07 315 446 1900
22318CA 53618 90X190X64 8.76 463 592 1800
22319CA 53618 95X200X67 9.93 394 578 1700
22320CA 53620 100X215X73 13.7 540 815 1700

‘ 22322CA 53622 110X240X80 17.7 630 955 1600
22324CA 53624 120X260X86 22.9 720 1100 1400
22326CA 53626 130X280X93 28.5 965 1500 1300
22328CA 53628 140X300X102 35.5 1210 1950 1100
22330CA 53630 150X320X108 42 1120 1810 1000
22332CA 53632 160X340X114 52.2 1270 2050 950
22334CA 53634 170X360X120 60.7 1320 2120 950
22336CA 53636 180X380X126 72.6 1470 2400 900
22338CA 53638 190X400X132 84.2 1640 2630 850
22340CA 53640 200X420X138 94.4 1740 2860 850

_\ 22344CA 53644 220X460X145 119 2350 3450 750
22348CA 53648 240X500X155 156 2670 4000 670
22352CA 53652 260X540X165 191 3000 4700 630
22356CA 53656 280X580X175 233 3200 5700 600




s DW BEARING

e 108 8 T

Spherical Roller Bearings

MRS

BKS

HEAR

New code name Old code name Basic dimensions CI‘(KN) COI’(KN) rmp(ﬂﬂ HE)
22360CA 53660 300X620X185 274.5 4050 7150 500
22364CA 53664 320X670X200 345 4300 7900 460
22368CA 53668 340X670X200 410 4500 8000 4300
22372CA 53672 360X750X224 494 4900 8600 400
22380CA 53680 400X820X243 650 6560 10400 360
23120CA 3053720 100X165X52 4.42 325 538 2200
23121CA 3053721 105X175X56 5.48 320 500 1700
23122CA 3053722 110X180X56 5.73 387 605 2000
23124CA 3053724 120X200X62 7.95 405 715 1800
23126CA 3053726 130X210X64 8.55 430 790 1700
23128CA 3053728 140X225X68 10.5 490 935 1600
23130CA 3053730 150X250X80 15.6 745 685 1400
23132CA 3053732 160X270X86 20.5 765 1430 1300
23134CA 3053734 170X280X88 21.5 730 1390 1200
23136CA 3053736 180X300X96 28 900 1720 1100
23138CA 3053738 190X320X104 34.7 975 1840 1000
23140CA 3053740 200X340X112 42.5 1170 2240 950
23144CA 3053744 220X370X120 53.66 1370 2710 900
23148CA 3053748 240X400X128 67.44 1500 3000 850
23152CA 3053752 260X440X144 95.5 1860 3750 800
23156CA 3053756 280X460X146 92.4 1990 4150 750
23160CA 3053760 300X500X160 134 2310 4750 670
23164CA 3053764 320X540X176 160 3150 3200 630
23168CA 3053768 340X580X190 210 3050 6300 600
23172CA 3053772 360X600X192 221 3250 6850 560
23176CA 3053776 380X620X194 243 3400 7350 400
23180CA 3053780 400X650X200 239 4100 7650 380
23184CA 3053784 420X700X224 350 4250 9200 360

I E 5l 7K

Spherical Roller Bearings

PAGE/33-34

2 e o = £ :
Newiﬁ::e-?ame Old]caoz-Zme Basic fmjjnjons CI’(KN) COI‘(KN) rmp(;‘m HE’)
23188CA 3053788 440X720X226 360 4500 10000 340
23192CA 3053792 460X760X240 440 5500 10000 320
23196CA 3053796 480X790X248 485 6100 12000 300
231/500CA 30537/500 500X830X264 580 6730 12900 280
231/530CA 30537/530 530X870X272 645 7130 14000 260
231/560CA 30537/560 560X920X280 740 7990 16000 240
231/600CA 30537/600 600X980X300 895 8970 18000 200
231/630CA 30537/630 630X1030X315 1050 10500 20800 190
231/670CA 30537/670 670X1090X336 1250 10900 22400 180
231/710CA 30537/710 710X1150X345 1450 12200 26000 180
231/750CA 30537/750 750X1220X365 1700 13600 29000 170
231/800CA 30537/800 800X1280X375 1920 14800 31500 160
231/850CA 30537/850 850X1360X400 2200 16100 34500 140
231/1000CA | 30537/1000 1000X1580X462 3500 21400 48000 130
24124CA 4053724 120X200X80 10 495 925 900
24126CA 4053726 130X210X80 il 540 1000 875
24128CA 4053728 140X225X85 13 580 1150 850
24130CA 4053730 150X250X100 19.5 720 1530 770
24132CA 4053732 160X270X109 25 865 1690 700
24134CA 4053734 170X280X109 26.5 940 1860 660
24136CA 4053736 180X300X118 38.5 1020 2030 630
24138CA 4053738 190X320X128 42 1200 2400 600
24140CA 4053740 200X340X140 52 1350 2700 540
24144CA 5343744 220X370X150 65 1500 3000 500
24148CA 405348 240X400X160 80.5 1660 3400 480
24152CA 5043752 260X440X180 110 2100 4350 430
24156CA 4053756 280X460X180 120 2220 4750 400
24160CA 4053760 300X500X200 155 3280 6300 530




S D W BEARING PAGE/33-36

VB 1CN B F Rl 7K VR 1085 F 5 7K

Spherical Roller Bearings Spherical Roller Bearings
RS BKS AR~ RS B{ES HEAR~

New fo{de-:_ame (0] ] co‘[je-:zme Basic fmer‘:i-ons CI’( L COI‘(KN) rmp(;’m EE) New f:de-?ame Old co'iie -Zme Basic fmenjons CI’(KN) COI‘(KN) rmp(f&‘i HE’)
24164CA 4053764 320X540X218 210 3740 7100 480 238/630CA 30538/630 630X780X112 120 2190 6100 320
24168CA 4053768 340X580X243 240 4660 8650 450 238/670CA 30538/670 670X820X112 130 2250 6400 280
24172CA 4053772 360X600X243 270 4890 9300 430 238/750CA 30538/750 750X920X128 135 2930 8500 240
24176CA 4053776 380X620X243 300 5060 9800 340 238/850CA 30538/850 850X1030X136 240 3340 10000 190
24180CA 4053780 400X650X250 340 5350 10600 320 | 238/1000CA | 30538/1000 1000X1220X165 410 4660 14300 150
24184CA 4053784 420X700X280 445 6360 12500 300 238/1060CA 30538/1060 1060X1280X165 435 4770 15000 100
24188CA 4053788 440X720X280 460 6560 13200 280 238/1180C A | 30538/1180 1180X1420X180 575 5870 18600 80
24192CA 4053792 460X760X300 560 7250 14600 260
24196CA 4053796 480X790X308 605 7710 15600 240

241/500CA 40537/500 500X830X325 745 8630 17000 220 24892CA 4053892 460X580X118 7.5.5 1790 4900 450

241/530CA 40537/530 530X870X335 830 9200 19000 200 248/530CA 40538/530 530X650X118 86 1840 5300 380

241/560CA 40537/560 560X920X355 985 10500 21600 190 248/800CA 40538/800 800X980X180 300 4140 12900 180

241/600CA 40537/600 600X980X375 1200 11500 23600 180 248/900CA 50538/900 900X1090X190 370 4660 15300 70

241/630CA 40537/630 630X1030X400 1400 12700 27000 170 248/1060CA 40538/1060 1060X1280X218 570 6100 20000

241/670CA 40537/670 670X1090X412 1600 13800 29000 160 248/1120CA 40538/1120 1120X1360X243 735 7250 24000

241/710CA 40537/710 710X1150X438 1900 15200 32500 150 248/1180CA 40538/1180 1180X1420X243 770 7710 27000

241/750CA 40537/750 750X1220X475 2100 17300 37500 140 . 248/1320CA 40538/1320 1320X1600X280 1160 9780 33500

241/800CA 40537/800 800X1280X475 2300 18400 40500 130

241/900CA 40537/900 900X1420X515 3350 21400 49000 100

241/1000CA | 40537/1000 1000X1580X580 4300 22500 50000 80 23936CA 3053936 180X250X52 8.2 431 830 1700

23938CA 3053938 190X260X52 8.4 414 800 1700
23940CA 3053940 200X280X60 1155 546 1040 1600

23852CA 3053852 260X320X45 8 385 930 850 23944CA 3053944 220X300X60 13 546 1080 1500
23856CA 3053856 280X350X52 12 506 1180 800 23948CA 3053948 240X320X60 14 564 1160 1300
23860CA 3053860 300X380X60 17 644 1560 700 23952CA 3053952 260X360X75 24 880 1800 1100
23864CA 3053864 320X400X60 175 673 1660 660 23956CA 3053956 280X380X75 26 845 1760 1000
23868CA 3053868 340X420X60 18.5 690 1730 630 __ 23960CA 3053960 300X420X90 40.5 1200 2500 950
23872CA 3053872 360X440X60 20 713 1860 600 23964CA 3053964 320X440X90 452 1240 2700 900
23896CA 3053896 480X600X90 61 1440 3750 430 23968CA 3053968 340X460X90 45.5 1270 2800 900
238/500CA 30538/500 500X620X90 62 1480 4000 430 23972CA 3053975 360X480X90 46.5 1290 2900 850




S D W BEARING PAGE/37-38

VB 1CN B F Rl 7K VR 1085 F 5 7K

Spherical Roller Bearings Spherical Roller Bearings
RS BKS AR~ RS B{ES HEAR~

New fo{de-:_ame (0] ] co‘[je-:zme Basic fmer‘:i-ons CI’( L COI‘(KN) rmp(;’m EE) New f:de-?ame Old co'iie -Zme Basic fmenjons CI’(KN) COI‘(KN) rmp(f&‘i HE’)
24164CA 4053764 320X540X218 210 3740 7100 480 238/630CA 30538/630 630X780X112 120 2190 6100 320
24168CA 4053768 340X580X243 240 4660 8650 450 238/670CA 30538/670 670X820X112 130 2250 6400 280
24172CA 4053772 360X600X243 270 4890 9300 430 238/750CA 30538/750 750X920X128 135 2930 8500 240
24176CA 4053776 380X620X243 300 5060 9800 340 238/850CA 30538/850 850X1030X136 240 3340 10000 190
24180CA 4053780 400X650X250 340 5350 10600 320 | 238/1000CA | 30538/1000 1000X1220X165 410 4660 14300 150
24184CA 4053784 420X700X280 445 6360 12500 300 238/1060CA 30538/1060 1060X1280X165 435 4770 15000 100
24188CA 4053788 440X720X280 460 6560 13200 280 238/1180C A | 30538/1180 1180X1420X180 575 5870 18600 80
24192CA 4053792 460X760X300 560 7250 14600 260
24196CA 4053796 480X790X308 605 7710 15600 240

241/500CA 40537/500 500X830X325 745 8630 17000 220 24892CA 4053892 460X580X118 7.5.5 1790 4900 450

241/530CA 40537/530 530X870X335 830 9200 19000 200 248/530CA 40538/530 530X650X118 86 1840 5300 380

241/560CA 40537/560 560X920X355 985 10500 21600 190 248/800CA 40538/800 800X980X180 300 4140 12900 180

241/600CA 40537/600 600X980X375 1200 11500 23600 180 248/900CA 50538/900 900X1090X190 370 4660 15300 70

241/630CA 40537/630 630X1030X400 1400 12700 27000 170 248/1060CA 40538/1060 1060X1280X218 570 6100 20000

241/670CA 40537/670 670X1090X412 1600 13800 29000 160 248/1120CA 40538/1120 1120X1360X243 735 7250 24000

241/710CA 40537/710 710X1150X438 1900 15200 32500 150 248/1180CA 40538/1180 1180X1420X243 770 7710 27000

241/750CA 40537/750 750X1220X475 2100 17300 37500 140 . 248/1320CA 40538/1320 1320X1600X280 1160 9780 33500

241/800CA 40537/800 800X1280X475 2300 18400 40500 130

241/900CA 40537/900 900X1420X515 3350 21400 49000 100

241/1000CA | 40537/1000 1000X1580X580 4300 22500 50000 80 23936CA 3053936 180X250X52 8.2 431 830 1700

23938CA 3053938 190X260X52 8.4 414 800 1700
23940CA 3053940 200X280X60 1155 546 1040 1600

23852CA 3053852 260X320X45 8 385 930 850 23944CA 3053944 220X300X60 13 546 1080 1500
23856CA 3053856 280X350X52 12 506 1180 800 23948CA 3053948 240X320X60 14 564 1160 1300
23860CA 3053860 300X380X60 17 644 1560 700 23952CA 3053952 260X360X75 24 880 1800 1100
23864CA 3053864 320X400X60 175 673 1660 660 23956CA 3053956 280X380X75 26 845 1760 1000
23868CA 3053868 340X420X60 18.5 690 1730 630 __ 23960CA 3053960 300X420X90 40.5 1200 2500 950
23872CA 3053872 360X440X60 20 713 1860 600 23964CA 3053964 320X440X90 452 1240 2700 900
23896CA 3053896 480X600X90 61 1440 3750 430 23968CA 3053968 340X460X90 45.5 1270 2800 900
238/500CA 30538/500 500X620X90 62 1480 4000 430 23972CA 3053975 360X480X90 46.5 1290 2900 850




s D W BEARING PAGE/39-40

ANGULAR CONTACT BALL BEARING

Six types of bearings (also known as angular contact bear—
ings) are generally used in precision machine tools and can work
at a higher speed. The larger the contact angle, the higher the
axial bearing capacity. High precision and high-speed bearings
usually take a contact angle of 15 degrees. Under the action of
axial force, the contact angle will increase. Single row angular
contact ball bearing can only bear axial load in one direction, and
additional axial force will be caused when bearing radial load.

ANLGULAR LIONTALT
BALL BEARING



s DW BEARING

Angular contact ball bearing

SIZE TABLE
i R
e EE B BER  WRES
D B rsmina rsmina
7001C 7001AC 12 28 8 0.3 0.15 7001C
7002C 7002AC 15 32 9 0.3 0.15 7002C
7003C 7003AC 17 35 10 0.3 0.15 7003C
7004C 7004AC 20 42 12 0.6 Q.15 7004C
7005C 7005AC 25 47 12 0.6 0.15 7005C
7006C 7006AC 30 55 13 1 0.3 7006C
7007C 7007AC 35 62 14 1 0.3 7007C
7008C 7008AC 40 68 15 1 0.3 7008C
7009C 7009AC 45 75 16 1 0.3 7009C
7010C 7010AC 50 80 16 1 0.3 7010C
7011C 7011AC 55 90 18 1.1 0.6 7011C
7012C 7012AC 60 95 18 1.1 0.6 7012C
7013C 7013AC 65 100 18 11 0.6 7013C
7014C 7014AC 70 110 20 el 0.6 7014C
7015C 7015AC 75 115 20 1.4 0.6 7015C
7016C 7016AC 80 125 22 11 0.6 7016C
7017C 7017AC 85 130 22 1.1 0.6 7017C
7018C 7018AC 90 140 24 i1%5 0.6 7018C
7019C 7019AC 95 145 24 15 0.6 7019C
7020C 7020AC 100 150 24 i1E5 0.6 7020C
7021C 7021AC 105 160 26 2 1 7021C
7022C 7022AC 110 170 28 2 1 7022C
7024C 7024AC 120 180 28 2 1 7024C
7026C 7026AC 130 200 33 2 1 7026C
7028C 7028AC 140 210 33 2 1 7028C
7030C 7030AC 150 225 35 2. )] 7030C

PAGE/41-42
Angular contact ball bearing
SIZE TABLE
£ R =
miz ME EBE AR A
d D B rsmina rsmina
7200C | 7200AC | 7200B 10 30 9 0.6 0.15 | 0.15 7200C
7201C | 7201AC | 7201B 12 32 10 0.6 QEI SN0 S 7201C
7202C | 7202AC | 7202B 15 35 11 0.6 0.15 | 0.15 7202C
7203C | 7203AC | 7203B 17 40 12 0.6 0.3 0.3 7203C
7204C | 7204AC | 7204B 20 47 14 1 0.3 0.3 7204C
7205C | 7205AC | 7205B 25 52 15 1 0.3 0.3 7205C
7206C | 7206AC | 7206B 30 62 16 1 0.3 0.3 7206C
7207C | 7207AC | 7207B 35 2 1177 i 0.6 0.6 7207C
7208C | 7208AC | 7208B 40 80 18 1.1 0.6 0.6 7208C
7209C | 7209AC | 7209B 45 85 19 a1 0.6 0.6 7209C
7210C | 7210AC | 7210B 50 90 20 1.1 0.6 0.6 7210C
7211C | 7211AC | 7211B 55 100 21 1.5 0.6 1 7211C
7212C | 7212AC | 7212B 60 110 22 1.5 0.6 1 7212C
7213C | 7213AC | 7213B 65 120 23 1ets) 0.6 1 7213C
7214C | 7214AC | 7214B 70 125 24 1.5 0.6 1 7214C
7215C | 7215AC | 7215B 75 130 25 il:5 0.6 1 7215C
7216C | 7216AC | 7216B 80 140 26 1 1 7216C
7217C [ 7217AC | 7217B 85 150 28 1 1 7217C
7218C | 7218AC | 7218B 90 160 30 1 1 7218C
7219C | 7219AC | 7219B 95 170 32 2.1 11 i 7219C
7220C | 7220AC | 7220B 100 180 34 2.1 1.1 1.1 7220C
7221C | 7221AC | 7221B 105 190 36 2.1 1.1 1.1 7221C
7222C | 7222AC | 7222B 110 200 38 2.1 1.1 1.1 7222C
7224C | 7224AC | 7224B 120 215 40 2.1 i Lyl 7224C
7226C | 7226AC | 7226B 130 230 40 3 1.1 i | 7226C
7228C | 7228AC | 7228B 140 250 42 3 151 o il 7228C
7230C | 7230AC | 7230B 150 270 45 3 1.1 1.1 7230C




S DW BEARING PAGE/43-44

Angular contact ball bearing Angular contact ball bearing
SIZE TABLE SIZE TABLE
4 B R
mE ME OEE Ef f21 £ WMARS
o] D B rsmina rsmina
7300C | 7300AC | 7300B 10 35 11 0.6 0.3 0.3 7300C
7301C | 7301AC | 7301B 12 37 12 1 0.3 0.6 7301C
7302C | 7302AC | 7302B 15 42 13 1 0.3 0.6 7302C
7303C | 7303AC | 7303B 17 47 14 1 0.3 0.6 7303C

7304C | 7304AC | 7304B 20 52 15 T 0.6 0.6 7304C
7305C | 7305AC | 7305B 25 62 167 e 0.6 0.6 7305C
7306C | 7306AC | 7306B 30 72 19 1.1 0.6 0.6 7306C

7307C | 7307AC | 7307B 35 80 21 1.5 0.6 1 7307C
7308C | 7308AC | 7308B 40 90 23 1.5 0.6 1 7308C
7309C | 7309AC | 7309B 45 100 25 5 0.6 1 7309C
7310C | 7310AC | 7310B 50 110 27 . 1 1 7310C
7311C | 7311AC | 7311B 15) 120 29 2 1 1 7311C
7312C | 7312AC | 7312B 60 130 31 2 Fad 1.3 7312C
7313C | 7313AC | 7313B 65 140 33 251 15 1151 7313C
7314C | 7314AC | 7314B 70 150 35 2.1 1.1 11 7314C
7315C | 7315AC | 7315B 75 160 37 2.1 11 izl 7315C
7316C | 7316AC | 7316B 80 170 39 2.1 1.1 1.1 7316C
7317C | 7317AC | 7317B 85 180 41 3 1] i 7317C
7318C | 7318AC | 7318B 90 190 43 3 1.1 1.4 7318C
7319C | 7319AC | 7319B 95 200 45 3 1 151 7319C
7320C | 7320AC | 7320B 100 215 47 3 1 1l 7320C




S D W BEARING PAGE/45-46

TAPERED ROLLER BEARING

The tapered roller bearing belongs to the separation type
bearing. The inner and outer rings of the bearing have tapered
raceways. This kind of bearing can be divided into single row,
double row and four row tapered roller bearings according to the
number of rows of rollers. Single row tapered roller bearing can
bear radial load and single direction axial load. When the bearing
bears the radial load, it will produce an axial component force, so
it needs another bearing that can bear the axial force in the oppo-
site direction to balance.

TAPEREDN
ROLLER BEARING



7l [ SR R

METRIC TAPERED ROLLER BEARIN

PAGE/47-

48

T

B

S . M

[}

LN ¥ B lc IT
2 i B g F A N
—d4 ‘
METRIC TAPERED ROLLER BEARIN =
HREE #7 R~ (mm) Dimension ok #Hf (mm) Dimension iR
Bearing Designation d D T B (i r { min) r1 ( min) Weight
30202 15 35 11.75 11 10 0.6 0.6 0.053
30203 g b 40 13.25 12 11 | 1 0.081
30303 17 47 15.25 14 12 1 1 0.133
32303 17 47 20.25 19 16 1 1 0.176
32004X 20 42 15 15 12 10.6 0.6 0.102
30204 20 47 15.25 14 i2 1 1 0.127
30304 20 52 16.25 16 13 1.5 1.5 0.179
32304 20 52 22.25 21 18 1.5 1.5 244
32005X 25 47 15 15 11.5 0.6 0.6 0.118
30205 25 52 16.25 15 13 1 1 0.155
32205 25 52 19.25 18 16 1 1 0.188
33205 25 52 22 22 18 1 1 0.225
32305 25 62 25.25 24 20 1.5 1.5 0.386
30305 25 62 18.25 17 15 1.5 1.5 0.273
32305 25 62 25.25 24 20 1.5 1.5 0.386
32006X 30 55 17 17 13 1 1 0177
30206 30 62 17.25 16 14 1 1 0.236
32206 30 62 21.25 20 17 1 1 0.292
33206 30 62 25 25 19.5 1 1 0.359
303086 30 72 20.75 19 16 1.5 1.5 0.411
32306 30 72 28.75 27 23 1.5 15 0.588
320/28X 32 52 16 16 12 1 1 0.15
320/32AX 32 58 17 17 13 3.6 1 0.19
320/32X 32 58 17 17 13 1 1 0.19
32007X 35 62 18 18 14 1 1 0.231
30207 35 72 18.25 17 15 1.5 1.5 0.344
32207 35 72 24.25 23 19 1.5 1.5 0.551
33207 35 72 28 28 22 1.5 15 0.551
30307 35 80 22.75 21 18 2 1.5 0.527
32307 35 80 32.75 31 25 2 1.5 0.776
31307 35 80 2275 21 15 2 1.5 0.518
32008X 40 68 19 19 14.5 1 1 0.282
30208 40 80 19.75 18 16 1.5 15 0.434
32208 40 80 24.75 23 19 1.5 1.5 0.554
33208 40 80 32 32 25 1.5 15 0.758
30308 40 90 25.25 23 20 2 1.5 0.757
32308 40 20 35.25 33 27 2 1.5 1.06
32009X 45 75 20 20 15.5 1 1 0.354
33109 45 80 36 26 20.5 15 1.5 0.563
30209 45 85 20.75 19 16 1.5 1.5 0.502
32209 45 85 24.75 23 19 1.5 1.5 0.597
33209 45 85 32 32 25 1.5 1.5 0.818
30309 45 100 27.25 25 22 2 15 1.01
32309 45 100 38.25 39 30 2 1.5 1.43

RS AR ~F (mm) Dimension e AFETT (mm) Dimension s
Bearing Designation d D F B (] r ( min) r1 { min) Weight
32010X 50 80 20 20 15.5 1 1 0.389
33110 50 85 26 26 20 15 1.5 0.594
30210 50 20 21.75 20 17 1.5 1.5 0.566
32210 50 20 24.75 23 19 1.5 1.5 0.643
33210 50 20 32 32 24.5 1:5 1.5 0.887
30310 50 110 29.25 27 23 2:5 2 1.32
32310 50 110 42.25 40 33 2.5 2 1.89
32011X 55 90 23 23 17.5 1.5 1.5 0.569
33011 55 90 27 27 21 1:5 1.5 0.672
33111 55 95 30 30 23 1.5 1.5 0.868
30211 55 100 22.75 21 18 2 1.5 0.732
32211 55 100 26.75 25 21 2 1.5 1.18
33211 55 100 35 35 27 2 1:5 1.18
30311 55 120 31.5 29 25 2.5 2 1.65
32311 55 120 45.5 43 35 2.5 2 2.38
32012X 60 95 23 23 17.5 1.5 1.5 0.621
30212 60 110 23.75 22 19 2 1.5 0.945
32212 60 110 29.75 28 24 2 1.5 1.19
30312 60 130 33.5 31 26 3 2.5 2.08
32312 60 130 48.5 46 37 3 2.5 2.99
32013X 65 100 23 23 17.5 1.5 1.5 0.664
33113 65 110 34 34 26.5 1.5 1.5 1.33
30213 65 120 24.75 23 20 2 1.5 1.18
32213 65 120 32.75 31 27 2 1.5 1.58
33213 65 120 41 41 32 2 1.5 2.02
30313 65 140 36 33 28 3 2.5 2.56
32313 65 140 51 48 39 3 2.5 3.64
32014X 70 110 25 25 19 1.5 1.5 0.884
33014 70 110 31 31 25.5 1.5 1.5 1.09
30214 70 125 26.25 24 21 2 1.5 1.32
32214 70 125 33.25 31 27 2 1.5 1.71
30314 70 150 38 35 30 3 2.5 3.08
32314 70 150 54 51 42 3 2.5 4.5
32015X 75 115 25 25 19 1.5 1.5 0.93
33015 75 115 31 31 25.5 1.5 1.5 1.16
33115 75 125 37 37 29 2 1.5 1.84
30215 75 130 27.25 25 22 2 1.5 1.42
32215 76 130 33.25 31 27 2 1.5 1.77
33215 75 130 41 41 31 2 1.5 2.26
30315 75 160 40 37 31 3 2.5 3.65
32315 75 160 58 55 45 3 2.5 5.41
32016X 80 125 29 29 22 1:5 1.2 1.32
33116 80 130 37 37 29 2 1.2 1.93
30216 80 140 28.25 26 22 2.5 2 1.72
32216 80 140 35.25 33 28 2.5 2 2.17
33216 80 140 46 46 35 2.5 2 2.99
30316 80 170 42.5 39 33 3 2.5 4.46
32316 80 170 61.5 58 48 3 2.6 6.31
32017X 85 130 29 29 22 1.5 1.5 1.38
33017 85 130 36 36 29.5 15 1.5 1.72
33117 85 140 41 41 32 2.5 2 2.43




D W BEARING PAGE/49-50

7 I E R 4R

]
s
..

METRIC TAPERED ROLLER BEARIN - e
AR S #A< R ~F (mm) Dimension BAFETT (mm) Dimension 1
Bearing Designation d D T B C r { min) r1 ( min) Weight
30217 85 150 30.5 28 24 25 ) 217
32217 85 150 38.5 36 30 2.5 2 2.8
33217 85 150 49 49 37 2.5 2 3.63
30317 85 180 445 41 34 4 3 5.15
32317 85 180 63.5 80 49 4 3 7.42
32018X 20 140 32 32 24 2 15 1.8
33118 90 150 45 45 35 2.5 2 3.13
30218 90 160 32.5 30 26 25 2 2.65
32218 20 160 42.5 40 34 25 2 4.76
30318 90 190 46.5 43 36 4 3 6.04
32318 920 190 67.5 64 53 4 3 8.61
3209X a5 145 32 32 24 2 1.5 1.88 .
33019 95 145 39 39 32.5 2 1.5 2.31 ﬁ "r;i ';
30219 95 170 34.5 32 27 3 25 3.2 | =
32219 95 170 45.5 43 37 3 25 4.34 =
30319 95 200 49.5 45 38 4 3 6.32 =
32319 95 200 71.5 67 55 4 3 9.35 .-
32020X 100 150 32 32 24 2 1.5 1.95 i
30220 100 180 37 34 29 3 25 3.83 >
32220 100 180 49 46 39 3 25 5.21
30320 100 215 51.5 a7 39 4 3 7.76
32320 100 215 77.5 73 60 4 3 12.2
32021X 105 160 25 35 26 25 2 2.45
30221 105 190 39 36 30 3 25 4.49
32221 105 190 53 50 43 3 25 6.37 . . . .
BoAc] 165 T =55 45 3 > 5 o 7 The structure, assembly dimension accuracy and rotation accuracy of English
S29e1 105 22b 518 77 63 & o 156 tapered roller bearings are different from those of metric bearings. It is mainly used
33021 105 160 43 43 34 2.5 2 308
32022X 110 170 38 38 29 2.5 B 3.12 for imported machinery or industries with special needs.
33022 110 170 47 a7 37 25 2 3.81 . . )
30200 110 200 1 38 30 3 55 5.33 The British tapered roller bearing refers to the tapered roller bearing whose
gzgzg 118 Egg BEfE gg ;i i 23'5 :';2 overall dimensions are measured in inches, originated from Britain and the United
32024X 120 180 38 38 29 25 2 3.34 States:
30224 120 215 43.5 40 34 3 25 6.36
32224 120 215 61.5 58 50 3 25 9.04 Structure: single column, double column and four columns
33024 120 180 48 48 38 2.5 2 4.16
32026X 130 200 45 45 34 2.5 2 5.04
30226 130 230 4375 40 34 4 3 7.24
32226 130 230 B67.75 64 54 4 3 11.5
32028X 140 210 45 45 34 2.5 2 5.28
30228 140 250 45.75 42 36 4 3 8.97
32228 140 250 71.75 68 58 4 3 14.7
32030X 150 225 48 48 36 3 25 6.41 ' N . H ' A F E R E D
30230 150 270 49 45 38 4 3 11.6
32230 150 270 7 73 60 4 3 18.2
30330 150 320 72 65 55 5 4 26.6
6 | 200 | s | s | e | 4 | 5 |z ROLLER BEARING
32032X 160 240 51 51 38 3 25 775
32048X 240 360 76 76 57 4 3 26.8
32056X 280 420 87 87 65 5 4 41.7




D W BEARING PAGE/91-92

S B4 R TR i 0] B4 R TR

INCH TAPERED ROLLER BEARING 0 INCH TAPERED ROLLER BEARING

U S l 3] gmﬂ} imension REE AR <t (mm) Dimension A7 (mm) Dimension ER
‘Bearint signation d D I 5 B (e} | | Weight Bearing Designation d D T B c r { min) r1 { min) Weight
41125/41286 28.575 72.626 | 24.608 | 24257 | 17.462 4.8 1.5 0.460 HM88649/HM88610 34.925 72.233 25.400 | 25.400 | 19.842 2.3 2.3 0.500
41126/41286 28.575 72626 | 24.608 | 24257 | 17.462 1.5 1.5 0.460 HM89446/HM89410 34.925 | 76.200 33.338 | 28.575 | 23.020 3.5 3.3 0.695
F15029/L.45410 29.000 50.292 14.224 | 14.732 | 10.668 3.5 1.3 0.110 LM48548/LM48510 34.925 | 65.088 18.034 | 18.288 | 13.970 - 1.3 0.260
L45449/L.45410 29.000 50.292 14.224 | 14.732 | 10.668 3.5 118 0.110 LM48548A/LM48510 34.925 65.088 18.034 | 18.288 | 13.970 0.8 1.3 0.285
17118/17244 29.987 | 62.000 16.002 | 16.566 | 14.288 1.5 1.5 0.220 LM48548/LM48511 34.925 65.088 | 21.082 | 18.288 | 17.018 - 1.6 0.277
14117A/14276 30.000 69.012 19.845 | 19.583 | 15.875 3.5 1.3 0.360 L68149/L68110 34.980 59.131 15.875 | 16.764 | 11.938 e 1.2 -
15116/15243 30.112 61.912 19.050 | 20.638 | 14.288 0.8 2 0.260 L68149/L68111 34.988 | 59.974 15.875 | 16.764 | 11.938 > 1.3 0.180
15116/15245 30.112 62.000 19.050 | 20.638 | 14.288 0.8 1.3 - LM78349/LM78310 34.988 61.973 16.700 | 17.000 | 13.600 i 1.5 0.190
16116/15250 30.112 63.500 | 20.637 | 20.638 | 15.875 0.8 1.3 - LM78349/LKM78310A | 34.988 61.973 16.700 | 17.000 | 13.600 o 1.5 0.190
M86649/M86610 30.162 64.202 | 21.433 | 21.433 | 16.670 1.5 1.5 0.330 U298/U261+COLLER 35.000 65.000 18.100 | 20.600 | 17.000 2.3 1.3 0.255
15118/15243 30.213 61.912 19.050 | 20.638 | 14.288 3.5 2 0.260 JL681458/L.68111 35.000 59.974 15.875 | 18.461 11.938 2 1.3 0.180
15118/15245 30.213 | 62.000 19.050 | 20.638 | 14.288 3.5 1.3 0.260 JL68145/JL68111Z 35.000 59.975 15.875 | 18.461 | 11.938 =+ 1.2 —
15118/15250 30.213 | 63.500 | 20.637 | 20.638 | 15.875 3.5 1.3 - F15036/JL68111Z 35.000 | 59.975 15.875 | 18.412 | 11.938 25 1.3 0.187
15120/15243 30213.000 61.912 19.050 | 20.638 | 14.288 0.8 2 0.260 HM88648/HM88610 35.717 72.233 25.400 | 25.400 | 19.842 3.5 23 0.480
15120/15245 30.213 | 62.000 19.050 | 20.638 | 14.288 0.8 13 - 2780/2720 36.487 76.200 23.812 | 25.654 | 19.050 1.5 3.3 0.520
15120/15250 30.213 | 63.500 | 20.637 | 20638 | 15.875 0.8 13 - 25880/25820 36.487 | 73.025 23.813 | 24.608 | 19.050 41.6 24 0.458
14116/14276 30.226 69.012 19.845 | 19.583 | 15.875 0.8 1.3 0.360 HM89449/HM89410 36.512 | 76.200 | 29.370 | 28.575 | 23.020 3.5 3.3 0.620
14120/14274 30.226 69.012 19.845 | 26.721 | 15.875 4.3 3.3 - HM89249/HM89210 36.512 | 79.3756 | 29.370 | 28.829 | 22.664 3.5 3.3 0.700
14120/14276 30.226 69.012 39.705 | 26.721 | 15.875 4.3 1.3 = JL69349/JL69310 38.000 63.000 17.000 | 17.000 | 13.500 e 1.3 0.190
02475/02420 31.750 68.262 | 22.225 | 22225 | 17.462 3.6 1.6 0.370 JL69345/JL69310 38.000 63.000 17.000 | 19.000 | 13.500 o 1.3 —
14123A/14274 31.750 69.012 - 26.721 | 15.875 4.3 3.3 - 16150/16284 38.100 | 72.238 | 20.638 | 20.638 | 15.875 3.5 1.3 0.350
14124/14276 31.750 69.012 19.845 | 19.583 | 15.875 0.8 1.3 0.350 2776/2720 38.100 76.200 | 23.812 | 25.654 | 19.050 4.3 33 0.490
14125A/14274 31.750 69.012 19.845 | 19.583 | 15.875 3.6 3.2 0.340 HM801346/HM801310 | 38.100 82.550 29.370 | 28.575 | 23.020 0.8 3.3 0.760
14125A/14276 31.750 69.012 19.845 19.583 15.875 3.5 1.3 0.340 HM801346X/HM801310 38.100 82.550 29.370 28 575 23 020 23 3.3 —
15123/154243 31.750 61.912 = 19.050 | 14.288 = 2 - 2777/2720 38.100 | 76.200 23.812 | 25654 | 19.050 5.5 3.3 0.480
15123/15245 31.750 62.000 18.161 19.050 | 14.288 ** 1.3 - 2788/2720 38.100 | 76.200 | 23.812 | 25.654 | 19.050 3.5 3.3 0.490
K15123/K15245 31.750 62.000 18.161 19.050 14.288 . 1.3 0.230 2788A/2720 38.100 76.200 23.812 25.654 19.050 1.5 3.3 0.500
1512315250 31.750 63.500 = 19.060 | 15.875 ** 1.3 = 3490/3420 38.100 79.375 29.370 29.771 23.812 35 33 0.650
15123/15250X 31.750 63.500 — 19.060 | 15.875 o 1.3 0.320 418/414 38.100 88.500 | 26.988 | 29.083 | 22.225 3.5 1.5 0.820
15125/15245 31.750 62.000 19.050 | 20.638 | 14.288 3.5 1.3 0.240 25572/25520 38.100 82.931 23.812 | 25.400 | 19.050 08 0.8 0.640
16126/15243 31.750 61.912 19.050 | 20.638 | 14.288 0.8 2 0.250 13685/13621 38.100 69.012 19.050 | 19.050 | 15.083 85 2.3 0.280
15126/15245 31.750 62.000 19.050 20.638 14.288 0.8 1.3 0.250 13686/13621 38.100 69.012 19.050 26.195 18.083 1.5 23 =
15126/15250 31.750 63.500 20.637 20.638 15.875 0.8 1.3 - 13687/13621 38.100 69.012 19.050 19.050 15.083 2 23 =
2580/2520 31.750 66.421 25.400 25.357 | 20.638 0.8 3.3 - 27880/27820 38.100 80.035 24.608 23.698 | 18.512 0.8 1.5 0.560
M88046/M88010 31.750 68.262 22.225 22.225 17.462 0.5 1.5 0.400 27880/27821 38.100 80.035 23.812 23.608 17.462 0.8 1.5 0.540
LM67078/LM67010 | 31.750 59.131 15.875 | 16.764 | 11.811 i 1.3 0.170 LM29748/LM29710 38.100 65.088 18.034 | 18.288 | 13.970 o 1.3 0.220
LM67048RS/LM67010  31.750 | 59.131 15.875 | 16.764 | 11.811 " 1.3 0.170 LM29749/LM29710 38.100 | 65.088 18.034 | 18.288 | 18.970 2.3 1.3 0.220
LM67049A/LM6E7010 | 31.750 598.131 16.750 16.764 11.811 0.8 1.3 - LM29748/LM=29711 38.100 65.088 19.812 18.288 15.748 = 1.3 =
2790/2729 33.338 76.200 | 23.7756 | 25.654 | 19.050 1.5 0.8 : LM29749/LM29711 38.100 65.088 19.812 | 18.288 | 15.748 2.3 1.3 0.240
M88048/M88010 33.338 68.262 22.225 22.225 17.462 0.8 1.5 0.370 U399/U360+collar 39.688 73.025 19.395 22 098 15.265 23 1.3 0.357
14136A/14274 34.925 69.012 — 26.721 15.875 0.8 3.3 = U399/U365+collar 39.688 79.967 18.395 | 22.098 | 15.265 2.3 1:3 0.454
14136A/14276 34.925 69.012 26.982 26.721 15.875 0.8 1.2 — 3382/3328 39.688 84.138 29.370 30.391 23 812 a5 3.3 —
14137A/14276 34.925 | 69.012 | 19.845 | 19.583 | 15.875 1.5 1.3 0.820 28158/283200 30.688 | 76.200 | 20.638 | 20.940 | 15.507 1.5 1.3 0.380
14138A/14274 34.9256 | 69.012 | 19.845 | 19.583 | 15.875 3.6 3.2 0.320 LM300849/LM300811 40.000 | 67.975 | 17.500 | 118.000 | 13.500 o 1.5 0.230
14138A/14276 34.925 69.012 19.845 19.583 16.875 3.5 1.3 0.320 3585/3525 40.988 87.312 30.162 30.886 23.812 1.5 3.3 0.820
3379/3320 34.925 80.167 29.370 30.391 23.812 3.5 3.3 0.710 24780/24720 41.275 76.200 220225 23.020 17.462 3.5 0.8 0.410
25877/25820 34.925 73.025 23.812 24.608 19.050 1.5 2.3 0.460 26882/26823 41.275 76.200 25.400 25.400 20.638 35 1.5 -
25877/25821 34.925 | 73.025 | 23.812 | 24.608 | 19.050 1.5 0.8 0.460 18590/28520 41.275 | 73.025 | 16.667 | 17.462 | 12.700 35 1.5 0.270
31594/31520 34.925 | 76.200 | 29.370 | 28.570 | 23.812 1.5 3.3 0.620 M802048/M802011 41.275 | 82550 | 26.543 | 25.654 | 20.193 35 3.3 0.620




DWBEARING

I 1l (B2 4 1% Tk

INCH TAPERED ROLLER BEARING

1 S—
]

R

e il (B SR

INCH TAPERED ROLLER BEARING

PAGE/93-94

HhARE S AR~ (mm) Dimension FARFRTT (mm) Dimension i
Bearing Designation d D T B C r { min) ri1 ( min) Weight
HMB803146/803110 41.275 88.900 30.162 29.370 23.020 3.5 3.3 0.890

LM501349/LM501310 41.275 73.431 19.558 19.812 14.732 3.5 0.8 0.320
LM501349/LM501310 41.275 73.431 21.430 19.812 16.604 3.5 0.8 0.340
25577/25520 42.875 82.931 23.812 25.400 19.050 3.5 0.8 0.580
25577/25521 42.875 83.058 23.812 25.400 19.050 3.5 3.3 0.580
25577/25523 42.875 82.931 26.988 25.400 22.225 3.6 2.4 0.580
18685/18620 44.450 79.375 17.462 17.462 13.495 2.8 1.5 -
25580/25520 44,450 82.931 23.812 25.400 19.050 3.5 0.38 —
k25580/25520 44.450 82.931 23.813 25.400 19.050 3.6 0.8 0.550
25580/25523 44.450 82.931 26.988 25.400 22.225 3.5 2.3 0.590
25580/25521 44.450 83.058 23.813 25.400 19.050 3.5 3.3 -
25580/25522 44.450 83.058 23.876 25.400 19.114 35 2 0.560
25581/25520 44.450 82.931 23.812 25.400 19.050 0.5 0.8 0.560
25582/25520 44.450 82.931 23.812 25.400 19.050 5 0.8 0.550
HMB801349/803110 44,450 88.900 30.162 29.370 23.020 3.5 33 0.840
438/429XS 44.450 90.000 26.988 29.900 25.400 3.5 3.3 0.840
3782/3720 44,450 93.264 30.162 30.302 23.812 3.5 3.3 0.950
LM903249/L,903210 44.450 92.250 30.958 28.575 22.225 3.5 0.8 1.010
HMB807040/HM807010 44.450 104.775 36.512 36.512 28.575 3.5 3.3 1.620
HM903249/HM903210 44.450 95.250 30.958 28.575 22.225 35 0.8 1.000
HM903249A/HMS031210 44.450 95.250 30.958 28.300 22.225 35 0.8 1.000
55175C/55437 44.450 111.125 30.162 26.909 20.638 35 33 1.440
K55175/55437 44.450 111.125 30.162 26.909 |20638.000 3.6 3.2 1.440
3776/3720 44.983 93.264 30.162 30.302 23.812 35 33 0.940
U497/U460L 44 987 79.975 24.000 26.000 18.000 23 1.3 0.511
HM903248/HM203210 44.988 95.250 30.958 28.588 22.225 35 0.8 0.990
U497/U460L 45.000 80.000 23.740 26.000 22.000 23 1.3 0.511
U497/U460L+collar 45.000 80.000 23.740 26.000 22.000 23 1.3 0.511
17887/17831 45.230 79.985 19.842 20.638 15.080 2 1.2 0.403
LMB03049/LM603011 45.242 77.788 19.842 19.842 15.080 35 0.8 0.360
LMB03049/LMB03012 45.242 77.788 21.430 19.842 16.667 35 0.8 0.370
LMB03049/LMB03014 45.242 80.000 19.842 19.842 15.080 35 0.8 0.390
LM102949/LM102910 45.242 73.431 19.558 19.812 15.748 3.5 0.8 0.310
25590/25520 45.618 82.931 23.812 25.400 19.050 3.5 0.8 0.540
25590/25521 45.618 83.058 23.812 25.400 19.050 3.5 3.3 0.530
25590/25523 45.618 82.931 26.988 25.400 22.225 3.5 2.3 0.580
LM503349/LM503310 45.987 74.976 18.000 18.000 14.000 23 1.5 0.300
LM503349A/LM503310 45.987 74.976 18.000 18.000 14.000 33 1.5 -
18690/18620 46.038 79.375 17.462 17.462 13.495 28 1.5 0.330
18780/18720 46.038 85.000 17.462 17.462 13.495 23 1.5 -
M804048/M804010 47.625 88.900 25.400 25.400 19.050 0.8 33 0.660
386A/382A 46.625 96.838 21.000 21.946 15.875 0.8 0.8 -
386A/382S 46.625 96.838 25.400 21.946 20.274 0.8 23 -

528/522 46.625 101.600 34.925 36.068 26.988 3.5 3.3 1.290

JHM807045/JHM807012 50.000 105.000 37.000 36.000 29.000 3 25 152.000
JM205149/JM205110 50.000 90.000 28.000 28.000 23.000 3 25 0.740
JLM104948/JLM104910 50.000 82.000 21.500 21.500 17.000 3 0.5 0.410
HMB807046/HM8077010 50.800 104.775 36.512 36.512 28.570 3.5 3.3 1.490
LM104949/LM104910 50.800 82.000 21.976 22.225 17.000 3.5 0.5 0.420

RS AR~ (mm) Dimension B ERTT (mm) Dimension i
Bearing Designation d D T B (] r ( min) r1 ( min) Weight
LM104949/LM104911 50.800 82.550 21.590 22.225 16.510 3.5 1.3 0.420
LM104949/LM104912 50.800 82.931 21.590 22.225 16.510 3.5 1.3 -
18790/18720 50.800 858.000 17.462 17.462 13.495 3.5 1.5 0.360
3784/3720 50.800 93.264 30.162 30.302 23.812 6.4 3.3 0.820
3780/3720 50.800 93.264 30.162 30.302 23.812 35 3.3 0.840
3780/3730 50.800 93.264 30.162 30.302 23.812 3.5 0.8 0.850
3775/3720 50.800 93.264 30.162 30.302 23.812 0.8 3.3 0.850
368/362A 50.800 88.900 20.638 22.225 16.513 1.5 1.3 0.500
368A/362 50.800 90.000 20.000 22.225 15.875 3.5 2 0.510
368A/362A 50.800 88.900 20.638 22.225 16.513 3.5 1.3 0.510
368A/362X 50.800 90.000 20.000 22.225 15.875 3.6 2 0.510
28580/28521 50.800 92.075 24.608 25.400 19.845 3.5 0.8 0.690
28678/28622 50.800 97.630 24.608 24.608 19.446 35 0.8 0.830
28678/28622B 50.800 97.630 24.608 24.608 1.446 3.5 0.8 0.830
59200/59412 50.800 104.775 36.512 36.512 28.575 3.5 3.3 1.390
65200/65500 50.800 127.000 44.450 44.450 34.925 3.5 3.3 2.870
455/453A 50.800 107.775 27.783 29.317 22,225 0.8 0.8 1.234
K45284/K45220 50.800 104.775 30.162 30.958 23.812 6.4 3.3 1.190
45285/45220 50.800 104.775 30.162 30.958 23.812 2.3 3.3 1.210
368S5/362A 51.592 88.900 20.638 22.225 16.513 2 1.3 0.490
3767/3720 52.388 93.264 30.162 30.302 2.812 2.3 3.3 0.810
28584/28521 52.388 92.075 24.608 25.400 19.845 3.5 0.8 0.660
389AS/382A 53.975 96.838 21.000 21.946 15.875 1:5 0.8 -
389AS/382S 53.975 96.838 25.400 21.946 20.274 1.5 2.3 -
45287/45220 53.975 104.775 30.162 30.958 23.812 0.8 3.3 1.150
539/532X 53.975 107.950 36.512 36.957 28.575 3.5 33 1.440
539/532X 53.975 111.125 38.100 36.957 33.338 3.5 3.3 1.660
72212C/72487 53.975 123.825 36.512 32.791 25.400 3.5 3.3 2.120
78215C/78551 53.975 140.030 36.512 33.236 23.520 3.5 2.3 2.740
JM207049/JM207010 55.000 95.000 29.000 29.000 23.500 1.5 2.5 0.840
JLM506849/JLM506810 55.000 90.000 23.000 23.000 18.500 1.5 0.5 0.550
28680/28622 55.562 97.630 24.608 24.608 19.466 3.5 0.8 0.750
387/382 57.150 98.425 21.000 21.946 17.826 2.4 0.8 0.610
387/382A 57.150 96.838 21.000 21.946 15.875 2.3 0.8 0.580
387/382S 57.150 96.838 25.400 21.946 20.274 2.4 2.4 0.640
387A/382 57.150 98.425 21.000 21.946 17.826 3.5 0.8 0.620
387A/382A 57.150 96.838 21.000 21.946 15.875 3.5 0.8 0.570
387A/382S 57.150 96.838 25.400 21.946 20.274 35 2.3 0.640
387A/383A 57.150 100.000 21.000 21.946 17.826 3.5 2 0.650
28682/28622 57.150 97.630 24.608 24.608 19.446 3.5 0.8 0.730
387AS/382A 57.150 96.838 21.000 21.946 15.875 5 0.8 0.560
387AS/382S 57.150 93.838 25.400 21.946 20.274 5 2.4 0.640
3875/382S 57.150 96.838 25.400 21.946 20.274 0.8 23 0.640
387S/383A 57.150 100.000 - 21.946 17.826 0.8 2 -
390/394A 57.150 110.000 22.000 21.996 18.824 2.3 1.3 0.930
462/453X 57.150 104.775 30.162 29.317 24.605 2.3 3.3 1.040
5555/552A 57.150 123.825 38.100 36.678 30.162 3.5 3.3 2.140
HM911244/HM911216 59.987 134.983 33.449 30.925 21.948 3.6 3.6 2.176
JLM508748/JLM508710 60.000 95.000 24.000 24.000 19.000 5 2.5 63.000




DWBEARING

I 1l (B2 4 1% Tk

INCH TAPERED ROLLER BEARING

1 S—
]

R

e il (B SR

INCH TAPERED ROLLER BEARING

PAGE/39-36

HARES 2 R~ (mm) Dimension EAEHTE (mm) Dimension W
Bearing Designation d D T B (&; r ( min) r1 ( min) Weight
3980/3920 60.325 112.712 30.162 30.048 23.812 3.6 8.3 1.290
5568/5662 60.325 123.825 38.100 36.678 33.338 2.3 3.3 2.120
28985/28921 60.325 100.000 25.400 25.400 19.845 3.6 3.3 -
28598/28920 60.325 101.600 25.400 25.400 19.845 3.5 3.3 79.000
390A/394AS 63.500 110.000 22.000 21.996 18.821 1.5 3.3 0.820
L610549/L610510 63.500 94.458 19.050 19.050 15.083 1.5 1.5 0.450
3982/3920 63.500 112.712 30.162 30.048 2.812 3.5 3.3 1.220
HM212047/HM212011 63.500 122.238 38.100 38.354 29.718 7 3.3 1.910
559/552A 63.500 123.825 38.100 36.678 30.163 25 2.3 1.930
29585/29520 63.500 107.950 25.400 25.400 19.050 35 33 0.910
29585/29521 63.500 110.000 25.400 25.400 19.050 5.5 1.3 0.980
JM511946/JM511910 65.000 110.000 28.000 28.000 22.500 3 25 1.050
JLM710949/JLM710910 65.000 102.000 24.000 23.000 18.500 3 13.3 0.720
HM212049/HM212011 66.675 122.238 38.100 38.354 29.718 3.5 13 1.384
395A/394A 66.675 110.000 22.000 21.996 18.824 0.8 1.3 1.060
395S5/394A 66.675 110.000 22.000 21.996 18.824 3.5 3.3 0.780
29590/29520 66.675 107.950 25.400 25.400 19.050 3.5 0.8 0.840
29590/29522 66.675 107.950 25.400 25.400 19.050 3.6 3.3 0.864
39590/39520 66.675 112.712 30.162 30.620 23.812 3.5 3.3 1.130
3984/3920 66.675 2. 712 30.162 30.048 23.812 3.5 3.3 0.780
3994/3920 66.675 112.712 30.162 30.048 23.812 5.5 1.3 1.150
399A/394A 68.262 110.000 22.000 21.996 18.824 2.3 1.8 0.740
399AS5/394A 68.262 110.000 22.000 21.996 18.824 58 3.3 0.720
560S8552A 68.262 123.825 38.100 36.678 30.162 3.5 2 1.840
482/472 69.850 120.000 29.795 29.007 24.237 3.5 3.3 1.320
33275/33462 69.850 117.475 30.162 30.162 23.812 3.5 0.8 1.250
32275/33472 69.850 120.000 29.794 30.163 23.444 3.6 3.3 1.250
H913849/H9138710 69.850 146.050 41.275 39.688 25.400 35 3.3 2.850
47487/47420 69.850 120.000 32.545 32.525 26.195 3.5 33 1.460
47487/47420X 69.850 120.000 32.545 32.525 26.915 3.5 25 1.460
JMB12949/UME612910 70.000 115.000 29.000 29.000 23.000 3 25 1.130
JLM813049/JLMB13010 70.000 110.000 26.000 25.000 20.500 1 2 0.880
484/472 70.000 120.000 29.794 29.007 24.237 2 3.3 13.000
33281/33462 71.438 117.475 30.162 30.162 23.812 3.5 3.3 1.180
567/563 73.025 127.000 36.512 30.170 28.575 5.5 3.3 1.790
29685/29620 73.025 112.712 25.400 25.400 19.050 3.5 3.3 0.880
33287/33462 73.025 117.475 30.162 30.162 23.812 3.5 0.8 1.170
33287/33472 73.025 120.000 2.794 30.162 23.444 3.5 3.3 1.260
575/572 76.200 139.992 36.512 .36.098 28.575 3.5 3.3 2.370
K575/572 76.200 139.992 36.512 36.098 28.575 3.5 3.2 2.370
K495A/493 76.200 136.525 30.162 27.769 22.225 3.6 3.3 1.800
755/752 76.200 161.925 47.625 48.260 38.100 3.5 3.3 4,680
9285/9220 76.200 161.925 49.212 40.038 31.750 3.5 3.3 4.240
9378/9320 76.200 117.800 52.387 50.800 34.925 3.5 3.3 6.050
42687/42620 76.200 127.800 30.162 31.000 22.225 3.5 3.3 1.450
HH221430/HH221410 76.200 190.500 57.150 57.531 46.038 3.5 3.3 8.860
JM515649/JM515610 80.000 130.000 35.000 34.000 28.500 3 2.5 1.700
740742 80.962 150.089 44.450 46.672 36.512 5 3.3 3.390
495/493 82.550 136.525 30.162 29.769 22.225 3.5 3.3 1.600

R ES AR ~F (mm) Dimension FEAFET (mm) Dimension IR
Bearing Designation d D il B C r { min) r1 ( min) Weight
580/572 82.550 139.992 36.512 36.098 28.575 3.5 3.3 2.140
582/572 82.550 13.992 36.512 36.098 28.575 6.8 3.3 2.100
663/652 82.550 152.400 41.275 41.275 31.750 3.5 3.3 3.120
663/653 82.550 146.050 41.275 41.275 31.750 3.5 3.3 2.750
842/832 82.550 168.275 53.975 56.363 41.275 3.5 3.3 5.480
27687/27620 82.550 15.412 25.400 25.400 19.845 3.5 15 1.040
47686/47620 82.550 133.350 33.338 33.338 26.195 3.5 3.3 1.690
47687/47620 82.550 133.350 33.338 33.338 26.195 6.8 3.3 1.660
9833598788 85.000 200.000 52.761 49.212 34.925 3.5 3 7.760
JM16649/JM716610 85.000 130.000 30.000 29.000 24.000 3 2.5 1.350
749/742 85.026 150.089 44.450 46.672 36.512 3.5 3.3 3.210
497/493 85.725 13.525 30.162 29.769 22.225 3.5 3.3 1.500
497A/493 85.725 136.525 30.116 29.769 22.225 6.4 3.3 1.470
596/592A 85.725 152.400 39.688 36.322 30.162 3.5 33 286.000
593/592A 88.900 152.400 39.688 36.322 30.162 3.5 3.3 2.730
759/752 88.900 161.925 47.625 48.260 38.100 3.5 3.3 4.060
B8580/6535 88.900 161.925 53.975 55.100 42.862 3.5 3.3 4.870
K6580/K6535 88.900 161.925 53.975 55.100 42.862 3.5 3.3 4.670
98350/98788 88.900 200.000 52.761 49.212 34.925 3.5 3.3 7.550
L217849/L.217810D 88.900 123.825 50.797 20.638 42.862 1.5 0.8 -
K-HM518445/HM518410 88.900 152.400 39.688 39.688 30.162 6.4 3.2 -
HM518445/HM518410 88.900 152.400 39.688 39.688 30.162 6.4 33 2.810
HM218248/HM218210 89.974 146.975 40.000 40.000 32.500 F3 35 2.360
JM718149A/UM718110 90.000 145.000 35.000 34.000 27.000 6 25 2.090
KJM718148/LUM718110 90.000 145.000 35.000 34.000 27.000 3 2.5 2.120
598/592A 92.075 152.400 39.688 36.322 30.162 3.5 3.3 2.610
5598A/5952A 92.075 152.400 39.688 36.322 30.162 6.4 3.3 2.570
594/593X 95.250 150.000 35.992 36.322 27.000 3.5 3 2.210
594/592 95.250 152.400 39.688 36.322 33.338 3.5 3.3 2.500
594A/592A 95.250 152.400 39.688 36.322 30.162 5 3.3 2.450
683/672 95.250 168.275 41.275 41.275 30.162 3.5 3.3 3.680
42381/42584 96.838 148.430 28.570 28.971 21.433 3.5 3 -
K42381/42584 96.838 148.430 28.575 28.971 21.433 3.6 3 1.660
90381/90744 93.838 188.942 50.800 46.038 31.750 3.05 3.3 5.680
943/932 998.415 | 212.725 66.675 66.675 53.975 3.5 3.3 11.280
HH221442/HH221410 98.425 190.500 B7. 150 57.531 46.038 3.5 3.3 7.349
HM220149/HM220110 99.975 156.975 42.000 42.000 34.000 8 3.5 2.750
JP10049/JP10010 100.000 145.000 24.000 22.500 17.500 3 3 0.910
JM720249/JM720210 100.000 155.000 36.000 35.000 28.000 3 2.5 2.370
JHM720249/JNM720210 100.000 160.000 41.000 40.000 32.000 3 2.5 3.000
687/672 101.600 168.275 41.275 41.275 30.162 3.5 3.3 3.360
780/772 101.600 180.975 47.625 48.006 38.100 3.5 3.3 5.020
HH923649/HH923610 101.600 | 250.825 76.200 73.025 508.000 6.4 6.4 17.400
HH923649/HH923611 101.600 | 250.825 76.200 73.025 50.800 6.4 3.3 17.500
H924033/H924010 101.600 | 214.312 55.662 52.388 39.688 3.5 3.3 9.070
861/854 101.600 190.500 5.150 57.853 44.450 8 3.3 6.800
941/932 101.600 | 212.725 66.675 B66.675 53.975 7 3.3 10.900
52400/52618 101.600 167.162 36.512 36.116 26.195 3.5 3.3 2.390
HH22149/HH221410 101.600 190.500 57.150 57.531 46.038 8 3.3 7.200




DWBEARING

I 1l (B2 4 1% Tk

INCH TAPERED ROLLER BEARING

1 S—
]

R

o B4R TR

INCH TAPERED ROLLER BEARING

PAGE/97-98

HhAREI S A R~ (mm) Dimension AR HTE (mm) Dimension E
Bearing Designation d D T B c r ( min) r1 ( min) Weight
98400/98788 101.600 | 200.000 52.761 49.212 34.925 3.5 3.3 6.820
52400/52638 101.600 | 161.925 39.688 36.116 29.370 3.5 8.3 2.800
782/772 104.775 | 180.975 47.625 48.006 38.100 3.5 3.3 4.830
K782/K772 104.775 | 180.975 47.625 48.006 38.100 3.5 3.3 4.830
786/772 104.775 | 180.975 47.625 48.006 38.100 6.4 3.3 4.790
787/772 104.775 | 180.975 47.625 48.006 38.100 7 3.3 4.780
71412/71750 104.775 | 190.500 47.625 49.212 34.925 3.5 3.3 5.770
56418/56650 106.362 | 165.100 36.512 36.512 26.988 3.5 3.3 2.700
L521949/L521910 107.950 | 146.050 21.433 21.433 16.670 1.5 1.5 -
936/932 107.950 | 212.725 66.675 66.675 53.975 8 3.3 10.400
48190/48120 107.950 11.925 34.925 34.925 26.988 3.5 3.3 2.340
56425/56650 107.950 | 165.100 36.512 36.512 26.988 3.5 33 2.620
45425/56662 107.950 | 168.275 36.512 36.512 26.988 85 33 2.790
HH224340/HH224310 107.950 | 212.725 66.675 66.675 53.975 8 3.3 11.000
71425/71750 107.950 | 190.500 47.625 49212 34.925 3.58 33 5.560
56426/56650 107.950 | 165.100 36.512 36.512 26.988 8 3.3 2.620
64432/64700 109.974 | 177.800 41.275 41.275 30.162 3.5 3.3 3.700
LIM522548/LM522510 109.987 | 159.987 34.925 34.925 26.987 8 3.3 2.200
LM52249/LM522510 109.987 | 159.987 34.925 34.925 26.987 3.5 3.3 2.270
64433/64700 109.992 | 177.800 41.275 41.275 30.162 3.5 3.3 3.700
JHM522649/JHMN522610| 110.000 | 180.000 47.000 46.000 38.000 3 2.5 4.500
JM822049/JM822101 110.000 | 165.000 35.000 35.000 26.500 3 2.5 2.450
H924045/H924010 111.125 | 214.312 55.562 52.388 39.688 3.5 3.3 8.410
938/932 114.300 | 212.725 66.675 66.675 53.975 7 3.3 9.840
64450/64700 114.300 | 177.800 41.275 41.275 30.162 3.5 3.3 3.450
64450/64708 114.300 | 180.000 41.275 41.275 30.162 3.5 33 3.590
68450/68712 114.300 | 180.975 34.925 31.750 25.400 3.5 3.3 2.880
HM926740/HM926710 114.300 22.600 53.975 49.428 3.100 3.5 3.3 9.670
HH926744/HH926710 114.300 | 273.050 82.550 82.550 53.975 6.4 6.4 22.700
HH926744/HH926716 114.300 | 279.400 82.550 82.550 53.975 6.4 6.4 23.900
71450/71750 114.300 | 190.500 47.625 49.212 34.925 3.5 3.3 5.140
EE197045/197100 114.300 | 254.000 77.787 74.612 49.212 33 6.4 18.190
HH224346/HH224310 114.300 | 212.725 66.675 66.675 53.975 7 3.3 10.400
LM122948/LM122911 114.300 | 158.750 34.925 34.925 30.162 3.3 3.3 1.990
71453/71750 115.087 | 190.500 47.625 49.212 3.925 3.5 3.3 5.080
68462/68709 117.475 | 179.974 34.925 31.750 25.400 3:5 0.8 2.700
68462/68712 117.475 | 180.975 34.925 31.750 25.400 3.5 3.3 2.740
68463/68712 117.475 | 180.975 34.925 31.750 25.400 8 33 2.660
HM124646/HM124618XD | 119.062 | 195.262 | 136.778 | 57.150 | 142.875 1.5 1 11.490
M224748/M224710 0.120 174.625 35.720 36.512 27.783 3.5 1.5 -
JP12049/JP12010 120.000 | 170.000 27.000 25.000 19.500 3 3 1.730
97472X/97905X 120.000 | 230.000 53.975 49.428 38.100 3.5 3.3 9.160
795/792 120.650 | 206.375 47.625 47.625 34.925 3.3 3.3 6.340
L724349/L724310 120.650 | 166.688 25.400 25.400 19.050 3.3 3.3 1.550
48282/48220 120.650 | 182.562 39.689 38.100 33.338 3.5 3.3 3.670
HH926749/HH926710 120.650 | 273.050 82.550 82.550 53.975 6.4 6.4 21.900
HM624749/HM6E24710 120.650 | 190.500 46.038 46.038 34.925 3.5 15 4.660
M224749/M224710 120.650 | 174.625 35.720 36.512 27.783 3.5 0.5 5
M224749/M224711 120.650 | 172.242 35.720 36.512 27.783 3.5 1.5 -
HH228340/HH228310 120.650 | 254.000 77.788 82.550 61.912 9.7 6.4 19.400

RS # 7 R ~tH(mm) Dimension It A& 3% fo1(mm) Dimension &k
Bearing Designation d D T B C r(min) ri{min) Kg
48286/48220 123.825 182.562 39.688 38.100 33.338 3.5 3.3 3.51
HM125948/HM125910 123.825 204.775 55.562 60.325 45.237 3.3 3.3 7.16
LL225749/LL225710 127.000 165.895 18.258 17.4862 13.495 1.5 1.5 0.91
74500/74850 127.000 215.900 47.625 47.625 34.925 35 3.3 7.02
95500/95925 127.000 234.950 63.500 63.500 49.212 6.4 3.3 11.80
HH228349/HH228310 127.000 254.000 77.788 82.550 61.912 9.7 6.4 18.60
HH932132/HH932110 127.000 | 304.800 88.900 82.550 57.150 6.4 6.4 30.00
HM926749/HM926710 127.792 | 228.600 53.975 49.428 38.100 3.5 3.3 8.67
799/792 128.588 206.375 47.625 47.625 34.925 3.3 3.3 5.70
4CB130 130.000 185.000 29.000 27.000 21.000 3.0 3.0 2.55
JP13049A/JP13010 130.000 185.000 29.000 27.000 21.000 6.0 3.0 2.20
67389/67320 130.175 203.200 46.038 46.038 38.100 3.5 3.3 4.95
799A/792 130.175 206.375 47.625 47.625 34.925 35 3.3 5.64
LL327049/LL327010 133.350 173.038 19.050 17.462 14.288 155 1.5 1.01
L327249/L327210 133.350 177.008 25.400 26.195 20.638 1.5 1.5 1.71
L826949/826914 133.350 184.150 25.400 25.400 18.258 3.3 3.3 1.85
48385/48320 133.350 190.500 39.688 39.688 33.338 3.5 3.3 3.55
67390/67322 133.350 196.850 46.038 46.038 38.100 3.5 3.3 4.71
74525/74850 133.350 215.900 47.625 47.625 34.925 3.5 3.3 6.49
95525/955925 133.350 234.950 63.500 63.500 49.212 9.7 3.3 111
48393/48320 136.525 190.500 39.688 39.688 33.338 3.5 3.3 3.33
LM229139/LM229110 136.525 194.975 33.000 33.000 27.500 3.5 3.5 3.10
LL428349/LL428310 139.700 180.975 21.433 21.433 16.670 1.5 1.5 1.30
74550/74845 139.700 214.975 47.625 47.625 34.925 3.5 3.3 5.9
74550/74850 139.700 222.500 34.925 34.925 23.812 3.5 3.3 5.99
73551/73875 139.700 228.600 57.150 57.150 44.450 6.4 3.3 4.25
B898A/892 139.700 236.538 57.150 57.150 44.450 3.5 3.2 B8.63
HM231132/HM231110 139.700 254.000 66.675 66.675 47.625 7.0 3.3 10.05
99550/99100 139.700 288.925 82.550 82.550 57.150 9.7 6.4 14
HH231649/HH231610 139.700 295.275 82.550 82.550 57.160 9.7 6.4 24.2
HH234031/HH234010 139.700 307.975 88.900 88.900 66.675 9.7 6.8 31.2
JP14049/JP14010 140.000 195.000 29.000 29.000 21.000 3.0 3.0 2.5
4CB140 140.000 195.000 29.000 29.000 21.000 3.0 3.0 2.5
36686/36620 142.875 193.675 28.575 28.575 23.020 1.6 1.6 2.43
LM229146/LM229110 142.875 194.975 33.000 33.000 27.500 3.5 3.5 2.74
48684/48620 142.875 200.025 41.275 39.688 34.130 8.0 3.3 3.84
73562/73875 142.875 222.250 34.925 31.623 23.812 3.5 1.5 4.08
LL529749/LL529710 146.050 188.120 22.225 20.638 16.670 1.6 1.5 1.39
36690/36620 146.050 193.675 28.575 28.575 23.020 1.5 3.3 2.26
B82576/82931 146.050 236.538 57.150 56.642 44.450 3.5 3.3 9.24
HM231140/HM231110 146.050 236.538 57.150 56.642 44.450 3.5 3.3 9.53
99575/99100 146.050 254.000 66.675 66.675 47.625 7.0 6.4 13.20
EE107057/107105 146.050 268.288 74.612 74.612 57:150 6.4 6.4 18.80
HH932145/HH932110 146.050 304.800 88.900 82.550 57.150 6.4 3.3 27.80
HM231148/HM231110 149.225 236.538 57.150 56.642 44.450 6.4 3.3 9.15
99587/99100 149.225 254.000 66.675 66.675 47.625 70 3.3 12.70
JL730646/JL730612 150.000 205.000 28.575 28.575 21.438 3.3 3.3 2.69
L630349/L630310 152.400 192.088 25.000 24.000 19.000 2.0 2.0 1.56
L730649/L730610 152.400 203.200 28.575 28.575 21.438 3.3 3.3 2.43
LM330448/LM330410 152.400 203.200 41.275 41.275 34.925 3.3 3.3 3.48




S D W BEARING PAGE/99-60

THRUST BALL BEARING

Composition of thrust ball bearing: the thrust ball bearing
consists of race, shaft ring and steel ball cage assembly. The
shaft ring matched with the shaft and the seat ring matched with
the housing.

It can be divided into one-way thrust ball bearing and
two—way thrust ball bearing according to the stress condition.
One way thrust ball bearing can bear one-way axial load. The
bi—directional thrust ball bearing can bear bi—directional axial
load, and the shaft ring is matched with the shaft. The bearing
with spherical mounting surface of the race has the self-aligning
performance, which can reduce the influence of installation error.
The thrust ball bearing cannot bear the radial load, and the limit
speed is low.

Purpose of thrust ball bearing: it is only applicable to the ma—

chine parts bearing one side of axial load and low speed, such as
crane hook, vertical water pump, vertical centrifuge, jack,
low—speed reducer, etc. The shaft ring, race and rolling element
of the bearing are separated and can be assembled and disas—

THRUST BALL sembled separataly.
BEARING



S D W BEARING PAGE/61-62

THRUST BALL BEARING
51000 TYPE

THRUST BALL BEARING
51000 TYPE

e EARRT/mm BEARFEHA/Kn B/ E 3K R PR¥ZZE (r/min) EARY/mm EAFE Ff/Kn /B PR PR¥E i (r/min)
7 d D T Ca Coa A ] H d D T Ca Coa A i H

51100 10 24 2 10 14 0.001 6300 9000 0.019 51109 45 65 14 27 66 0.024 3200 4500 0.14
51200 10 26 11 12.5 1L 0.002 6000 8000 0.028 51209 45 73 20 47.8 105 0.059 2200 3400 0.3
51101 12 26 9 10.2 15:2 0.001 6000 8500 0.021 51309 45 85 28 75.8 150 0.13 1700 2600 0.66
51201 2 28 11 11352 19 0.002 5300 7500 0.031 51409 45 | 100 | 39 140 262 0.36 1400 2000 1.41
51102 15 28 % 10.5 16.8 0.002 5600 8000 0.022 51110 50 70 14 202 69.2 0.027 3000 4300 0.15
51202 115 32 12 16.5 24.8 0.003 4800 6700 0.041 51210 50 78 22 48.5 112 0.068 2000 3200 0.37
51103 17 30 9 10.8 18.2 0.002 5300 7500 0.024 51310 50 95 31 96.5 202 0.21 1600 2400 0.92
51203 17 35 12 17 22, 0.004 4500 6300 0.048 51410 50 110 | 43 160 302 0.5 1300 1900 1.86
51104 20 35 10 14.5 24.5 0.004 4800 6700 0.35 51111 55 78 16 33.8 89.2 0.043 2800 4000 0.22
51204 20 40 14 20 37.5 0.007 3800 5300 0.075 SIL2ILT 55 90 25 67.5 158 0.13 1900 3000 0.58
51304 20 47 18 35 55.8 0.016 3600 4500 0.15 51311 53 105 35 115 242 0.31 1500 2200 1.28
51105 25 42 11 152 30.2 0.005 4300 6000 0.055 51411 55 | 120 | 48 182 355 0.38 1100 1700 2.51
51205 25 47 15 27.8 50.5 0.013 3400 4800 0.11 51112 60 85 17 40.2 108 0.063 2600 3800 0.27
51305 25 52 18 355 61.5 0.021 3000 4300 0.17 51212 60 95 26 135 178 0.16 1800 2800 0.66
51405 25 60 24 55.5 89.2 0.044 2200 3400 0.31 51312 60 110 | 35 118 262 0.35 1400 2000 1.37
51106 30 47 101 16 34.2 0.007 4000 5600 0.062 L4 12 60 130 | 51 200 395 0.88 1000 1600 3.08
51206 30 52 16 28 54.2 0.016 3200 4500 0:13 51413 65 90 18 40.5 112 0.07 2400 3600 0.31
51306 30 60 | 231 42.8 78.5 0.033 2400 3600 0.26 SHLILILE 65 | 100 | 27 74.8 188 0.18 1700 2600 0.72
51406 30 70 238 72.5 125 0.082 1500 3000 0.51 51213 65 115 | 36 115 262 0.38 1300 1900 1.48
51107 35 56 12 18.2 41.5 0.01 3800 5300 0.077 51313 65 140 | 56 215 448 1.14 900 1400 3.91
51207 35 62 18 39.2 78.2 0.033 2800 4000 0.21 51413 70 95 18 40.8 115 0.078 2200 3400 0.33
51307 35 68 24 959.2 105 0.059 2000 3200 0.37 51114 70 LOSE|E 21 1(3:5 188 0.19 1600 2400 0.75
51407 35 80 32 86.8 155 0.013 1700 2600 0.76 51214 70 125 | 40 148 340 0.6 1200 1800 1.98
51108 40 60 ILE! 26.8 62.8 0.021 3400 4800 0.77 51314 70 | 150 | 60 255 560 L7l 850 1300 4.85
51208 40 68 19 47 98.2 0.05 2400 3600 0.26 51414 75 100 19 48.2 140 0.11 2000 3200 0.38
51308 40 78 26 69.2 135 0.096 1900 3000 0.53 51115 75 11107 24 74.8 198 0.21 1500 2200 0.82
51408 40 90 36 112 205 0.22 1500 2200 1.06 51315 75 | 135 | 44 162 380 0.77 1100 1700 2.58

51415 iS5 160 65 268 615 2 800 1200 6.08




S D W BEARING PAGE/63-64

THRUST BALL BEARING
51000 TYPE

THRUST BALL BEARING
51000 TYPE

P BEARS/mm BEAREEE A/ Kn S UNRER =S B PREZE(r/min) HEAZIEEM/Kn BB g TR PREEE(r/min) E8/Kg
=70 g im0l Ca Coa A E S Ca Coa A = S

51116 80 | 105 | 19 48.5 145 0.12 1900 3000 0.4 51128 140 | 180 | 31 110 402 0.84 1200 1800 1.85
51216 80 | 115 | 28 83.5 272 0.27 1400 2000 0.9 51228 140 | 200 | 46 190 598 1.96 850 1300 4.27
51316 80 | 140 | 44 160 380 0.81 1000 1600 2.69 51328 140 | 240 | 80 395 1230 7.84 560 800 14.1
51416 80 | 170 | 68 292 692 2.55 750 1100 12 51428 140 | 280 | 112 630 2010 209 400 560 32.2
51117 85 110 19 49.2 150 0.13 1800 2800 0.42 51130 150 | 190 | 31 110 415 0.93 1100 1700 1.95
51217 85 | 125 | 31 102 280 0.41 1300 1900 1.21 51230 150 | 215 | 50 242 768 3.06 800 1200 5.52
51317 85 | 150 | 49 208 495 1.28 950 1500 3.47 51330 150 | 250 | 80 405 1310 8.8 530 750 14.9
51417 85 | 180 | 72 318 782 3.24 700 1000 8.28 51430 150 | 300 | 120 670 2240 27.9 380 530 38.2
51118 90 | 120 | 22 65 200 0.21 1700 2600 0.65 51132 160 | 200 | 31 110 428 1.01 1000 1600 2.06
51218 90 | 135 | 35 115 315 0.52 1200 1800 1.65 51232 160 | 225 | 51 240 768 3.23 750 1100 5.91
51318 90 | 155 | 50 205 495 1.34 900 1400 3.69 51332 160 | 270 | 87 470 1570 12.8 500 700 18.9
51418 90 | 190 | 77 325 825 3.1 670 950 9.86 51134 170 | 215 | 34 135 528 1.48 950 1500 271
51120 100 | 135 | 25 85 268 0.37 1600 2400 0.95 51234 170 | 240 | 55 280 915 4.48 700 1000 7.31
51220 100 | 150 | 38 132 375 0.75 1100 1700 L2 51334 170 | 280 | 87 470 1580 13.8 480 670 22.5
51320 100 | 170 | 55 235 595 1.88 800 1200 4.86 51136 180 | 225 | 34 135 528 1.56 900 1400 2717
51420 100 | 210 | 85 400 1080 6.17 600 850 13.3 51236 180 | 250 | 56 285 958 4.91 670 950 7.84
51122 110 | 145 | 25 87 288 0.34 1500 2200 1.03 51336 180 | 300 | 95 518 1820 17.9 430 600 28.7
51222 110 | 160 | 38 138 412 0.89 1000 1600 239 51138 190 | 340 | 37 172 678 2.41 850 1300 3.61
51322 110 | 190 | 63 278 755 2.97 700 1100 7.05 51238 190 | 270 | 62 328 1160 69.7 630 900 10.5
51422 110 | 230 | 95 490 1390 10.4 530 750 20 51338 190 | 320 | 105 608 2220 26.7 400 560 41.1
51124 120 | 155 | 25 87 298 0.48 1400 2000 1.1 51140 200 | 250 | 37 172 698 2.6 800 1200 3.77
51224 120 | 170 | 39 135 412 0.96 950 1500 2.62 51240 200 | 280 | 62 332 1210 7.59 600 850 ALl
51324 120 | 210 | 70 330 945 4.58 670 950 9.54 51340 200 | 340 | 110 600 2220 28 360 500 44
51424 120 | 250 | 102 412 1220 12.4 480 670 25.5 51144 7900 2700|037 188 782 3.35 750 1100 4.6
51126 130 | 170 | 30 108 375 0.74 1300 1900 1.7 51244 220 | 300 | 63 365 1360 10.3 560 800 13.7
51226 130 | 190 | 45 188 515 1375 900 1400 3.93 51148 240 | 300 | 45 258 1040 5.95 700 1000 7.6
51326 130 | 225 | 75 358 1070 5.91 600 850 11.7

51426 130 | 270 | 110 630 2010 Ll 430 600 32




S DW BEARING

THRUST BALL BEARING

52000 TYPE

THRUST BALL BEARING

53000 TYPE

PAGE/69-66

MARS EARRT/mm B #/Kg IHERR S
WS | [RES d D] T W= mEs  RES
53205U | 18205 25 50 19 0.15 53309U | 18309 45 90 33 0.87
53206U | 18206 30 55 20 0.2 53314U | 18314 70 130 48 2.51
53207U | 18207 35 65 22 0.29 53315U| 18315 75 140 52 2.87
53208U | 18208 40 il 23 0.336 53316U| 18316 80 145 52 3.24
53209U | 18209 45 78 24 0.4 53320U| 18320 | 100 | 175 64 5.98
53210U | 18210 50 82 26 0.51 533220 | 18322 | 110 | 195 i 9.2
53211U| 18211 55 95 30 0.62 53324U | 18324 | 120 | 220 80 12.1
53213U | 18213 65 105 32 0.9 53330U | 18330 | 150 | 250 92 19.83
53215U | 18215 Fits) Il5 32 1.15
53216U | 18216 80 120 23 15
53218U | 18218 90 140 42 2.31
53222U( 18222 | 110 | 165 45 2.92
53224U | 18224 | 120 175 46 3
53226U | 18226 | 130 | 195 53 3.07
53228U | 18228 140 210 55 5.08

BEART/mm &8 /Kg B S EART/mm E#/Kg

d D) T w= wE=s RES d D T W
52202 | 38202 10 32 22 0.083 52313 | 38313 55 115 65 2.9
52204 | 38204 15 40 26 0.13 52314 | 38314 | 55 125 T2 3.9
52205 | 38205 20 47 28 0.209 52315 | 38315 60 135 79 4
52206 | 38206 25 52 29 0.26 52316 | 38316 65 140 79 4.87
52207 | 38207 30 62 34 0.41 52317 | 38317 70 150 87 6.8
52208 | 38208 30 68 36 0.485 52318 | 38318 75 155 88 a2
52209 | 38209 35 73 37 0.609 52320 | 38320 85 170 97 9
52210 | 38210 40 78 39 0.716 52322 | 38322 95 190 | 110 12.5
52211 | 38211 45 90 45 Lk 52324 | 38324 | 100 | 210 | 123 20.3
52212 | 38212 50 95 46 1.22 5232608 383260 R 110N[E2250|R130 219
52213 | 38213 55 100 47 0.29 52328 | 38328 | 120 | 240 | 140 27
52214 | 38214 55 105 47 1.36 52330 | 38330 | 150 | 250 | 140 31.63
52215 | 38215 60 110 47 157 52330M|38330H | 150 | 250 | 140 31.63
52216 | 38216 65 115 48 1.67 52336M | 38336H| 180 | 300 | 165 49.3
52217 | 38217 70 125 35 2.19
52218 | 38218 15 135 62 3.14 52405 | 38405 15 60 45 0.64
52220 | 38220 85 150 67 4.06 52406 | 38406 20 70 52 0.97
52222 | 38222 95 160 67 4.52 52407 | 38407 25 80 59 1.44
52224 | 38224 | 100 | 170 68 5:3 52408 | 38408 30 90 65 2.3
52226 | 38226 | 110 | 190 80 tfashl 52409 | 38409 34 100 2 2.53
52228 | 38228 | 120 | 200 51 8.33 52410 | 38410 40 110 78 3.29
52230 | 38230 | 130 | 215 89 10.4 52411 | 38411 45 120 87 5.2
52232 | 38232 | 140 | 225 90 12 52412 | 38412 50 130 93 5.88
52234 | 38234 | 150 | 240 97 14 52413 | 38413 55 140 | 101 7.49
52236 | 38236 | 150 | 250 98 14 52415 | 38415 60 160 | 115 51
52238 | 38238 | 160 | 270 | 109 24.3 52416 | 38416 60 17O 120 -
52240 | 38240 | 170 | 280 | 109 22.7 52417 | 38417 65 180 | 128 9.5
I 52720 | ss20 | s | on0 | 10| %S
52305 | 38305 20 52 34 0.33 52422 | 38422 90 230 | 166 24.6
52306 | 38306 25 60 38 0.48 52424 | 38424 95 2500 (1T -
52307 | 38307 30 68 44 0.519 52426 | 38426 | 100 | 270 | 192 -
52308 | 38308 30 78 48 1.01 52428 | 38428 | 110 | 280 | 196 58.5
52309 | 38309 35 85 52 1.24 52430 | 38430 | 120 | 300 | 209 69.5
52310 | 38310 40 95 58 1.8
52311 | 38311 45 105 64 2.44
52312 | 38312 50 110 64 2l




s D W BEARING PAGE/67-68

THRUST ROLLER BEARING

The thrust roller bearing is used to bear the combined axial
and radial loads mainly including axial load, but the radial load
shall not exceed 55% of the axial load. Compared with other
thrust roller bearings, this kind of bearing has lower friction coeffi—
cient, higher rotating speed and self-aligning performance

The stick of 29000 type bearing is an asymmetric spherical
roller, which can reduce the relative sliding of the roller and race-
way during operation. The roller is long, large in diameter, large in
number and high in load capacity. It is usually lubricated with oil,
and can be lubricated with grease in some low speed cases. Pri—
ority shall be given to selection in design;

80000 type thrust cylindrical roller bearing, 90000 type thrust
tapered roller bearing and AXK type thrust needle roller bearing
can withstand unidirectional axial load, which is much greater

than the axial load capacity of thrust ball bearing, and has large
rigidity and small axial space occupation.

THRUST ROLLER
BEARING



S DW BEARING

THRUST ROLLER BEARING
9100 TYPE 9200 TYPE

A= AR S HEAERS /mm E8/Kg
RS RES mAEsS RES d D T W
9103M |81103M| 17 30 9 0.0251 9204M | 81204M| 20 14 14 0.18
9104M |81104M| 20 35 10 0.037 9205M | 81205M| 25 47 ki) 0.2
9105M |81105M| 25 42 11 0.0558 9206M | 81206M| 30 52 16 0.22
9106M |81106M| 30 47 11 0.0602 9207M | 81207M| 35 62 18 0.24
9107M | 81107TM| 35 52 11 0.072 9208M | 81208M| 40 68 19 0.27
9108M |81108M| 40 60 13 0.115 9209M | 81209M | 45 i3 20 0.32
9110M |81110M| 50 70 14 0.152 9210M | 81210M| 50 78 22 0.39
9111M |81111M| 55 78 16 0.227 9211M |81211M| 55 90 25 0.619
9112M |81112M 60 85 17 0.276 9212M | 81212M| 60 95 26 0.75
9113M |81113M| 65 90 17 0.32 9213M |81213M| 65 100 27 0.87
9114M |81114M| 70 95 18 0.344 9214M | 81214M| 7O 105 27 0.79
9115M |81115M| 75 100 19 0.385 9215M | 81215M| 75 110 27 0.85
9116M |81116M| 80 105 19 0.408 9216M |81216M| 80 115 28 0.925
9117M |81117M| 85 110 19 0.426 9217M |81217M| 85 125 31 2]
9118M |81118M| 90 120 22 0.651 9218M | 81218M| 90 135 35 177
9120M |81120M| 100 | 135 25 0.95 9220M | 81220M| 100 [ 150 38 2.4
9122M |81122M| 110 | 145 25 1.07 9222M | 81222M| 110 | 160 38 2.6
9124M |81124M| 120 | 155 25 1.13 9224M | 81224M| 120 | 170 39 2.9
9126M |81126M| 130 | 170 30 1.7 9226M | 81226M| 130 | 190 45 3.91
9128M |81128M| 140 | 180 31 1.946 9230M | 81230M| 150 [ 215 50 5.8
9130M |81130M| 150 | 190 32 2.066 9234M | 81234M| 170 | 240 55 8.3
9132M |81132M| 160 | 200 32 2.189 9236M | 81236M| 180 | 250 56 8.24
9134M |81134M| 170 | 215 34 2.95 9238M | 81238M| 190 | 270 62 10.4
9136M |81136M| 180 | 225 34 3.04 9240M | 81240M| 200 | 280 62 12.4
9138M |81138M| 190 | 240 37 3.84 9244M | 81244M| 220 | 300 63 13.7
9140M |81140M| 200 | 250 STk 223 9248M | 81248M | 240 | 340 78 23.6
9144M |81144M| 220 | 270 37 4.5 9252M | 81252M| 260 | 360 79 25.5
9148M | 81148M| 240 | 300 45 125 9256M | 81256M| 280 | 380 80 27.8
9152M |81152M| 260 | 320 45 8.1 9260M | 81260M| 300 [ 420 95 42.5
9156M |81156M| 280 | 350 53 123 9264M | 81264M | 320 | 440 95 42.6
9160M |81160M| 300 | 380 62 17.5 9268M | 81268M| 340 | 460 96 44,98
9164M |81164M| 320 | 400 63 18.76 9272M | 81272M| 360 | 500 | 110 SiL8
9168M |81168M| 340 | 420 64 19.78
9172M |81172M| 360 | 440 65 -
9180M |81180M| 400 | 480 65 -
9184M |81184M| 420 | 500 65 -
9192M |81192M| 460 | 560 80 -

THRUST SELF-ALIGNING
ROLLER BEARING

PAGE/69-70

e AR /mm B ZSENTE # A& /Kn R PR¥EE(r/min) E®/Kg

HMARS - -

d D i} Ca Coa i SH W=
29412E 60 130 42 345 915 1.5 1800 2600 2.52
29412EM 60 130 42 290 925 155 1800 2600 2.8
29413E 65 140 45 460 1080 2 1700 2400 351
29413EM 65 140 | 45 340 1080 2 1700 2400 3.75
29414E 70 150 48 449 1250 2 1600 2200 3.83
29414EM 70 150 48 380 1230 2 1600 2200 4.31
29415E 75 160 51 600 1430 2 1600 2200 4.61
29415EM 75 160 Sl 440 1270 2 1600 2200 4.72
29416E 80 170 54 575 1630 2l 1400 2000 5D
29416EM 80 170 54 468 1380 2.1 1400 2000 6.09
29317E 85 150 39 380 1060 1.5 1600 2200 2T
29317EM 85 150 39 290 930 155 1600 2200 2.82
29417E 85 180 58 735 1800 2.1 1300 1900 6.61
29417EM 85 180 58 510 1658 2.1 1300 1900 7.05
29318E 90 155 39 400 1080 1.5 1600 2200 2.78
29318EM 90 155 39 300 960 1155 1600 2200 3.06
29418E 190 | 190 60 700 2000 2.4 1300 1800 7.65
29418EM 90 190 60 560 1980 23l 1300 1800 8.01
29320E 100 | 170 42 422 2350 1.5 1500 2000 35T
29320EM 100 | 170 42 3585 1160 155 1500 2000 3.81
29420E 100 | 210 67 860 2500 3 1200 1700 10.6
29420EM 100 | 210 67 760 2500 3 1200 1700 14.2
29322E 110 | 190 48 610 1730 2 1200 1700 5.24
29322EM 110 | 190 48 455 1646 2 1200 1700 7.03
29422E 110 | 230 73 1180 3000 3 1100 1600 13.4
29422EM 110 | 230 3 905 2610 3 1100 1600 17e)
29324E 120 | 210 54 765 2120 2. 1100 1600 7.33
29324EM 120 | 210 54 545 2100 2.1 1100 1600 7.92
29424E 120 | 250 78 1170 3450 4 1000 1500 16.2
29424EM 120 | 250 78 960 3300 4 1000 1500 18.8




S DW BEARING

THRUST SELF-ALIGNING

ROLLER BEARING

= BEA&R~/mm EAENTE #ifar/Kn R BR%%Z 3R (r/min) F#/Kg
HHAREL S .
d D T Ca Coa i SH

29326E 130 | 225 58 753 2500 2.1 1000 1500 8.85
29326EM 130 | 225 58 600 2260 2.1 1000 1500 9.65
29426E 130 | 270 85 1380 4050 4 950 1400 22.1
29426EM 130 | 270 85 1110 3500 4 950 1400 29.2
29328E 140 | 240 60 845 2850 2.1 950 1400 10.3
29328EM 140 | 240 60 707 2490 el 950 1400 il
29428E 140 | 280 85 1400 4300 4 850 1200 22.4
29428EM 140 | 280 85 1160 4200 4 850 1200 2515
29230k 150 | 215 39 408 1600 1.5 1250 1800 4.2
29330E 150 | 250 60 870 2900 2.1 950 1400 10.9
29330EM 150 | 250 60 715 2500 23 950 1400 11.5
29430E 150 | 300 90 1510 5100 4 800 1100 2T
29430EM 150 | 300 90 1310 4750 4 800 1100 30.4
29232E 160 | 225 39 380 1650 155 1200 1700 4.33
29332E 160 270 67 1000 3400 3 850 1200 14.3
29332EM 160 | 270 67 840 2833 3 850 1200 15.8
29432E 160 | 320 95 1790 5600 5 700 1000 32.6
29432EM 160 | 320 95 1450 4850 5 700 1000 35.1
29234E 170 | 240 42 450 1500 1.5 850 1200 5.3
29334E 170 | 280 67 1200 3550 3 850 1200 14.8
29334EM 170 | 280 67 850 3400 3 850 1200 165
29434E 170 | 340 | 103 2360 6550 =) 700 950 40
29434EM 170 | 340 | 103 1658 5330 5 700 950 40.6
29236E 180 | 250 42 470 2060 1S 900 1300 5.66
29336E 180 | 300 73 1430 4300 3 700 1000 19.1
29336EM 180 | 300 73 1000 4050 2 700 1000 200
29436E 180 | 360 | 109 2600 7350 D 700 950 47.4
29436EM 180 | 3600 | 109 1870 6110 5 700 950 62.2
29238E 190 | 270 48 530 2230 2 1000 1400 7.91
29338E 190 | 320 78 1630 4750 4 750 1000 22.9
29338EM 190 | 320 78 1180 4950 4 750 1000 26
29438E 190 | 380 | 115 2850 8000 5 630 850 56
29438EM 190 | 380 | 115 2230 7690 5 630 850 614

E&I (Type)

Fo1

PAGE/T-12

dl
d

B]

Bl

D1

D

EMZ! (Type)

HART/mm ERTE # A/ Kn PR 1R (r/min)
AR S .
d D i} Ca Coa fis SH

29240E 200 | 280 48 690 3000 2 1000 1400 8.34
29240EM 200 | 280 48 536 2270 2 1000 1400 8.9
29340E 200 | 340 85 1860 5500 4 700 950 28.6
29340EM 200 | 340 85 1140 4750 4 700 950 34
29440E 200 | 400 | 122 2760 9000 2 600 800 65.8
29440EM 200 | 400 | 122 2460 8470 5 600 800 73
29244E 220 | 300 48 690 3000 2 900 1300 9.08
29244EM 220 | 300 48 542 2495 2 900 1300 10
29344E 220 | 360 85 2000 6300 4 670 900 33.5
29344EM 220 | 360 85 1380 5240 4 670 900 33.3
29444E 220 | 420 | 122 3350 9650 6 560 750 69.9
29444EM 220 | 420 | 122 2540 8990 6 560 750 74.9
29248E 240 | 340 60 799 3450 2:1 800 1100 15.6
29248EM 240 | 340 60 822 3680 2l 800 1100 16.7
29348E 240 | 380 85 2040 6500 4 600 800 33.6
29348EM 240 | 380 85 1410 5500 4 600 800 355
29448E 240 | 440 | 122 3400 10200 6 530 750 T0.:1
29448EM 240 | 440 | 122 2610 9500 6 530 750 83
29252E 260 | 360 60 850 3650 2.1 800 1100 16.9
29252EM 260 | 360 60 838 3720 2l 800 1100 1:8Y5
29352E 260 | 420 95 2550 8300 5 600 800 46.5
29352EM 260 | 420 95 1810 6950 5 600 800 515
29452E 260 | 480 | 132 4050 12900 6 500 670 97.7
29452EM 260 | 480 | 132 3100 11100 6 500 670 110
29256E 280 | 380 60 865 4000 21 700 1000 17.8
29256EM 280 | 380 60 838 3720 23l 700 1000 1915
29356E 280 | 440 95 2550 8650 5 600 800 49
29356EM 280 | 440 95 1840 7150 5 600 800 53.2
29456E 280 | 520 | 145 4310 15300 6 480 630 125
29456EM 280 | 520 | 145 3650 13600 6 480 630 137




s D W BEARING PAGE/73-14

INSERT BEARING

The outer spherical ball bearing is actually a variant of the
deep groove ball bearing. Its outer diameter surface is spherical,
which can be fitted into the corresponding concave spherical sur—
face of the bearing seat to play the role of centering. The outer
spherical bearing is mainly used to bear the combined radial and

axial load, and it is not suitable to bear the axial load alone.

INSERT BEARINLG



s D W BEARING PAGE/75-16

B.
B. a
- 2-120°
3 [ o
Q ‘ @ @
SLTYPESEAL  TJ TYPE SEAL =
o m .,
B, SL TYPE SEAL TJ TYPE SEAL L3 TYPE SEAL
«UC200 (Light Duty) «UR / CUC200 (Light Duty) = UC200G
Spherical O.D. Cylindrical O.D. Relubricatable type
Shaft Dia Dimensions{mm) Basic dynamie | Basic static Weight
Bearing No ] D Bi Be r| - G ds E Load ratings | Load ratings (kg) “Bi
(in)_[ (mm) (mm)_| (in.UNF) CKND (KN) —
Ucw201 12 40 | 274 | 14 | 115 ]| 159 [ 42 | Mmsx08 3 736 4.48 0.12 +UC300
ucwzoi-8 | 12 1/4-28
UCW202 15 M5x0.8
ucwz0z-9 | 916 4 | 274 | 14 | 115 | 158 | 42 1428 | 44 7.36 448 0.11 UC300 Series
uUcwz02-10 | 58 1/4-28
w209 17 M5R0:8 41 Shaft Dia Dimensions (mm) Basic Load | Rating KN
ucwz203-11 | 11118 a0 | 274 | 14 | 115 | 189 | 42 1/4-28 7.38 4.48 0.10 et
UC201 47 31 17 127 | 183 5 Mmex1 . 9.88 6.20 0.21 Unit N d elgl
12 43 nr 0. = =
UC201-8 172 1/4-28 D Bi Be A " G ds Dynamic Static kg
UCc202 M6x1 (mm) Cr Cor
UC202-9 916 | 15 a7 3 17 | 127 | 183 5 1428 | 43 9.88 6.20 0.19
UC202-10 5/8 1/4-28 UC305-14 78
UC203 MBx1 0.18 305-15 15116
uc2oa11 | 11e| 17 | ar | 31 | 7 | 127 | 83| s 1a2s | 42 988 620 019 | 305 a5 | 62| 38 | 21 | 15 ] 23 | & MEX1 17.22 11.39 0.44
UC204 0.17 305.16 1
20 43
204-12 3/4 47 a1 17 | 127 | 183 5 MBx1 1-4128 9.88 6.20 0.18 UC306-18 T
UC205 25 0.19
205-14 B 52 34.1 17 143 | 198 5.4 M6x1 1/4-28 4 10.78 6.8 022 ﬁm 13116 X 72 43 = 17 26 6 MGX1 2077 LAl 0.56
20515 | 15/M6 i 0.20
SR 1 b4a UC307-20 1-1/4
UC206 % 0.31 30721 | 1608 8o | 4 | 25 | 19 | 20 | 8 MBX1 2566 17.02 071
206-17 1-1/16 0.33 307-22 1-3/8
206-18 1-1/8 62 38.1 19 159 | 222 | 55 M6x1 1428 | 53 14.97 10.04 0.34 307 35
206-19 | 1-3116 0.32 UC308-24 1172
206-20 1-114 0.30 308-25 1-9/16 90 52 27 19 33 10 | M10X1.25 31.35 2238 1.00
UC207 35 0.46 308 40
207-20 1114 72 | 429 | 20 | 175 | 254 | 69 | mexi | 5i16-24 | 58 19.75 13,67 0.52 UC309-26 1-5/6
207-21 1-5/16 0.51 309-27 111116
s arm 0.48 o8 i 100 57 30 22 35 10 | M10X1.25 4066 30 1.28
20723 | 17116 0.46 309 45
UC208 40 063 UC310-30 1-7/8
208-24 14112 80 | 402 | 21 | 100 | 302 8 Mexi | 51624 | 62 22.71 15.94 0.68 310-31 1-15/16 110 | et 32 22 39 12 | m12x125 47.58 35.71 1.65
208-25 | 1-9/16 0.64 310 a5
C209 5 i Uca1132 2
209-26 1-5/8 85 | 482 | 22 | 190 | 302 8 Mmex1 | 51624 | 65 24.36 17.71 0.78 31154 5116
20027 |11118 0.74 544, - s | 120 | 68 34 25 4 12 | m12x1.25 55.05 41.91 207
209-28 1-3/4 0.70
311-36 2-3/16
UC210 50 0.78 T
210-30 1-7/8 9 | 5186 | 24 | 190 | 326 | 10 |Mmiox1.25| 3824 7 26.98 19.84 0.85 - 2-1/4
21031 [1-1516 0.80 60 [ 430 | 74 % | 26 | 45 | 12 | mi2x125 62.88 485 2.59
210-32 2 0.78 312-38 2-3/8
UCZ11 55 107 312-39 27116
211-32 2 100 | 556 25 222 | 334 10 | M10x1.25] 3/8-24 74 33.37 25.11 122 UC31340 2-1/2 140 75 38 a0 45 12 M12X1 25 7221 56.68 a1s
21134 | 218 1.10 313 65
21135 | 2-3116 1.05 UC314-44 2-3/4
e s 3 S 70| 10| 78 40 33 45 12 | M12x1.25 80.1 6348 383
) 2 g 165
e B Mo | S e (] Re [ S AD: pMIEE] . B | s 6Te o b s s || 10| &2 | 42 | 52| s | 14 | muxis 8725 7167 459
212-39 | 2-7/16 1.42 UC316 80 | 170 | 86 44 34 52 14 | M14X15 94 57 80.35 5.40
uc213 65 e UC317-52 3-14
213-39 | 27116 120 | 851 | 28 | 254 | 397 | 10 |Mioxi25| 324 | 85 44.01 34.18 1.96 57 g5 | 180 | 98 46 40 56 16 | M16X15 102.05 89.52 6.58
213-40 2172 1.94
Uc214 70 2.18 ”01113‘568 312 |1 90 | 400 | 96 | 48 | 40 | s6 | 16 | miexis 110.81 100.76 7.34
21443 |2-1116 125 | 748 | 29 | 302 | 444 | 12 [mi2x1.25] 716-20 | 8.9 48.79 37.59 228 o
214-44 2-34 2.06 95 | 200 | 103 | s0 41 62 16 | M18X15 12051 113.75 8.70
UC215 75 271 319-60 3-3/4
21547 |2-15/116 130 | 778 | 30 333 | 445 12 |Miz2xa.2s| 716-20 | 92 50.85 41.26 2330 ucazo 100 [ 545 108 54 42 66 18 MiBX1.5 133.06 13148 10.30
215-46 3 213 | 320-64 4
UC216 80 | 140 | 828 | 33 | 333 [ 493 [ 12 [mi2x1.25] 71620 | 95 55.04 45.09 279 UC321 105 | 225 | 112 56 44 68 1€ M18X1.5 141.30 142.84 12.20
U217 5 338 uC322 110 | 240 [ 117 | 60 46 71 1 M18X1.5 157.66 167.64 14.30
217-52 3-1/4 150 | 857 | 35 | 341 | 516 | 12 |mi2x1.25] 7/16-20 | 111 64.01 53.28 3.59 uc324 120 | 260 | 126 | 64 51 75 18 M18X1.5 175.07 194.42 18.50
Uc218 90 4.46 UC326 130 | 280 | 135 | 68 54 81 20 | M20X1.5 194.93 226.71 23.00
21856 | 3-1/2 160 | 9 37 | 307 | 563 | 12 |mi2a25] 1220 | 118 73.83 60.76 456 | UC328 140 | 300 | 145 72 59 86 20 | M20X15 211.38 253.93 28.50




S D W BEARING PAGE/T1-18

UEL200% %! UEL300% %1

1 _ B LS
B B
%A S S R~F(mm) = BRIFLERS HRES 4 R~H(mm) = [BEFELIERS
= EE
: : K . . . k : .
#RE|ARS| d | D|(B1| B [B2| S |C|DI| G| DS 9 lgmre|Ers #KE|ARS| d | D|B1| B [B2| S |C |DI| G| DS 9 lmre(Rre
UEL201|290501 | 12 | 40 [37.3|27.8[135(13.9| 15 |286| 4.8 | Mex1 | 026 | E201 | P501 UEL305|290605 | 25 | 62 |46.8|34.9|159[167| 21 | 42 | 6 | MeX1 | 043 | E305 | P605
UEL202|390502 | 15 | 40 |37.3|27.8|135(139| 15 |286| 48 | MeX1 | 023 | E202 | P502 UEL306| 390606 ( 30 ( 72 | 50 |36.5(17.5(17.5( 23 | 49 | 6.5 [ M8X1 | 069 | E306 | Pe06

UEL203|390503| 17 | 40 |37.3|278|135|13.9| 15 |28.6| 4.8 | M6X1 0.21 E203 | P503 UELOr 300007 | 35 | 80 |64E [BA| 1188 ] 25 | 66 | b | MEA i ER | BeCP

UEL308|390608| 40 | 90 |57.1 (415|206|19.8( 27 |63.5| 8 | MiOX1 | 1.08 | E308 | P608
UEL204|390504 | 20 | 47 [43.7 1342|135 |17.1| 17 [33.3| 48 | M6X1 | 0.18 E204 | P504

UEL309| 390609 | 45 | 100 |58.7 |43.1|20.6|19.8| 30 | 70 8 | Mi0OX1 | 1.45 | E309 | P609

UEL205|390505| 25 | 52 [44.4|349|135|17.5| 17 [38.1| 4.8 | M6X1 | 0.25 | E3205 | P505
UEL310| 390610 50 | 110 |66.6 |49.4 | 222|246 | 32 | 76 9 [M12X1.25 1.86 E310 | P610

UEL206| 390506 | 30 | 62 [48.4 1365|159 (18.3| 19 (445| 6 | M6X1 0.4 E206 | P506
UEL311|390611| 55 | 120 | 73 |55.8|222|27.8| 34 | 82 9 M12X1.25 2.34 | E311 | P&l

LIEL207| 200807 | (&5 | 42 |51 (828|108 188 20 |68 B& | MeXt | 061 | E208 | ReOr UEL312|390612 | 60 | 130 |79.4 |61.5|23.9(30.95| 36 | 88 | 9 |Mi2x1.25 294 | E312 | Psi2

UEL208| 390508 | 40 | 80 [56.3 1428|183 214 21 [60.3| 6.8 | M8X1 | 0.75 | E208 | P508 UEL313|390613| 65 | 140 |85.7 |64.7 | 27 |3255| 38 | 95 | 10 [M12x1.25 3.67 | E313 | P613
UEL209|390509 | 45 | 85 |56.3|42.8|18.3|21.4| 22 |635| 6.8 | M8X1 | 0.81 | E3209 | P509 UEL314|390614 | 70 | 150 |92.1 | 67.9 | 30.2|34.15 40 | 102 | 12.5 |M12X1.25 4.4 | E314 | P614
UEL210| 390510 | 50 | 90 627 | 492|183 246 | 24 |609| 7 |Mioxt| 098 | E210 | P510 UEL315|390615| 75 | 160 | 100 | 74.2|31.8|37.3| 42 | 110 |12.5 [Mi2x1.25 534 | E315 | P6i5

UEL316|390616 | 80 | 170 {106.4| 80.6 | 31.8 | 40.5| 44 | 117 | 12.5 M12X1.25 6.7 E316 | P616
UEL211|390511| 55 | 100 [71.4 | 55.5|20.7 [27.8| 25 |76.2| 7 |M10X1 1.3 E211 | P511

UEL317|390617 | 85 | 180 |109.5| 83.7 | 31.8 [42.05| 46 | 126 | 12.5 |M16X1.5 8 E317 | P617
UEL212| 390512 | 60 | 110 [77.8 |61.9(22.3| 31 | 27 (84.2| 8 |MIOX1| 1.78 E2de8 [NP512

UEL318|390618 | 90 | 190 |[115.9|87.4 | 36.5 [43.65| 48 | 133 [ 14 |M16X1.5| 9.1 E318 | P618

UEL213| 390513 | 65 | 120 |85.7 |69.2|23.5|34.1| 27 | 86 | 8.5 [M12X1.5 2.48 E213 | P513
UEL319| 390619 95 | 200 [122.3/93.8|36.5|38.9| 50 | 140 | 14 |Mi6X1.5| 10.4 E319 | P619

UEL214|390514| 70 | 125 |85.7 |69.2|23.5(34.1| 29 | 90 | 85 M12X1.5/ 25 E214 | P514
UEL320| 390620 | 100 | 215 |128.6(100.1| 36.5| 50 | 54 | 146 | 14 |M16X1.5| 13 E320 | P620

UEL215|390515( 75 | 130 |92.1|76.6(23.537.3| 30 | 102 | 8.5 M12X1.5 2.86 | E215 | P515 UEL321|390621 | 105 | 225 [139.7|104.8| 42.8 | 48.4 | 56 | 157 | 16 |M2ox15| 146 | E321 | Pe2t

UEL216| 390516 | 80 | 140 | 92 | 70 | 30 |33.3| 33 [ 110 | 11 Mi2X1.5 3.3 E216 | P516 UEL322| 390622 | 110 | 240 | 142 | 110 | 40 | 55 | 60 | 160 | 16 |M20X1.5| 17.2 | E322 | P622




S DW BEARING

UK300% %!

PAGE/79-80

UK200% %1
Do

WRES 5N R ~H(mm) =8
RS | BRES d D B s © kg
UK205 | 190505 | 25 52 26 13 17 0.16
UK206 | 190506 | 30 62 28 14 19 0.24
UK207 | 190507 | 35 72 30 15 20 0.4
UK208 | 190508 | 40 80 31 15.5 21 0.53
UK209 | 190509 | 45 85 33 16.5 22 0.55
UK210 | 190510 | 50 90 35 17.5 24 0.62
UK211 | 190511 | 55 100 39 19.5 25 0.85
UK212 | 190512 | 60 110 41 20.5 27 1.13
UK213 | 190513 | 65 120 | 415 | 2075 | 27 1.46
UK215 | 190515 | 75 130 44 20 30 153
UK216 | 190516 | 80 140 48 24 33 1.98
UK217 | 190517 | 85 150 50 25 36 251
UK218 | 190518 | 90 160 51 255 37 3.07

AR S Sh 2 R ~F(mm) 55
FRE | BHRES d D B S G kg
UK305 | 190605 | 25 62 27 135 21 0.27
UK306 | 190606 | 30 72 30 15 23 0.47
UK307 | 190607 | 35 80 34 17 25 0.58
UK308 | 190608 | 40 90 36 18 27 0.81
UK309 | 190609 | 45 100 39 19.5 30 1.1
UK310 | 190610 | 50 110 42 21 32 1.33
UK311 | 190611 | 55 120 44 2z 34 1.65
UK312 | 190612 | 60 130 48 24 36 2,07
UK313 | 190613 | 65 140 49 24.5 38 254
UK315 | 190615 | 75 160 56 28 42 3.81
UK316 | 190616 | 80 170 58 29 44 45
UK317 | 190617 | 85 180 61 30.5 46 5.3
UK318 | 190618 | 90 190 66 33 48 6.2
UK319 | 190619 | 95 200 67 33.5 50 7.16
UK320 | 190620 | 100 215 74 37 54 8.97
UK322 | 190622 | 110 240 82 41 60 12.19
UK324 | 190624 | 120 260 86 43 64 14.91
UK326 | 190626 | 130 280 90 45 68 18.85
UK328 | 190628 | 140 300 95 47.5 73 23.45




S D W BEARING PAGE/81-82

SA200% 7l SB200F& 7!

i
@_
y

n
I

|

-
|

=

|

|

i

= Ry,

w
% i

UBAI(SER) e
?Fm,;:‘ﬂ‘s} (U”%{.NA?J(MI) (50200 %) (-mm 0
S AMENRTRNE U020 8)
i3 = LERS S % R~F(mm ~
AR S 58 BEiRLEKRS AR S M R <H(mm) 5=
L =3 L 23 k i L | . 0y . k
sre(are| ¢ | D|B1| B |B2|s|c|pi|a| ps | 9 |mrelEre sk | BRE | d | D | B | s | c | G |[Rmin| as | ©
SA201 12 | 40 |[286| 19 |135| 65 | 13 |286| 48 | Mex1 | 0.14 | E201 | P501
SB201 12 40 22 6 12 4.5 0.6 |M5X0.5] 12
SA202 15 | 40 [286| 19 |135| 65 | 13 [28.6| 4.8 | Mex1 | 0.13 | E202 | P502
SB202 15 40 22 6 12 45 0.6 M5X0.5| 15
SA203 17 | 40 |286| 19 [135| 65 | 13 |286| 4.8 | Mex1 | 0.12 | E203 | P503
SA204 20 | 47 | 31 |215|135| 75 | 14 |333| 48 | Mex1 | 0.14 | E204 | P504
SB203 B 40 22 6 12 4.5 0.6 [M5X0.5| 17
SA205 25 | 52 31 |21.5|135]| 7.5 15 [38.1] 4.8 | M&X1 0.18 E205 P505
SB204 20 47 25 7 14 4.5 1 M6X1 20
SA206 30 | 62 |35.7|238|159| 9 | 16 |445| 6 | Mex1 | 031 | E206 | P506
SA207 35 | 72 |38.9|25.4|175| 95 | 17 |55.6| 6.8 | Mex1 | 051 | E207 | P507
SB205 25 52 27 7.5 15 5 1 M6X1 25
SA208 40 80 |43.7)|30.2|18.3| 11 18 | 60.3 | 6.8 | M8X1 0.64 E208 P508
SB206 30 62 30 8 16 5 1 M6X1 30
SA209 45 | 85 [43.7|30.2(18.3| 11 19 [63.5]| 6.8 | M8X1 0.68 E209 P509
SA210 50 | 90 |43.7 302|183 11 | 20 |69.9| 7 |Mioxi| 077 | E210 | P510
SB207 35 72 32 8.5 17 6 T4 M8X1 35
SA211 55 | 100 | 48.4 |325|207| 12 | 24 |762| 7 |Miox1| 0.83 | E211 | P511
SB208 40 80 34 9 18 8 1.1 | M8X1 40
SA212 60 | 110 |53.1|37.2|223|135| 24 |842| 8 |Miox1| 14 | E212 | P512




S D W BEARING PAGE/83-84

UCP 200 (normal-duty) UCP 300 (heavy—duty)

d
a
F@wRKS | st ba R S B¢ o | Bearing |Housing| X2 BEAIE | Shaftpia ABRY (R B GER) e
A Unit 3 Dimensions (in.Jor(mm) Bolt Used ol i “::lgjh{ e ik aft Dia. ARl Bt Beanng) |[Homug Wz}; )
(in) f(mm) h a e b Sz B g w Bi n_[(@mm)]n) : No. d No. No. | ")
UCP 201 12 | 1 316 5 [32532] 112 | 34 1/2 | 19532 [ 2 7116 | 1.2205 | 0.5000 | M10 | 3/8 | UC 201 P201 | 083 (in.) |{mm)] h a e b Sz il g w Bi n__|(mm)|({in.)
201-8 | 1/2 30.2 127 96 38 19 13 15 62 310 | 127 201-8 UCP 305 25 |1 49/64| 678 | 53116 | 134 | 2532 | 2132 | 5@ |3 1132 1.4961 | 0.5906 uc 305
UCP 202 15 | 1 3116 5 325032 112 | 34 172 | 19/32 | 2 7/16 | 1.2205 | 0.5000 | M10 | 3/8 | UC 202 P202 | 063 305-14 | 718 M4 |12 30514 |P30s | 16
ucP 22%2;10 = 17 132}126 1:? 3 3::32 13:'2 :;:i 1Tf3 2 1;;2 2 ??16 1.3;12'35 0.1:6;0 M10 | 3/8 | UC ;gg—w P203 | 063 = : s . s - = = = = = 2 i
20311 | 11116 30.2 127 % 18 19 P 5 P S 1 da e UCP 306-18 | 1 1/8 131327 332 | 5 12 |1 3132] 25132 | 21/32 | 45/64 | 3 3/4 | 1.6920 | 0.6693 UC 306-18
UCP 20412 3/4 | 20 | 1 5/16 5 |32832] 112 | 34 1/2 | 19/32 | 2 9/16 | 1.2205 | 0.5000 | M10 | 3/8 [UC 20412 | P 204 | 065 208 20 M14 |1/2 308 P306 | 21
204 333 127 96 38 19 13 15 65 310 | 127 204 306-19 |1 3116 50 180 140 50 20 17 18 95 43 17 306-19
UCP 205-14| 7/8 UC 205-14 UCP 307-20 | 1 1/4 2 1364 | 8 932 | 6 5116 | 2 7/32 1 2132 | 25/32 |4 11/64| 1.8897 | 0.7480 UC 307-20
20515 | 15/16 1716 | 512 | 48 | 112 | 34 112 5/8 | 2 34 | 1.3386 | 0.5630 | M10 | 3/8 205-15 | P205 | 0.79 30721 | 1 38 Mia |12 s0721 |P3o7r | 28
;’g:_w t 25| 365 | 140 | 105 | 38 18 13 16 70 3 | 3 232.16 307 s | s6 | 210 | 160 | s6 25 17 20 | 106 | 48 19 307
UCP 206-18| 1 1/8 UC 206-18 307-23 |1 7116 307-23
208 30 |1 11118 612 4 34 17/8 13116 21132 45/64 |3 17/84| 1.5000 | 0.6260 | M14 | 1/2 206 P 206 115 UCP 308-24 | 1 1/2 2 23/64|8 21/32|6 11116 3 3/8 |1 1116 | 21/32 55/64 | 4 9/16 | 2.0472 | 0.7480 | M14 |1/2| UP 308-24 P 308 3.6
206-19 | 1 3/16 42.9 165 121 48 206-19 308 40 | 80 220 170 80 27 17 22 16 52 19 308
206-20 | 1 1/4 21 17 18 83 38.1 159 206-20 UCP 30928 | 1 3/4 2 4164 |9 21/32|7 1532| 2 58 |1 316 | 2532 | 15116 | 5 5/64 | 2.2441 | 0.8661 | M16 [ 58 | UC 30928 |[P309 | a7
i 223;?? 11 51!{146 178 | 63764 |4 31/32| 1 7/8 | 1316 | 2132 | 34 | 358 | 1.6890 | 0.6890 | M14 | 1/2 - :g;:? o 2 By 28 = i » 2 i 10 <l = L
20722 | 1 318 167 126 48 21 e 19 92 429 | 175 20722 | p2oy | 160 UCP 310-31 |1 15/16 2 61/64 |[1013/16|8 11/32 |2 15/32| 1 /8 | 25/32 | 1 1/16 | 5 5/8 | 24015 | 0.8661 | M16 | 5/8 | UC 310-31 [P310 | 6.4
207 5 | 476 207 310 50 | 75 275 212 75 35 20 27 143 61 22 310
207-23 | 1 7116 207-23 UCP 311-32 2 353212 732| 9932|3532 112 | 2582 | 13116 | 6 1116 | 2.5984 | 0.9842 | M16 [ 5/8 | UC 311-32 [P 311 7.8
UCP 20824 1 172 115M16] 7 1/4 |5 2364| 2 148 | 13116 | 21/32 | 34 |3 27/32] 19370 | 0.7480 UC 208-24 311 55 | 80 310 238 80 38 20 30 154 66 25 3n
208-25 [ 1 916 M14 | 172 208-25 | P208 | 2.00 uce 312 60 |3 12| 13 |9 2732|3 1132 1 12 1 1104 | 1 1/2 | 27953 | 1.0236 | M20 [ 3/4 | UC 312 P312 | 94
Uce 22?:3 26| 1 5/8 = 24 91';23 7 11?;32 5133?4 25:1’3 1;'116 211;2 251.;?34 P! 93?15 14:3;50 0 714930 uc igg 26 S0 28 L I B = 20 £ = T 1 L il
N i i e UCP 31340 | 2 1/2 3 35/64| 13 3/8 | 10 1/4 |3 17/32] 1 12 1 13/8 |6 15/16] 29528 | 1.1811 | M20 | 34 | uc 31340 |P313 | 103
209-28 | 13/4 54.0 190 146 54 21 17 20 106 49.2 19 209-28 313 65 | 90 340 260 90 38 25 35 176 75 30 313
209 45 209 UCP 314-44 | 2 3/4 3 47/64 |14 311611 1/32|3 17/32| 1 9116 |1 116 | 1 3/8 |7 23/64 | 2.0709 | 1.2992 | M22 | 7/8 | UC 31444 |P314 | 119
UCP 21030 1 7/8 214 | 818 | 614 | 238 1 2532 | 7/8 |4 13/32| 20315 | 0.7480 uC 210-30 314 70| 95 360 280 90 40 27 35 187 78 33 314
210-31 | 115116 M16 | 5/8 210-31 | P210 | 280 UCP 315 75 |3 1511614 31/32[11 13/32[3 18119 1 916 [ 1 1116 | 1 358 |7 25132 3.2283 [ 12598 uc 315
3:232 5 o 72 208 159 50 % 49 2 11 25 2 glg » 31547 |2 15/18 100 380 290 100 40 27 35 198 82 32 | m22|ws 315-47 | P315 | 145
UCP 211-32| 2 21/2 | 8 5/8 |6 23/32| 2 38 1 2532 | 7/8 |4 31/64| 2.1890 | 0.8740 UC 211-32 81548 c) 31548
211.34 | 21i8 M6 | 58 211.34 | P21 | 340 UCP 316 80 |4 1164 15 34 |11 13116]4 1132 1 9116 | 1 1116 | 1 916 |8 17/64| 3.3858 | 1.3386 | M22 | 78 [ UC 316 P316 | 171
21 55 | 635 219 171 60 25 20 22 126 556 | 222 211 316-50 | 3 1/8 106 400 300 110 40 27 40 210 86 3 316-50
211-35 | 23416 211-35 UCP 317 85 |4 133216 17/32|12 19/32| 4 11321 25132| 1 516 | 1 9116 |8 21/32| 3.7795 | 1.5748 [ M27 | 1 | uC 317 P317 | 19.2
UCP 212-36| 21/4 23/4 9 1/2 T 14 2 34 1 25/32 1 5 25/84 | 2.5630 | 1.0000 Uc 212-36 317-52 | 3 174 112 420 320 110 45 33 40 220 96 40 317-52
212 60 m16 | s/8 212 p212 | 4.80
S el — i s 2 e % . i - b dagiih UCP 318-56 | 3 1/2 4 41/64[1615M6] 13 |4 11/32[1 25/32| 1 5116 |1 49/64| 9 1/4 | 3.7795 | 15748 [ M27 | 1 | uC 31856 |P318 | 21.1
212.30 | 27116 Sraan 318 9 | 118 430 330 110 a5 33 45 235 96 40 318
UCP 213-40| 21/2 3 10 7/16 8 234 |1 9/34 1 1116 | 520/32 | 25630 | 1.0000 | M20 | 3/4 | UC 21340 | P 213 5.70 UCP 3192 4 59/64| 18 12 |14 3M6 |4 23/32 (1 31/32 (1 13/32 |1 49/64 |9 27/32 | 4.0551 | 1.6142 | M30 |1 11'5' uc 319 P 319 28.2
213 85 | 762 265 203 70 29 25 27 150 | 65.1 25.4 213 95 | 125 470 360 120 50 36 45 250 103 41
UCP 214-44 | 23/4 31/8 |1015/32| 8 9/32 |2 27/32| 1 7132 1 11/16 | 6 5/32 | 2.9370 | 1.1890 | M20 | 3/4 | UC 214-44 | P214 | 7.00 UCP 320 100 |5 33564 |19 93214 31/32]4 23132[1 31321 13/32[1 31/32[10 53064 4.2519 | 1.6535 | M30 |1 1/8] uc 320 P320 | 348
ucP 2211; ;g 3‘,:91}1 mzfgfw 8 1;1??32 2 ;::32 1 3;:32 215 1 2::32 6:151?3 3761&:0 13301'50 uc 2211: 2 = iue o o Lo - = .. -~ L 3¢ e
e (e ' . : vidt Vi orei T nia T 48 UCP 322 10 |5 293220 15/32| 15 34 | 5 1/2 | 2 532 | 1 916 |1 31/32 |11 21/32| 4.6063 | 1.8110 | M33 [1 1/4] UC 322 P32z | 432
21548 | 3 826 | 275 | 217 74 31 25 28 163 | 77.8 | 333 215-48 150 ] ‘5200 | 400 | 140 5 40 50 29 | M7 | 48
UCP 216 BO 3172 11 12| @ 18 | 3 116 | 1 7/32 1 1 3/16 | 6.8898 | 3.2520 | 1.3110 | M20 | 3/4 | UC 216 P 216 .00 UCP 324 120 |6 19/64 |22 7/16|1723/32| 5 1/2 |2 5/32 | 1 9/16 |1 31/32|12 7/16| 4.9606 | 2.0079 | M33 [1 1/4| UC 324 P 324 54.0
216-50 | 31/8 88.9 292 232 78 31 25 30 175 | 826 | 233 216-50 160 570 450 140 55 40 50 318 126 51
UCP 217-52 | 31/4 33/4 |12 732 |9 23/32| 3 932 | 1 732 1 114 | 7.3622 | 3.3740 | 1.3425 uc 217-52 UCP 326 130 | 7 3732 | 23 5/8 |18 20/32| 5 172 | 2 532 | 1 9116 |1 31/32[13 31/32] 5.3150 | 2.1260 | M33 |1 14| uC 326 P326 | 7241
217 85 310 247 83 31 25 32 187 857 | 341 | m20 | 34 217 P217 | 1150 180 600 480 140 55 40 50 355 135 54
217-55 | 37/16 952 217-55 UCP 328 140 | 7 7/8 |24 13/32|1911116| 5 1/2 | 2 5/32 | 1 9/16 | 2 3/8 |15 15/32| 5.7086 | 2.3228 | M33 |1 1/4| UC 328 P328 | 912
UCP 218-56| 31/2 4 12 7/8 [10 5163 16/32[1 19/84] 1 1/16 [1 11/32] 7.8740 | 2.7795 | 1.5630 | M22 | 7/8 | UC 218-56 | P 218 | 14.30
218 90 | 1016 | 327 | 262 88 33 27 34 200 | 950 | 397 218 200/ | €20 | 500 | 140 55 40 60 | 393 | 145 59




S D W BEARING PAGE/85-86

UCF 200 (normal-duty) UCF 300 (heavy—-duty)

e iz
BRI S SRR (8 B R e T : i
Boarng Un s"“‘: 2. Dimensions (in.)or(mm) BoltUseq | Bearing | Housing ey e Sha: Dia. AR D % il e oo | s .
(n) [om)  a e i g | s z Bi n (mm) [ (in.) No. - : ! (kg)
UCF 201 12 | 338 | 233/64 | 1932 | 1532 1 15/32 | 15/16 | 1.2205 | 0.5000 | M10 | 3/8 | UC 201 F201 | 063 (in) |(mm)| a 5 | 9 ! s z Bi n__ | (mm|(in.)
201-8 1/2 86 64 15 12 265 12 333 31.0 12.7 201-8 UCF 305 25 |4 11/32 | 3 5/32 5/8 1 1 5/32 5/8 1 17/32 | 14961 | 0.5906 | M14 |1/2| UC 305 F 305 1.20
UCF 202 15 | 3 a8 | 233064 | 19/32 | 15/32 1 15/32 | 15/16 | 1.2205 | 0.5000 | M10 | /8 | UC 202 F202 | 063 305-16 1 110 80 16 13 29 16 39 38 15 305-16
20210 | 58 86 64 15 12 255 12 333 | 310 | 127 202-10 UCF 306-18 | 1 18 4 29/32 |3 47/64 | 45/64 | 19/32 | 1 14 | 58 |1 2332 | 1.6929 | 0.6693 UC 306-18
UCF 203 7 | 3 3B | 233064 | 1932 | 15032 1 15/32 | 15/16 | 1.2205 | 0.5000 | M10 | 3/ | UC 208 F203 | 0.63 306 a0 | 425 95 18 15 1 16 4 - 7 | wia[1e - A -
20311 | 11116 86 64 15 12 26.5 12 333 | 810 | 127 203-11 iedn. |k Bae i
UCF 204-12 | 3/4 3 38 | 23364 | 19/32 | 15/32 1 15/32 | 1516 | 1.2205 | 0.5000 | M10 | 3/8 |UC 204-12 | F204 | 063 TR AR T
204 20| 86 64 15 12 255 12 333 | 310 12.7 204
OcF s | e UC 20513 30721 | 138 5516 |3 1516 | 252 | s |1 13m2| 34 |1 15m6 | 1.8897 | 0.7480 | M1 | 58 30721 | F 307 22
205-15 | 15/16 334 | 234 5/8 o6 | 1116 | 1532 | 11322 | 1.3425 | 05630 | M0 | 358 20515 | F205 | 082 307 35 | 135 100 20 6 3% 19 49 48 19 307
205 25| 95 70 16 14 27 12 358 34 14.3 205 30723 | 17118 307-23
205-16 1 205-16 UCF 308-24 | 1 12 52032 |4 1332 2032 | 2132 | 1 916 | M | 2 7/32 | 2.0472 | 0.7480 | M16 | 5/8 | UC 308-24 | F 308 30
UCR2206:1871 151/ KG208°19 308 a0 | 150 12 23 17 40 19 56 52 18 308
20 U e R e I R Bl ol o R R e <o L UCF 309-28 | 1 3/4 6 516 |4 50/64 | 63/64 | 23/32 [123@2| 314 | 2358 | 2.2441 | 0.8661 | M16 | 58 | UC 309-28 | F 309 3B
206-19 | 1 316 108 83 18 14 3 12 402 | 381 15.9 206-19 - : :
esal B 206-20 309 45 | 160 125 25 18 44 19 60 57 22 309
UCF 207-20 | 1 1/4 uc 207-20 UCF 310-31 |1 1516 6 718 |5 13664 1 764 34 17/8 29/32 2 5/8 | 2.7015 | 0.8661 uc 310-31
207-21 | 1 5116 41932 | 3508 34 s:8 | 11132 | 35/64 | 134 | 1.6890 | 0.6890 207-21 310 50 | 175 132 28 19 48 23 67 61 22 | m20 |3 310 F310 | 49
207-22 | 1 38 17 92 19 186 34 14 444 | 429 175 | M2 | 7118 20722 | F207 | 15 31032 | 2 310-32
gg; e DA 85 gg; - UCF 31132 2 7 0/32 |5 13/64| 1 316 | 25132 | 2 1116 | 29132 |2 25/32 | 2.5984 | 0.9842 | M20 | 3/4 | UC 311-32 | F31l | 56
UCF 20824 | 1 112 518 | 4164 | 1316 | 58 | 12764 | 58 | 2132 | 1.9370 | 0.7480 UC 208-24 St 20| 185 | 14D 30 20 52 2 LA 56 25 311
St6ss | 168 s op a1 ie 36 18 s12 | 492 10 | mia [ 172 208.25 | F208 | 1.0 UCF 312 60 |7 11116 | 5 932 |1 19564 | 78 | 2 732 | 20/32 | 3 116 | 2.7953 | 1.0236 | M20 | 3/4 | UC 312 F312 | 68
208 40 208 31236 | 2 14 195 150 33 22 56 23 78 7 26 312-36
UCF 20926 | 1 58 UC 209-26 UCF 31340 | 2 112 83/16 |6 17/32 |1 19/64 | 7/8 | 2 9/32 | 29/32 | 3 1/16 | 2.9528 | 1.1811 | M20 | /4 | UC 31340 | F 313 7.8
200-27 | 111116 51332 | a9/ea | 5564 | 2332 | 112 58 | 2116 | 19370 | 0.7480 | M14 | 112 20027 | F209 | 23 213 65 | 208 166 a3 22 58 23 78 5 2 o
209-28 | 13/4 137 108 22 18 38 16 522 | 492 18 208-28 UCF 31444 | 2 34 82932 | 7 116 |1 27/64| 1 |2 13/32| 63/64 | 3 3116 | 3.0709 | 1.2990 | M22 | 7/8 | UC 31444 | F314 | 938
= ;?2 e 45 e 233-30 314 70 | 226 178 36 25 81 25 81 78 33 314
21031 | 115116 558 | 438 | 5564 | 2332 | 19116 | 58 | 2532 | 20315 | 07480 | M14 | 172 21031 | F210 | 25 UCF 315 TS | @8B32 | 74 (11732 1 |219/32] 63/64 | 3 12 | 3.2283 | 1.2598 uc 315
210 143 m 22 18 40 1% 546 | 516 19 210 31547 |2 15016 236 184 39 25 66 25 89 82 32 | me22 |78 31547 |F315 | 116
210-32 2 | 50 210-32 31548 3 315.48
UCF 211-32 2 uc 211-32 UCF 316 80 |9 27/32 |7 23/32 |1 1732 | 1 116 |2 11116 | 1 7/32 | 19/32 | 3.3858 | 1.3386 | M27 | 1 | UC 316 F 316 132
21134 | 218 638 | 518 1 2532 |1 116| 34 | 25M6 | 21890 | 0.8740 | M16 | 58 21134 | Fan | 34 aiees | 55 e i P e 4 i % 5 ik
::-35 2316 N 0 @ i . = il e ;:_35 UCF 317 85 | 10 1/4 | 8 1/32 |1 47/64 | 1 1/16 |2 29/32| 17/32 |3 15/16 | 3.7795 | 1.5748 | M27 | 1 | UC 317 F317 | 152
T UC 21238 260 204 44 27 74 3 100 96 40
212 80 67/8 55/8 19/64 25132 178 314 22332 | 25630 | 1.0000 | M16 | 58 212 F212 4.4 UCF 318-56 312 11 132 8 12 |147/84| 1 318 3 13/8 |3 1516 | 3.7795 | 1.5748 | M30 |1 1/8] UC 318-56 F 318 18.8
21238 | 218 175 143 29 20 48 19 687 | 651 264 212-38 318 90 | 280 216 44 30 76 35 100 % 40 318
212-39 | 2718 212-39 UCF 319 11 13/32| 8 3132 |2 2164 | 1 3116 |3 16| 138 | 4 3m | 4.0551 | 1.6142 | M30 |1 1/8] UC 319 F319 | 214
UCF :: ;40 2112 g 71 :r?a 5 ?i;s«t 1 :rom 23’32 1 351;32 ::;; 26 :r: 251630 1 :5?20 M16 | 58 | UC 21133-40 F213 | 53 o5 | 200 298 58 30 64 %= 154 f03 e
UCF 21444 | 234 719132 | 563064 | 17732 | 1516 | 21/8 | /4 | 231/32 | 29370 | 1.1690 | M16 | 5/8 | UC 21444 | F214 | 60 LR :223_64 4 L 12317:2 9 ;:;32 4 25:64 131: ¥ ;l”ﬁ 131;2 4 fg’:’z "'12:;9 1'25235 Mg J11E He 323_64 20, | 288
214 70 | 193 152 3 24 54 19 754 | 748 | 302 214
UCF 215 75 7778 B17/64 | 111/32 15116 2 7/32 314 3 3/32 3.0630 1.3110 uc 215 UCF 322 110 | 13 3/8 | 1015/32 | 223/64 13/8 325/32 | 138/64 55/32 4.6063 1.8110 | M36 |13/8| UC 322 F 322 350
21547 | 215116 200 159 34 24 56 19 785 | 778 | 333 | mi6 | 58 21547 | F215 | 68 340 266 80 35 9% 41 131 17 46
215-48 3 215-48 UCF 324 120 [14 o6 | 1127/64 | 29116 | 1916 | 411/32 | 139/64 | 512 | 4.9606 | 2.0079 | M36 |13/8| UC 324 F324 | 47.2
UCF 216 80 | 8316 | 612 | 11132 | 1516 | 2 7132 | a7 332 | 3.2520 | 13110 | M20 | 3/4 | UC 216 F216 | 7.5 370 560 & i 1o i 146 S <t
216-50 | 318 208 165 34 24 56 19 78 826 | 333 216-50
UCF 217-52 | 31/4 B21/32 | 657/64 | 127/64 | 1 1/32 | 215/32 | 29/32 | 37/16 | 3.3740 | 1.3425 | M20 | 3/4 | UC 21752 | F217 | 94 UGk 58 w 15415;32 12;:;32 2::;8 125;32 41::2 133:64 ii’; 5'13;:0 2‘560 Mag | 18RI UE 526 Fa26 | el
217 85 | 220 175 36 26 83 23 876 | 857 | 341 217
T T REET) T E T RETE KRR PR BT B B B A TR TR o N B UCF 328 140 [17 23/32| 1325/32 | 261/64 | 25/32 | 429/32 | 139/64 | 611/32 | 5.7086 | 2.3228 | M36 |13/8| UC 328 Fa28 | 902
218 90 | 235 187 40 26 66 23 963 | 960 | 387 218 450 350 75 55 125 41 161 145 59




s D W BEARING PAGE/817-88

UCFC 200 (normal-duty) UCFL 200 (normal-duty)
Z
i
= v
o) Dnlf A
"
A8 E=e 119
LR
Ll L !
Lo L =
swwRes | ool SR (B B GO iz : | == sEERE | snino, AHRT R & (O me | || g
Bearing Unit |—— = £ Dimensions (in.Jor(mm) Bolt Used Ba::ng H‘ﬁ:'"g eight) Beaang Unkt d DRSS R Bolt e ep:;ng 0[:2"9 V\zekght
. (n) [mm| a | p e i | s i K g f z Bi n |imm)|(in.) o (in) |(mm)| a L) i g 1 5 b z Bi n__|(mm)f(in.)
UCFC 201 12|315/16| 3 6/64 |2 11/64| 25/64 | 1 | 15/32 | 13/64 | 9/32 | 13/16 | 2.4400| 1 1/8 |1.2205|0.5000|M10| /B[ UC 201 | FC 201 | 0.78 UCFL 201 128] 4mne, Laased:| 1z | 718 1 |15/32] 23/8 | 1516 | 1.2205 | 0.5000 | M10 | 3/8 | UC 201 FLzot | 049
2018 | 1/2 100 | 78 |s5116] 10 | 255 ] 12 | 5 | 7 |208] 62 |283] 310 | 127 201-8 201-8 | 1/2 13 0 15 1 255 112 ] €0 | 333 | 31.0 | 127 201-8
UCFC 202 15 [315/16| 3 5/64 [2 11/64] 25/64 | 1 | 15/32 | 13/64 | 9/32 | 13/16 | 2.4409| 1 1/8 | 1.2205|0.5000|M10| 3/8 | UC 202 | FG 202 | 0.78 LChEa02 1571 4716 [385064 ] 1982 | 7M6 1 |15/32] 238 | 1516 | 1.2205 | 0.5000 | M10 | 3/8 | UC 202 FL202 | 049
202-10| 508 100 | 78 | 851 | 10 [ 256 | 12 | 5 | 7 |=205]| 62 | 283|310 127 20210 20210 | 5/8 13 90 15 1 255 | 12 | 60 | 333 | 310 | 127 202-10
UCFC 203 17 [315/16| 35/64 |2 11/64] 25/6 | 1 | 15/32 | 15/64 | 9/32 | 13/16 | 2.4409| 1 1/8 | 1.2205|0.5000| M10| 3/8 | UC 203 | FC 203 | 0.78 UCFL 208 171 4716 | 33564 | 10132 | 7116 1 152|238 | 15167 | 1.2205 | 0.5000 | M10'] 38 | UG 203 FL203 | 049
203-11] 11116 100 | 78 | 554 | 10 | 265 ] 12 | s | 7 |205] 62 |283] 310 | 127 203-11 203 RIS (bl L L i 265 |12 | 60 | 333 | 310 | 127 203-1
UCFC 204-12] 3/4 | 20 |315/16| 3 5/64 |2 11/64] 25/64 | 1 | 15/32 | 15/64 | 9132 | 13/16 | 2.4409| 1 1/8 |1.2205|0.5000| M10| 3/8 |UC 204-12 | FC 204 | 0.78 UGFL 20412/ 3f4 AL ek G b 1 115/22] 2358 | 1516 | 12205 | 0.5000 | M10 | 3/8 JUC 20412 | FL204 | 049
204 100 | 78 | 551 10 | 265 12 | & | 7 |205]| 62 | 283|310 | 127 204 e 2?31-14 = 25 115 bl 16 Li 266 1712 | 66 | S35 | 00 | 927 Ve zg‘;m
UCFC 205-14] 7/8 UC 205-14
205-15| 15116 | |4 17/32335/64] 2 172 | 25/64 | 11/16 | 15/32 | 15/64 | 9/32 | 53/54 | 2.7559 |1 5/32[1.3425]0.5630| M10| 318 |  205-15 | FC 205 | 0.95 R 0 1O T MR Ve B8 U B AR MR, S PhRe) 0
205 25| 155 | 90 |e36 | 10 | 27 | 12 | & | 7 | 21 | 70 | 297 341 | 143 205 : .
20516 | 1 205-16
205-16] 1 20516
UCFC 206-18| 1 1/8 UC 206-18 UCFL 206-18.1 1 1/8 , UC 206-18
206 30 |4 20/32|3 15/16|2 25/32| 25764 | 1 7/32 | 15/32 | 5116 | 5/6 | 20/32 | 3.1486 |7 9/32| 1.5000|0.6260| M10| 8| 208 | FC206 | 1.4 3:_19 §He " 51226 4??;84 4?:4 1:32 1;32 ?: 3:332 1,:3[:2 1'35:?0 0'1652:0 e 532.19 i
206-19|1 3116 125 | 100 [ 707 | 10 | 31 | 12 | 8 | 8 | 23 | 80 |322] 381|159 206-19 P i : J : s
20620 1 114 206-20
TR ER T UCFL 20720 | 1 1/ J UC 20720
207-21|1 5116 | 5518 |a21/64] 31116 | 716 |1 11/32] 35/64 | 56 | 11132 |1 1122 | 2.8433 |1 7/16| 1.6890] 0.6890 207-21 33;2 11 5;:36 6::132 51;::8 ::; 9;‘16 ”31;32 ?: 319?;32 lj‘:f ‘fzs,go Offzo e ig;j; FL207 | 1.2
207-22| 1 318 135 | 10 | 778 | 1 | 3¢ | 14 | 8 | 9 | 26 | 90 | 264|429 | 175 |m2|ine| 20722 Fo2o7 | 17 sk - s
2; i 3 :g; 52 20723 |1 7116 207-23
UCFC 208-24] 1 112 | |523/32|4 23/32|3 11/32| 7/16 |1 27/64| 35/64 | 25/64 | 11/32 |1 1/32 | 3.9370 | 15/8 |1.9370]0.7480 UC 20824 YCRL ;3;;; 11 Qfﬁ 61;;8 5‘:::164 5:;?4 91:"6 “33(;32 T: 3151!;6 251:_322 13;0 0'?1‘;30 o - e gg:_i: _—
208-25|1 9/16 145 | 120 [ 848 | 11 | 36 | 14 | 10 | 9 | 26 | 100 | 412 | 492 | 19 |[mi2|76]  208-25| Fc 208 | 20 s i S
208 4 208 UCFL 209-26 | 1 5/8 UC 209-26
MCFC: 209-2611 5/ W 2039 20927 |1 11116 71332 | 553064 | 5564 | 19032 | 112 | 34 | 414 | 2116 | 1.9370 | 0.7480 | 16 | si8| 20027 | FL209 | 1.9
209-27|1 11116] | 6516 |5 13/64|3 43064 25064 | 112 | 518 | 15/32 | 916 |11/32|4.1330 1 19/39 1.937 | 0.748 |14 [1/2| 20027 | Fo 200 | 2.8 i T @ | iis i i % |l o 1468 1 s o
209-28| 13/4 160 | 132 | 933 | 10 | 38 | 16 | 12 | 14 | 26 | 105 | 402 | 492 | 19 209-28 mas - —
209 45 209 UCFL 210-30 |1 718 UC 210-30
UCFC 210-30] 1 778 G172 | 57116 |3 27/32] 25/64 | 19/16| 5/8 | 15/32 | 9116 |1 7/64 | 4.3307 |1 11/16) 2.0315] 0.748 UC 210-30 e e i 1 55AE © el 1 ans Deaa] S ledvies sl aamia| w Uwalagl  oi6ss 1 fiss I 5
210-31]1 15116 165 | 138 | 976 | 10 | 40 | 16 | 12 | 14 | 28 | 110 | 426 | 516 | 19 |miaf1/2] 21031 | Fc210]| 30 == o | wer P = foe. 1| Bioa] Berer T mserl eve il = -
210 50 219 21032 | 2 | 50 210-32
UCFC 211-32| 2 HG 2l1e UCFL 211-32 | 2 UC 211-32
211-34| 2158 7 9132 [5 207324 4464| 33/64 |1 11116] 34 | 15132 |19/32 |1 7/32 | 4.9213 1 13116 2.189 | 0.874 |[m16 | 58| 21434 | Fo211 | 40 S A oriaail T [Pl o 11 2303 TetiieiTerel s eaheil-antnl vene sl St ekl 55
211 55| 185 150 | 106.1 13 43 19 12 15 31 125 464 | 556 | 222 211 211 55 224 184 25 18 43 19 130 58.4 55.6 292 211
211-35| 2 3/16 21135 211-35 [23/16 211-36
UCFC 212-36] 2 114 UC 21236 UCFL 21236 | 214 UC 21236
212 60 |7 11166 19/64|4 20/64| 4364 | 17/8 | 314 | 1532 [ 19132 |1 27/64] 5.3150 |2 7132 | 2.563 |1.0000| M6 | 58| 212 | Fo212| 47 Zio 60 | o272 | 76164 | 104 | 232 | 178 |28m2] 512 [22932 | 2563 | 1 | M2o | 34 212 rLatz | 4
212-38| 218 195 | 160 | 1134 | 17 | 48 | 19 | 12 | 15 | 36 | 135 | 567 | 65.1 | 254 212.38 Sioaa [ 250 | 202 29 18 48 | 23 | 140 | 687 | €51 | 254 212.38
212-39|2 716 212-39 212-38 |2 7116 212-39
UCFC 213-40| 2 1/2 81116 |6 11/16|4 47/64| 5/8 |131/32| 3f4 | 35/64 | 19/32 |1 27/64| 5.7087 |2 3/16|2.5630 | 1.0000| M16 | 5/8 | UC 213-40| FC213 | 54 UCFL 21340 | 2172 10532 [ 817/64 | 1316 | 2532 | 131/32 [29/32| 6332 | 234 | 25630 | 1.0000 | M20 | 3/4 | UC 213-40 FL213 | 51
213 65 | 205 170 120 16 50 19 14 15 36 145 55.7 | 65.1 | 254 213 213 65 258 210 30 20 50 23 155 89.7 65.1 254 213
UCFC 214-44| 23/4 8 15/32|6 31/32]4 59/64| 43/64 | 21/8 | 3/4 | 35/64 | 23/32 |1 37/64| 5.9055 2 13/32/2.9370|1.1890| M16 | 5/8 | UC 214-44 | FC 214 | 6.8 UCFL 214-44 | 23/4 107/16 | B81/2 17132 | 25/32 21/8 |20/32| 6516 | 23132 | 28370 | 1.1800 | mz0 | 3/4 | UC 214-44 FL214 5.8
214 ?D| 215 177 | 1251 17 54 19 14 18 40 150 | 614 | 746 | 30.2 214 214 70 265 216 3 20 54 23 160 75.4 74.6 30.2 214
UCFC 215 75 |821/32] 71/4 | 51/8 | 45/64 |2 7/32| 314 | 5/8 |23/32 |1 37/64) 6.2092 2 15/323.0630] 13110 Uc 215 UCFL 215 75 | 1013116 B55/64 | 111/32 | 25/32 | 2 7/32 |29/32| 61/2 | 33/32 | 3.0630 | 1.3110 | M20 | 2/4 | UC 215 FL215 | 64
21548 3 220 | 184 |1301| 18 | 56 | 19 | 16 | 18 | 40 | 160 | 625 | 77.8 | 333 [mi6|5| 21547 | Fc2is| 73 21548 | 3 215 | 225 34 20 56 | 23 | 165 | 785 | 77.8 | 323 21548
UCFC 216 S7/16| 77/8 |59/16 | 45/64 |2 9/32] 29732 | 5/8 | 23132 [1 21/32) 6.6920 |2 21/323.2520| 13110 M20 | 3/4 | UC 216 | FC 216 | 89 UCFL 216 80 |11 13/32| 9 11/64 | 11132 | 25/32 | 2 9/32 |63/64] 73/32 | 39/32 | 3.2520 | 1.3110 | M20 | 7/8 | UC 216 FL216 | 7.9
80| 240 | 200 |141.4| 18 | 56 | 23 | 16 | 18 | 18 | 170 | 673 | 825 | 333 21650 | 318 200 | 233 34 20 58 | 25 | 180 | 833 | 826 | 333 216-50
UCFC 21752 31/4 | |927/32| 8 3/16 |5 51/64| 45164 |2 15/32] 29/32 | 45/64 | 25/32 |1 49764 7.0866 | 2 3/4 |3.3740]1.3425| M20 | 3/4 | UC 217-52 | FC 217 | 104 UCFL 21752 | 31/ 12 | 949/64 | 127/64 | 7/8 | 215/32 |63/64]|7 15/32| 37/16 | 3.3740 | 1.3425 | M20 | 7/8 | UC 247-52 | FL217 | 98
217 85| 250 | 208 |147.1| 18 | 63 | 23 | 18 | 20 | 45 | 180 | 696 | 857 | 341 217 217 85 | 305 | 248 36 22 63 | 25 | 190 | 876 | 857 | 341 217
UCFC 218-56] 31/2 | |10 7/16|8 21/32| 6 1/8 | 55/64 [2 11/16] 20732 | 45/64 | 25/32 |1 31/32| 7.4803 | 3 3/32|3.7795|1.5630| M20 | 3/4 | UC 218-56 | FC 218 | 13.0 UCFL 21856 | 3112 1219132 10 7/16 | 137/64 | 29/32 | 2 11/16 |63/64|8 11/16 | 3 25/32 | 3.7795 | 1.5630 | M20 | 7/8 | UC 21856 | FL218 | 121
218 90| 265 | 220 |1555] 22 | 68 | 23 | 18 | 20 | 50 | 190 | 783 | 96.0 | 397 218 218 90 | 320 | 265 a0 23 68 | 25 | 205 | 963 | 960 | 397 218




s D W BEARING PAGE/89-90

UCFL 300 (heavy—duty) UCT 200 (narrow metric slot)

SR

iz
Lt Bl i LS BoltUsed | Besring  |Housing| KB
N0°< d No. No. (kg)
(in.) |({mm) a e i g I s b z Bi n (mm) | (in.)
UCFL :3:- e 25 5?:)32 2?11'634 51«: 11:32 1:,;32 ?: 3 :;032 11:;32 1,4;261 0,51.5;05 m16 | 58 | uc :([:55 . FL 305 11 e | HE MR () % (8%)
fg  [ShaftDia. Dimensions (in.)or(mm) Bearing [Housing R
UCFL 306-18| 1 1/8 7332 | 59/32 | 4564 | 19/32 | 1114 | 29/32 | 31732 [ 12332 | 1.6929 | 0.6693 UC 306-18 Bearigit % No. |Weight
306 30 | 180 | 134 18 15 32 23 92 44 43 17 | m20 | 3 306 FL308 | 15 N6 4 | (kg)
306-20 | 1 1/4 306-20 (in.) (o} g p q s b k e a w Ij | h Bi n
UCFL 307-20 | 1 1/4 UC 307-20
30722 1 38 7932 |535/64 | 25032 | S8 | 11332 | 20032 | 31516 | 11516 | 1.8897 | 0.7480 | M20 | 314 30722 fFLao7 | 18 UCT 201 12 w6 |10 |51 1232|1951 |42 76|80 08| 32| 21| 81| 35127 uesi| 1204|070
307 35 | 18s 141 20 186 36 23 100 49 48 19 307
307-23 |1 7116 307-23
UCFL 308-24 | 1 112 778 | 6732 | 2032 | 2132 [ 1 9116 | 2032 |4 1332 2732 | 20472 | 07480 | M20 [ 34 [ UP 308-24 FL308 | 24 G202 15 1B 10|51 | 82119 51 ) 12 | 76 89 | 84 | 32 | 21 | 61 [ 31 | 127 |UC202| T204 | 0.79
308 40 | 200 158 23 17 40 23 112 56 52 19 308
UCFL 309-28 | 1 3/4 9116 | 63132 | 6364 | 23/32 | 12332 | 6364 |420/32| 23/8 | 22441 | 08661 | M22 | 7/8 | UC 309-28 FL309 | 3.4 ucT 203 17 16 | 10 | 51 | 32 | 19 | 51 | 12 [ 76 | 89 | 94 | 32 | 21 | 81 | 31 | 127 (UC203| T204 | 0.79
309 45 | 230 177 25 18 44 25 125 60 57 22 309
UCFL 310-31 |1 15/16 9716 | 723064 | 17/64 | 304 17/8 | 6364 | 512 | 2 5@ | 24015 | 0.8661 UC 310-31 UCT 204 20 16 | 10 | 51 | 32|19 | 51|12 | 76 | 89 | 94 | 32 | 21 | 61 | 31 | 12.7 luc204| T204 | 0.79
310 s0 | 240 187 28 19 48 25 140 67 61 22 | m22 |78 310 FL310 | 43
310-32 2 310-32
UcT205 | 25 | 16 | 10 [ 51 [ 32 | 19 | 51 | 12 | 76 | 89 | 97 | 32 | 24 | 62 | 34 |14.3 |UC205| T205 | 0.83
UCFL 31132 2 927/32 | 75164 | 1316 | 2532 | 2 1/16 | 63164 | 520132 | 225032 | 2.5084 | 0.9842 [ M22 | 78 [ U 31132 FLan 5.2
an 55 | 250 198 30 20 52 25 150 bél 66 25 311
UCFL 312 60 | 1058 [81132 119584 | 78 | 2732 | 1732 | 6516 | 35116 | 27953 | 1.0236 | M27 | 1 |uc 312 FL312 | 63 UCT 206 30 16| 10 [ 56 | 37 | 22 | 57 | 12 | 89 (102 | 113 | 37 | 28 [ 70 |381 158 |UC206| T206 | 13
312-36| 2 114 270 212 33 22 56 31 160 78 71 26 312-36
UCFL 313-40| 2 172 1158 |929/64 | 119564 | 1 29/32 | 1732 | 678 | 3116 | 29528 | 1.1811 [ M27 | 1 |uc 31340 FL31z | 79 UCT 207 35 16 | 13 | 64 | 37 | 22 | 64 | 12 | 89 | 102 | 129 | 37 | 30 | 78 | 429 |17.5|UC207| T207 | 1.3
313 65 | 295 240 33 25 58 31 175 78 75 30 313
UCFL 314-44 | 2 3/4 1213/32| 927/32 | 127/64 | 13/32 | 213/32 | 138 | 79/32 | 33/16 | 3.0709 | 1.2992 | M30 |1 1/8] UC 314-44 FL314 8.3 UCT 208 40 19 16 83 49 29 83 16 | 102 | 114 | 144 | 49 33 88 (492 19 |uCc208| T208| 24
314 70 | 315 250 36 28 28 35 185 81 78 33 314
UCFL 315 75 [|1219/32|10 15/84| 117/32 | 13r6 21932 | 138 | 711116 | 312 | 32283 | 1.2598 | M30 |1 118] uc 315 FL315 | 106 UCT 209 45 0| 16 |aslas| 20| as| 16 |102)447 | 1aa | a0 | 35 | 57 lasz| 40 luczoe| 72098 | 24
31548| 3 320 260 39 30 66 35 195 89 82 32 315-48
UCFL 316 80 [133132| 11732 112 | 114 21116 | 112 | 89@2 | 31732 | 3.3858 | 1.3386 | M33 |1 114 UC 316 FL316 | 135
| e - P e o e - — - . = . UCT 210 50 19 | 16 | 83 | 49 | 29 | 86 | 16 | 102 | 117 | 149 | 49 | 37 | 90 |516| 19 |UC210| T210 | 25
UCFL 317 85 | 149116 [1113116| 147/64 | 1114 |2209032| 112 |821/32 | 31516 | 3.7795 | 1.5748 | M33 |1 14| uC 317 FL317 | 152
317-52 | 3 1/4 370 300 44 32 74 38 220 100 96 40 317-52 UCT 211 55 25 19 (102 | 64 | 35 | 95 | 22 | 130 (146 | 171 | 64 | 38 | 106 | 556 [ 22.2 |[UC211| T211 | 40
UCFL 318-56 | 3 1/2 15532 |12 13/32| 147/64 | 11332 | 3 112 | 914 |31516 37795 | 1.5748 | M33 |1 17| uC 31856 [FL318 | 180
318 90 | 185 | 315 | 44 36 76 38 | 238 | 100 | 96 40 318 ucT 212 60 32 | 19 | 102 | 64 | 35 | 102 | 22 | 130 | 146 | 194 | 64 | 42 | 119 | 65.1 | 25.4 |luc212| T212 | 5.0
UCFL 319 1515116 13 | 22164 | 19116 | 311116 | 130164 [ 92732 | 4314 | 4.0551 | 1.6142 | M36 |1 /8| UC 319 FL319 | 227
Shi] 408 | 599 ] oW 40 i O O G ucT213 | 65 32 | 21 [ 111 | 70 | 41 | 121 | 26 | 151 | 167 | 224 | 70 | 44 | 137 | 65.1 | 25.4 [uc213| T213 | 69
UCFL 320 100 | 17 6/16 [14 11/684| 22164 | 19116 | 31116 | 147184 | 1058 | 4 20132 | 4.2519 | 1.6535 | m39 |1 12| uC 320 FL320 | 27.2
32064 | 4 440 360 59 40 94 44 270 125 108 42 320-84
UCFL 322 110 | 18 172 |15 23/84| 2 2364 | 1 21/32 | 325/32 | 147764 [11 13116 5532 | 4.6063 | 1.8110 | M39 [1 12| UC 322 FL3z2 | 342 UeT 214 70 32 21 | M1 | 70 | 41 [121] 26 | 151 | 167 (224 | 70 | 46 | 137 | 74.3 | 30.2 [UC 214| T214 | 7.0
470 390 60 42 96 44 300 131 17 46
UCFL 324 120 |20 15132[16 50/64] 2916 | 178 [a sz 12732 13 51/2 | 4.9606 | 2.0079 | Ma2 |1 5/8| UC 324 FL324 | 481 UCT 215 75 32 | 21 | 1M1 | 70 | 41 | 121 | 26 | 151 | 167 (232 | 70 | 48 | 140 | 77.8 | 333 |UC215( T215| 74
520 430 65 48 110 47 330 140 126 51
UCFL 326 130 [2121/32| 18 7/64 | 29116 | 13132 (41732 | 12732 | 143116 | 534 | 5.3150 | 2.1260 | M4z |1 58] UC 326 FL326 | 595 UCT 218 80 32 21 | 111 | 70 | 41 | 121 | 26 | 165|184 | 235 | 70 | 51 | 140 | 823 | 33.3 |UC216| T216 | 83
550 460 65 50 15 47 360 146 135 54
UCFL 328 140 | 235/8 [1911/16| 261/64 | 238 [4d2032| 2 153/4 | 611/32 | 5.7086 | 2.3228 | M45 [1 34| UC 328 FL328 | 735 UCT 217 85 38 | 20 | 124 | 73 | a8 | 157 | 30 | 173 | 198 | 260 | 73 | 54 | 162 | 85.7 | 341 |uc217| T217 | 114
600 500 75 60 125 51 400 161 145 59




D W BEARING PAGE/91-92

UCT 300 (heavy—duty) UCPH 200 (normal-duty)

?

B

&)

e S —

- -
e T e T
iz
BEBKL | Shart Oia. B ) Housl| Snhibia AR (R % (B @it
Bearing Unil ™5 No. I o k) ?ggmi:m? : Dimensions (in.jor(mm) BoltUsed | Bearing |Housing wfi:m
(in) |nml o g ) q [is] » K o a w i 1 r[n e ]an]m No. d No. No. | kg)
UCT 305 25| 58 | 15/32 | 2716 |1 13/32]1 1332 2 9116 | 15132 [ 3 &3z | 3 12 (41318 |1 13032) 1 1321 13116] 3 |1.4961|0.5908(0.9055| UG 305 T
305-16 1 16 12 62 36 26 65 12 80 89 122 36 26 46 76 38 15 23 305-16T 305 1.4 (il'l-) (mm) L 2 S 2 S 2 9 b e 2 L )
20518 1 18 205498 UCPH 201 12 | 2 34 5 | 334 |1916| 34 1/2 | 3564 |3 31/32| 1.2205 | 0.5000 | M10 | /8 |UC 201  |[PH201| 0.96
UCT 306 30| 23132 | 916 | 2300 | 158 |17/64|220/32| 58 |335064| 15116 | 51332 | 158 | 13/32 |2 1163 11/32]1.6929(0.66931.0236|UC 306 [T 308 1.8 2018 | 172 70 127 a5 40 19 13 15 i1 | 310 | 127 2018
ucrsaﬂ:-; 11 3::: LA N N AN A S R A A A A - ?:)::; UCPH 202 15 | 2 3/4 5 334 | 1916 34 1/2 | 3564 |3 31/32| 1.2205 [ 0.5000 | M10 | 3/8 [uc 202 | PH202| 096
307-22| 1 38 25132 | 1932 |2 15n16|1 25032 1316|3532 | s |315/16| 438 | 529032 |12532) 114 |2 7132 |3 1116]1.8897|0.7480|1.1417|  307-22|T 307| 2.3 202-10 | 5/8 70 127 95 40 19 13 15 101 31.0 127 202-10
%07 o] 20: | 115 | 76 | 45 [ 30 [ 80/ | 18 | 00 | AN | 150 | 46 | 32 |86 | o4 | 48 | 9 | & aor UCPH 203 17| 234 | 5 | 334 |1916| 34 | 1/2 | 3564 |3 31/32| 1.2205 | 0.5000 | M10 | 358 |UC 203  [PH203| 0.96
307-23| 1 7118 307-23
UCT 308-24] 1 112 718 | 21/32 | 39732 |131/32|1 17/64] 3172 | 45064 |4 1332 478 | 638 |13u32ft 1132|2716 3 15/16{2.0472]0.7480]1.2092| UC 308-24T 308 30 ki) ials i Ll % ks 14 1 15 o1 | a1l | 127 203-11
308 40| 22 | 17 | 83 | s0 | 32 | 89 | 18 | 12 | 124 | 162 | 50 | 34 | 62 | 100 | 52 | 19 | 33 308 UCPH 204-12| 34 | 20 | 2 3 5 334 [1916| 3m 1/2 | 354 |3 3132| 1.2205 | 0.5000 | M10 | 358 |UC 204-12 |PH204| 0.96
UCT 309-28| 1 3/4 15/16 | 12/32 |3 17/32) 2 5/32 |1 11/64{3 13/16| 45/64 |4 50/64| 5716 T 25032 | 112 |2 11/16}4 11/32|2.2441|0.8661|1.3780|UC 309-28T 308 4.1 204 70 127 95 40 19 13 15 101 310 127 204
309 45| 24 | 18 | 90 | 55 | 34 | or | 18 | 125 | 138 | 138 | s5 | 38 | &8 | 110 | 57 | 22 | 35 309
UCT 310-30 17/8 UC 310-30 UCPH 20514 7/8 UC 205-14
310-31|115m6| |1 1116 | 26132 |3 27/32|2 13/32)1 20/84] 4 3116 | 25132 |5 33104 | 5 15016 | 7 17732 |2 13132] 1 9118 |2 29732 19/32|2.4015(0.8661|1.5354|  310-31|T 310] a9 205-15 | 15/16 3532|512 (418 |131u32( 3 112 5 | 4 12 | 1.3425 | 0.5630 | mM10 | 3/8 205-15 | PH205 | 1.2
310 50| 27 | 20 | 98 | 61 | 37 | 106 | 20 | 140 | 151 | 191 | &1 | 40 | 74 | M7 | 61 | 22 | 20 310 s 2l o i | e i o - - g | s | s e
310-32 31032
ucTa11a2| 2 1532 1316 | 4 1/8 |2 19/32[1 17/22]4 17/32| 55/64 |2 29326 1332 | 8532 [2 19/32]1 23132|3532| 5 [2.5084|0.0842]1 6122 UC 311327 311] B 20516 | 1 205-16
3 55| 20 | 21 | 105 | 65 | 39 | 115 | 22 | 150 | 163 | 207 | 66 | 44 | 80 | 127 | 66 | 25 | 41 a1 UCPH 206-18 | 1 1/ UG 20618
UCT 312 60 |1 7/32| 29732 | 4 7/18 |2 25/32|1 39/84[4 27/32| 55/64 |6 19/64 7 821/32 |2 25/32(1 13/16{3 11/32] 5 5/16 [2.7953|1.0236|1.7717|UC 312 |[T312| 7.6
ey plog il oo, gy g sieg i i IRURE et il i i B0 g e e s 206 30 |3 3564| 612 | 4 34 |1 31/32| 13M6 | 2132 | 2832 | 518 | 1.5000 | 0.6260 | M14 | 172 206 |PH206| 16
UCT 313-40| 2 1/2 114 | 1 |aoms| a4 [11118] 5932 |1 1132|6118 7 1532 | 928 | 35032 |1 3132f 3508 | 5634 |2.9528(1.1811|1.7717|UC 313-40T 313| 9.3 206-19 | 1 3/16 90 165 121 50 21 17 18 130 38.1 15.9 206-19
313 65| 32 | 25 | 116 | 70 | 43 | 134 | 28 | 170 | 190 | 238 | s0 | s0 | 92 |16 | 75 | 30 | 45 313 el o
UCT 314-a4] 2 3/4 | |113i39 1 | 51/8 |3 1132]1 13116] 5/2 | 11/32| 7 3132 | 7 1516 | 9 29732 |3 17/32| 2 116 [B 13/16] 6 332 [3.0709[1.2002[1.7717[UC 314-44[T 314] 11.1
314 70| 36 | 25 | 130 | 85 | 46 | 140 | 26 | 180 | 202 | 252 | 90 | s2 | o7 | 155 | 78 | 33 | 45 314 UCRHER0Z20 || 14 uc 207-20
UCT 315 75111332 1 | 5316 |3 11/32[1 13M6|5 1932|1132 | 7916 | 812 | 10516 |3 17/32] 2 5132 4 1132 |6 5/16 [3.2283]1.2508[1.9685|UC 315 [ra3t15] 13 207-21 1 516 347/64| 6 916 | 5 | 238 | 1316 | 2132 | 2332 | 5 1/2 | 1.6890 | 0.6890 207-21
Skl L] gy izse gt ] fooy | o6 ] a8t I 98 [l 4oz |o1d | nda U B9 3 B ) 402 |80 | B2 | Sai ] o0 | %54 207-22 | 1 38 o5 | 167 | 127 | s0 | 21 17 18 | 140 | 429 | 175 | M4 [1/2| 20722 |PH207 | 20
UcT 316 801 21/32] 1 3732 |5 20/32|3 27/32| 23132 |6 5116 | 13116 | 8 32 | 9116 | 113/32 | 4 132 | 2 318 | 4 174 |6 27/32]3.3858|1.3386[2.0472]UC 316 [T 316] 162
316-50| 3 118 42 | 28 | 150 | 98 | 53 | 160 | 30 | 208 | 230 | 262 | 102 | 60 | 108 | 174 | 86 | 34 | 52 316-50 207 35 207
UCT 317 85 [1 2132 13/16 |5 31/32|3 27/32| 2 3/32 |6 11/16|1 17/64| 8 27/64 | 9 7/16 |11 23/32| 4 1/32 [2 17/324 17/32| 7 T/32 |3.7795|1.5748|2.2047|UC 317 |T 317 19 207-23 |1 7116 207-23
ESAS 114, 2 | 0 (52| 88, | 88 | W70 | o2 | 210 | 240 § 258 [ 902 | B4 | A6 ] 18s | Be | A0 | G Sl UCPH 208-24 | 1 1/2 31516 7 14 |5 1332| 234 | 1316 | 2132 | 26/2 |5 20032 1.9370 | 0.7480 uC 208-24
UCT 318-66| 3 112 | |1 13/16 13116 | 65/16 | 43/6 | 2 1/a | 67/8 |1 17/64| 8 31/32| 10 1/32 | 12 932 |4 11/32]2 19132} 23/32] 7 916 [3.7795(1.5748[2.2047| UG 318-56T 318] 216
318 90| 46 | 30 | 160 | 106 | 57 | 175 | 32 | 228 | 285 | 312 | 10 | es | 120 | 192 | 96 | 40 | 56 318 208-25 |1 9/16 100 184 187 70 21 17 20 150 | 49.2 19 | M4 | 172 208-25 |PH208 | 2.7
UCT 319 11318 17/52 | 61/2 | 4366 | 21/4 | 73052 15/8 |9 20/64] 105/8 | 12 116 |4 11/32[2 27732k 20/32] 7 314 [4.0551]1.6142[2.4400]UC 319 [T 319] 249 208 40 208
95| 46 31 165 106 T 180 35 240 270 322 110 72 | 125 187 103 41 62 UCPH 209-26 | 1 58 UC 20926
UCT 320 100 17/8 | 1174 | 678 [a 17322 21084) 7778 | 138 [10 15/6411 13132]13 19732} 23/32]2 157165 15/16] B 9132 [4.2519]1.6535]2.598a|UC 320 [T 32 30.7
370.64| 4 48 | 32 | 175 | 115 | 50 | 200 | 35 | 260 | 290 | 345 | 120 | 75 | 135 | 210 | 108 | 42 | 86 320-64 209-27 |1 11116 4964 |7 15m2| 534 | 234 | 1316 | 2132 | 25/m2 | 6 732 | 1.9370 | 0.7480 | M14 [ 142 209-27 |PH209 | 3.0
UCT 322 1102 1/16| 11/2 | 69/32 |4 29/32| 2 9/16 |8 15/32| 1 1/2 |11 7/32[12 19/32| 15 5/32 | 51/8 |35/32|529/32] 9/14 |4.6063|1.8110|2.7953|UC 322 |T322| 39.7 20028 | 13/4 105 190 148 70 21 17 20 158 49.2 19 209-28
52 | 38 | 185 | 125 | 65 | 215 | 38 | 285 | 320 | 385 | 130 | s0 | 150 [ 235 | 117 | 46 | 7 o6 & -
UCT 324 120] 23/8 |121/32| 89132 | 51/2 | 23/a | 9116 |1 s9i6d[12 1932113 31132] 17 | 5172 [31732] 6 112 | 10 1/2[4.9608[2.0078]29527[UC 324 |7 324 54,4
60 | 42 | 210 [ 140 | 70 | 230 | 45 | 320 | 355 | 432 | 140 | 90 | 165 | 267 | 126 | 51 | 75 UCPH 210-30 | 1 7/8 uc 210-30
UcT 326 130| 2 9/16 |1 251328 21/32|5 29/32|2 61/64| © 7116 |1 31/32]13 25132 15 5/32 | 18 5116 |5 29/32[3 15116 7 3132 |11 7/32]5.3150(2.1260]3.1890|UC 326 [T 326] 69.3 21031 |1 15118 1 2z | eovm | o oo | v Lomee [ oo | & 1 |ioaes | azaso | wie|ism st lewzia] 52
J &5 45 220 150 75 240 50 350 385 465 150 100 180 285 135 54 a1 I
UCT 328 140 2314 |13132] 9 1116 | 6 5116 |3 5132 |10 17321 3173214 6116416 11/32| 20 9132 | 6 3132 [3 15716 7 718 [12 192]5.7086[2.3226 33858 UC 328 [T 328] 85.1 il <0 I W I 22 2 2 || e | D18 || 8 210
| 70 | s0 | 230 | 160 | 80 | 255 | 50 | 380 | 415 | 515 | 155 | 100 | 200 | 315 | 145 | 59 | 86 | 21032 | 2 210-32




D W BEARING PAGE/93-94

UCPA 200 (normal-duty) UCFA 200 (normal-duty)

CEE
"

Mz
Shaft Dia. MERT (ET) W (EHR) e
ﬁfﬂz{ﬁ’? Dimensions (in.Jor(mm) Bolt Used Bo:(l;lng Hol:;ing WEI:I"H
o AR () B (EE) - 1 2 : . ey
: Shaft Dia. ) : B (; in) [(mm)| a e | I s b z g Bi n ‘mm)| (in.
ﬁgﬁ?ﬁ Dimensions {in.)or{mm) Bolt size | Bearing |Housing W:siiht )i () g - (mm)} (n.)
s A No. No. tkg) UCFA 201 12 |327/32| 35064 | 19/32 | 716 | 11/25 | 25/64 |2 23/64| 1 5/16 |1 31/32| 1,.2205 | 0.5000 | M8 |5/16| UC 201 [FA201 | 0.47
PR PR 3 e A 3 - B 5 “ ey 2018 | 1/2 98 78 15 1 | 255 | 10 60 | 333 | 50 | 310 | 127 201-8
F 7/ 1 1
T = T 4 sami | Awis | 40 P [ e [rpE—— pr— g—— p—— e g UCFA 202 15 |327/32| 35/64 | 19/32 | 716 | 11/25 | 25/64 |2 23/64 [ 1 5/16 |1 31/32] 1.2205 | 0.5000 | M8 |5/16| UC 202  |FA202| 047
202-10 | 5/8 98 78 15 1" | 255 | 10 60 | 333 | 50 | 310 | 127 202-10
2018 | 1/2 30.2 76 52 40 11 62 13 31.0 | 127 201-8
UCFA 203 17 |327i32| 35/64 | 19/32 | 7716 | 11/25 | 25/64 |2 23/64| 1 5/16 |1 31/32| 1.2205 | 0.5000 | M8 |5/16| UC 203 |FA203 | 0.47
UCPA 202 15 | 1316 3 2364 | 1916 10 7116 | 27116 | 1/2 | 1.2205 | 0.5000 | M10 |uC 202 PA202 | 0.64
203-11 | 1116 98 78 15 11 | 255 | 10 60 | 333 | 50 | 31.0 | 127 203-11
- . 7 ; ; X
202100 =0 e g 5 40 i g2 i M || 1At 2010 UCFA 204-12 | 3/4 327/32| 36/64 | 19/32 | 7716 | 11/25 | 25/64 |2 23/64| 1 5/16 |1 31/32| 1.2205 | 0.5000 | M8 [6/16|UC 204-12 | FA204 | 0.47
UCPA 203 17 | 1316 3 2364 | 19/16 10 716 | 27116 | 1/2 | 1.2205 | 0.5000 | M10 |UC 203 PA203 | 064 204 Soul ‘ga - 5 aqe [eoss T 40 60 | 233 | so | 310 | 127 204
203-11 | 1116 30.2 76 52 40 " 62 13 31.0 12.7 203-11 UCFA 205-14 | 7/8 UC 205-14
UCPA204-12 | 3/4 13016 3 2364 | 19186 10 716 | 2716 | 1/2 |1.2205 | 0.5000 | M10 |UC204-12 | PA204 | 0.64 205-15 | 15/16 47/8 |355/64| 5/8 | 33/64 | 11/16 | 15/32 | 23/4 [113/32| 29/16 | 1.3425 | 0.5630 |M10| 3/8 205-15 | FA 205 | 0.68
204 20 [ 302 76 52 40 1 62 13 310 | 127 204 205 25 | 124 | 98 16 13 27 12 70 | 35.7 | 65 34 | 143 205
UCPA205-14 | 7/8 UC 205-14 205-16 | 1 205-16
20515 | 15/16 17/16 | 3516 | 213164 [ 125032 10 15132 |227/32| 1/2 |1.3386 | 0.5630 | M10 205-15 | PA205 | 0.83 UCFA 206-18 | 1 1/8 ucC 206-18
T 25| 365 a4 55 45 12 72 13 24 143 205 206 30 | 59116 |4 39/64| 45/64 | 33/64 | 17/32 | 15/32 | 39/32 |1 37/64/2 53/64/ 1.5000 | 0.6260 [M10| 3/8 206 |FA206| 1.0
256t | 4 Shete 206-19 |1 3/16 41 | 17 | 18 13 31 12 83 | 402 | 72 | 381 | 159 206-19
UCPA 206-18 | 11/8 11116 | 31116 | 219/32 | 131/32 15/32 | 35/16 | 23732 | 1.5000 | 0.6260 UC 206-18 206-20 (1 1/4 206-20
UCFA 207-20 | 1 1/4 uc 207-20
206 30 | 429 94 66 50 14 12 84 18 38.1 15.9 | M14 206 PA206 | 1.2
207-21 |1 5/16 6332 | 51/8 | 34 | 916 |111/32| 35/64 |3 25/32| 13/4 |3 15/64| 1.6890 | 0.6890 207-21
206-19 | 13116 206-19
207-22 | 1 3/8 155 | 130 | 19 14 34 14 96 | 444 | 82 | 429 | 175 |M12|7/16 207-22 | FA207 | 1.4
UCPA207-20 | 1 1/4 Uc 207-20 o 2% i
207-21 | 15/16 17/8 | 411/32 | 36/32 | 2532 1/2 | 33/4 | 25/32 | 1.6890 | 0.6890 207-21 e G5
20722 | 1:3/8 e | mo | ®0 55 L L A5 200 || A3 ) R | WA | 207 RAR0T| A UCFA 208-24 [ 1 112 623/32(543/64| 53/64 | 9/16 |127/64| 35/64 | 41/8 | 21/64 [327/64| 1.9370 | 0.7480 uC 208-24
207 35 207 208-25 (1 9/16 171 | 144 | 21 16 36 14 105 | 51.2 | 87 | 492 | 19.0 |M12|7/16 208-25 | FA208| 1.7
207-23 |1 716 207-23 208 40 208
UCPA208-24 | 11/2 11516 | 49116 | 3516 | 29/32 1/2 | 33/4 | 25032 | 1.9370 | 0.7480 Uc 208-24 UCFA 20926 | 1 5/8 uC 209-26
208-25 |1 916 492 116 84 58 14 13 100 20 49.2 19 M14 208-25 | PA208 | 20 209-27 [111/16 71/6 |553/64| 55/64 | 916 | 11/2 | 41/64 | 43/8 | 2 1/16 |3 35/64| 1.9370| 0.7480 |[M14| 1/2 208-27 |[FA209| 241
208 40 208 209-28 | 13/4 179 | 148 | 22 16 38 16 1M1 | 522 | 90 | 492 | 19 209-28
UCPA 309-26 | 1 5/8 UC 209-26 209 45 200
20927 |111/16 29/64 | 423/32 | 335/64 | 23/8 14 12 | 414 1 1.9370 | 0.7480 | M14 209-27 | PA208 | 22 WOEAT210 20:[7id HL-210:30
210-31 [1 15/16 77116 | 63/16 | 55/64 | 916 [137/64| 41/64 | 4916 | 25/32 |3 45/64( 2.0315 | 0.7480 |M14[1/2 210-31 | FA210| 24
20928 | 1 3/4 54.2 120 90 60 13 100 25 49.2 19 209-28
210 50 | 189 | 157 | 22 16 40 16 | 116 | 546 | 94 | 516 | 19 210
209 45 209
210-32 | 2 210-32
UCPA210-30 | 1 7/8 UC 210-30 T G el
21031 [41510 Sia | SR, | 400Y | STR) 0 || U0 [GE] 3 [ 20390 D] Il | 20w | Tl B8 211-34 | 218 812 | 714 | easea | s | 1116 | 4164 | 514 [219/64] 43132 | 2.1890 | 0.8740 |M14|1/2| 21134 | FA211] 34
210 50| s7.5 | 130 9 64 14 118 25 51.6 19 210 211 55 | 216 | 184 | 25 16 43 16 | 133 | 58.4 | 104 | 556 | 222 211
21032 | 2 210-32 211-35 |23/16 211-35




